A
AVENTICS

SERIES M MINI PNEUMHATIC CYLINDERS
STHINLESS STEEL BODY

Rexroth

Pneumatics




Series M and MM Mini Cylinders &
Index AVENTICS’

Series M and MM Mini Cylinders Index

Series M Mini Cylinders Page
FQATUIES ... ee e 1
Standard Specifications / Mounting Styles ... 2
BI16™ BOI@ SHZE ... 3
TIG™ BOK@ SiZE ... 5
/16" BOKE SHZE .........oooooooooeeeeeeeeeeeeeeeeeese e 9
BI4™ BOKE SiZE .............ooooeccccresresesseseeeene e sssssssssssssssssssssssss s ssssssssses 1"
TIB™ BOKE SHZE ...........oooooeeeeoeeeeceeeeeeeeee e 16
T-A/16" BOIE SZE ... eesenn 18
=114 BOI@ SUZE ..........oooooeeeeeeeeee e 23
T-1I2" BOK@ SHZE ... eessses 25
T-3/4" BOI@ SUZE ..........oooooooooooeeeeeoeeeeeeeee oo 30
2" BOI@ SUZE ...t 32
2-1/2" BOKE SUZE ..o 34
B BOKE SHZE ............ooocoooeeeeeeeeeeeeeeeeeeeeee e 35
Standard Accessories with Dimensions ... 36
Port, Spring Force Data ... 37
Standard OPLIONS ... 38
Adj. Cushion Option / Critical Mounting Dimensions (M & MM) 39
Air Reservoirs / Option Availability Chart ... 40
How To Order / Non-Standard Rods ..., 41
Competitor Interchange Charts ... 42

Series MM Mini Cylinders (piston sensing)

Features / Standard Specifications ... 44
MoUNtING SEYIES ..o 45
Switch and Clamp Assemblies ..., 46
/16" BOKE SiZE ... eesssssmss s ssssnnnn 47
BIA™ BOTE SUZE ... eeeesseseeesses s sseesessssses s ses e 49
T-A/16" BOK@ SUZE ............ooooeeeeeeeeeeeee e 53
T-T/A" BOT@ SHZE ...t eeeseseeesses s sesesss s ssss s 57
=112 BOI@ SZE@ ... 59
T=3/4" BOI@ SUZE ..o 63
2" BOE@ SHZE ... 65
212" BOT@ SHZE ..ot eeeeseseeeses s s s seseseeses e sesseen 67
Standard Accessories with Dimensions ... 68
Standard OPLIONS ... 69
How To Order / Non-Standard Rods ..., 70

Right Angle Flow Controls ... ... 71



Series M Mini Cylinders

Stainless Steel Body Air Cylinders

Q
AVENTICS

The inside story
on why AVENTICS Series M

Is your best choice
in light duty air cylinders...

1141 i

%

Quality cost saving features include:

1 Cylinder Tube — Type 304 stainless steel, polished to a
micro-inch finish on the 1.D. To provide for low friction and long

life. A matte finish on the O.D. to provide for smudge resistance.

2 Heads and Caps — Aluminum construction with precision
machining to provide a smooth break away. The tube-to-head
connection is a strong double rolled construction.

3 Stainless Steel Piston Rods — Corrosion resistant
stainless steel is now the standard piston rod material for all
bore sizes up to and including 1.50 inch bore at no additional
cost. The only exception to the stainless steel standard is when
a hollow rod or non-rotating hexagonal rod option is specified.
Stainless steel is also the standard material on block, trunnion
and KDX mounts.

Pre-Lubrication — All Series M cylinders are factory
prelubricated for use with or without added lubrication.

Bumpers — are
standard on select
bore sizes. See
bumper information
for details.

4 piston Body — Pistons are precision machined aluminum
construction. Piston rod connections are threaded and loctited
to provide for leakproof and durable service.

5 Seals — Al piston and rod seals are of a lipseal construc-
tion. Buna-N is standard on all models (viton seals are available
as an option).

6 Rod Bushings — Oil impregnated bronze reamed to a
close tolerance provides for a smooth operation and long life.

7 Unitized Construction — Precision double-rolled unitized
construction provides durable, leak-proof service and long life.

Twelve Bore Sizes — 5/16" thru 3". Series M cylinders are
designed to be dimensionally interchangeable with other major
stainless steel cylinders.

Springs — shot peened
music wire for high cycle
life. Spring spacers are
provided for every one N[ Ty —

inch of stroke (1/2" for m N )
5/16" and 7/16" bore) to sooeee
insure uniform spring rate '
and prevent spring failure.




Series M Mini Cylinders
Standard Specifications / Available Mounting Styles HVENTlCSm

Standard Specifications
¢ 304 stainless steel cylinder body.

28 standard mounting styles.

e Aluminum heads and caps. ¢ Single and double acting.
¢ Stainless steel piston rods are standard up to 1.50" bore. » Bumpers.

* Nominal pressure rating 250 psi. * Adjustable cushions.

* Standard temperature -10°F to +165°F. « Rod wipers

* Twelve bore sizes — 5/16" through 3". For additional mounting styles please consult factory.

In line with our policy of continuing product improvement, the specifications in this catalog are subject to change without notice.

Series M Available Mounting Styles

Bore Size Recommended
Model | Description 516", 7116" | 916" | 3/4" | 7/8" 14116"|1-1/4" 112" 1-3/4"] 2"a [2-1/2"] 3" Max. Stroke (in.)
N Nose mount, spring return [ ] [ ] [ ] [ [ [ J [ [} [} [ — | = 6"
NR Nose mount, spring return, _ I "
hex rod (non-rotating) ® ® o o o ® ® ® 6
NRP | Pivot and nose mount, spring return, | I N "
hex rod (non-rotating) d d ® ® ¢ ¢ hd d 6
P Pivot mount, spring return o [ ] [ ] ([ ] [ ] [ [ ] [ [ ® | — | — 6"
R Nose mount, spring extended o @ o [ ] [ ] [ J [ [} [ J [ — | — 6"
RP Pivot and nose mount, spring extend| @ L4 L4 L L L4 L ® | — | 6 — | — 6"
D Nose mount, double acting ([ ] [ ] [ ] [ [ ] [ [ ] [ [ (] (] [ 12"
DP Pivotand nose mount, doubleacting, _ | o | _ | @ | — | @ | — | @ | — | — | — | — | 12 (under %4" bore)
pivot pin 32" (3/s" & up)
DXP | Pivot and nose mount, double acting, 12" (under /4" bore)
no pivot pin (] [ ] [ ] (] ( [ ] (] [ ] [ ] (] [ ] [ ] 32" (/" & up)
DX Threaded both ends, double acting — | See DXP|See DXP|See DXP|See DXP|See DXP [See DXP| @ — |SeeDXp| — | — 32"
KDX | Threaded both ends, double acting, | 6" (under %:" bore)
double rod [ ] [ ] (] (] (] (] [ ] [ ] (] [ ] ([ ] 12" (/" & up)
KDH | Threaded both ends, double rod, I U e N I "
hollow rod ® ® o o ® 12
A Nose mount, spring return, head I N _ _ I Y R "
adjustable stroke ® o o 6
RA Nose mount, spring extend, cap I N _ _ I "
adjustable stroke ® o b 6
AP Pivot mount, spring return, head I _ _ A O S "
adjustable stroke ® ® o 6
AR Air reservoirs - - -] ®| -] ©® | -] @ — | ® | — | — 12"
BRN | Rear block mount, single acting, _ _ _ _ I Y R "
spring return ® o ® ® 6
BRR | Rear block mount, single acting I O _ _ I T e "
spring extend ® o b 6
BFD | Front block mount, double acting ® ® | — & — & — | & | — | — | — | — 12"
BRD | Rear block mount, double acting — [ J —_ [ —_ [ — [ J — | = = | = 12"
BFN | Front block mount, single acting _ _ _ _ I T e "
spring return o o ® o 6
BFR | Front block mount, single acting I N _ _ N Y R "
spring extend o o o 6
TRN | Rear trunnion mount, single acting, _ _ _ _ I R "
spring return ® ® o ® 6
TRR | Rear trunnion mount, single acting I N _ _ A R S "
spring extend o o b 6
TFD | Front trunnion mount, double acting | — [ J — [ — [ — [ J — | = | = | — 12"
TRD | Rear trunnion mount, double acting — [ J — [ — [ — [ J — | = | = | — 12"
TFN | Front trunnion mount, single acting _ _ _ _ I R N "
spring return o ® o o 6
TFR | Front trunnion mount, single acting I N _ _ A O S "
spring extend i e e 6

A Recommended maximum stroke is 4" in models N, P, R & RP.
1t Recommended maximum stroke is 4".




Series M Mini Cylinders

5/16" Bore Size / Single Acting

Q
AVENTICS

Mounting Style N

Single Acting

Spring Return

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 12", 2",
21" 3", 4"

Maximum Stroke 4"

Optional Accessory:
R432007828 Foot Bracket

1.12 PLUS .75 FOR
EACH .50 OF STROKE |

#10-32 PORT

Mounting Style P

Single Acting

Spring Return

Double End or Rear Pivot Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 12", 2",
21" 3", 4"

Maximum Stroke 4"

Optional Accessories:
R432007828 Foot Bracket
R432007815 Pivot Bracket
R432007805 Rod Clevis

1.68 PLUS .75 FOR
EACH .50 OF STROKE

125 DIA. PIVOT PIN HOLE

34

t=— 1/4-28 MOUNTING NUT

19
iE #10-32 PORT
= —— :
1.52 PLUS .75 FOR
EACH .50 OF STROKE
#5-40 UNC-2A

| .39
I_i 25

\\ 3/8-24 MOUNTING NUT

|44

Mounting Style R

Single Acting

Spring Extend

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 12", 2",
21/" 3"

Maximum Stroke 4"

Optional Accessory:
R432007829 Foot Bracket

1.49 PLUS 1.25 FOR
EACH .50 OF STROKE |

.31 PLUS STROKE

38

125 DIA.

\ #10-32 PORT
3/8-24 MOUNTING NUT

#5-40 UNC-2A

Mounting Style RP
Single Acting
Spring Extend

2.04 PLUS 1.25 FOR EACH .50 OF STROKE

Rear Pivot Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 12", 1", 11/2", 2"
21/2" 3"
Maximum Stroke 4"

Optional Accessories:
R432007829 Foot Bracket
R432007815 Pivot Bracket
R432007805 Rod Clevis

125 DIA.
#5-40 UNC-2A

.31 PLUS STROKE 2 50 SQ.
.31 : .39
38 é/ 3/8-24 MTG. NUT 19 | s
| I~ ‘6'/
—1 1
jtm:ﬂiﬂfc* — % @ 3

#10-32 PORT

A7 |

.125 1.D. BUSHING
1.88 PLUS 1.25 FOR EACH .50 OF STROKE




Series M Mini Cylinders
5/16" Bore Size / Double Acting HVENTlCSm

Mounting Style D
Double Acting i~
Front Nose Mounting A7
Stainless Steel Rod Standard s 31
Standard Stroke Lengths: /2", 1", 11/, 2" : |

21/2"’ 3II, 4II
Maximum Stroke 4 125 DIA% % D _HD.

1.64 PLUS STROKE

3/8-24 MOUNTING NUT
#5-40 UNC-2A

Optional Accessory:
R432007829 Foot Bracket

Mounting Style DXP

Double Acting _ _ 219 PLUS STROKE
Double End or Rear Pivot Mounting .38 2 505Q
Stainless Steel Rod Standard A7 19|, 51 '
Standard Stroke Lengths: /2", 1", 172", 2", 1431 3/8-24 MTG.NUT T
21/2", 3", 4|| n —4 -

Maximum Stroke 4" JEMEI]EQ ————- ) =

125 DIA. } N

#10-32 PORT
Optional Accessories: 2,03 PLUS STROKE ‘6‘7044
R432007829 Foot Bracket 125 1.D. BUSHING S
R432007815 Pivot Bracket #5-40 UNC-2A
R432007805 Rod Clevis
Mounting Style BFD
Double Acting 1.72 PLUS STROKE |
Frqnt Block Mounting 38 .50 SQ.
Stainless Steel Rod Standard - 36
Standard Stroke Lengths: /2", 1", 11/, 2" i
21/2“, 3II, 4II
Maximum Stroke 4" 125 Dm% A Qe - — - — - ——- HE[ )
34 | \ #10-32 PORT
41 11 DIA. THRU (2 PLACES)
59 #10-32 PORT

#5-40 UNC-2A




Series M Mini Cylinders

7/16" Bore Size / Single Acting

Mounting Style N
Single Acting
Spring Return

t=1.31 PLUS .94 FOR EACH .50 OF STROKE-*|

Q
AVENTICS

Front Nose Mounting =50 ~bH<~.05 .374 DIA. PILOT a8

Stainless Steel Rod Standard '

Standard Stroke Lengths: 2", 1", 1'/2", 2", Jgajw il - ,—:H»j.s*o
21/2||, 3", 4|| *7 Lt +

Maximum Stroke 6"

Optional Accessory:
R432007830 Foot Bracket

#10-32 UNF-2A

—

.31

—

3/8-24 MOUNTING NUT

#10-32 PORT

Mounting Style NR
Single Acting ~—1.56 PLUS .94 FOR EACH .50 OF STROKE —>|
Spring Return l50-=

25

Non-Rotating Hex Rod

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 172", 2", 3", 4"

.188 DIA.

#10-32 UNF-2A

o

.05 .374 DIA. PILOT
N

A2

W3/8-24 MOUNTING NUT
56 |l

Maximum Stroke 6" .19 #10-32 PORT
3/16 HEX
Optional Accessory:
R432007830 Foot Bracket
Mounting Style NRP
gln_gle Igcttmg 2.25 PLUS .94 FOR EACH .50 OF STROKE —| 74
pring Return 50> .05 374 DIA. PILOT
Non-Rotating Hex Rod 25 j 1030 b ORT—\'ZS"‘ . 1«50
Rear Pivot Mounting —7 L e {
Stainless Steel Rod Standard 188 DIA. ST - O Q1 156 ;"N
Standard Stroke Lengths: /2", 1", 11/2", 2", 3", 4" N ]
Maximum Stroke 6" #10-32 UNF-2A . 3/8-24 UNF-2A B \ | 31
i ies: : ~ - i 7/16-20 UNF-2A
Optional Accessories: 3/16 HEX l=—2.00 PLUS .94 FOR EACH .50 OF STROKE—»|

R432007812 Pivot Bracket
R432007806 Rod Clevis

Mounting Style P

Single Acting |«—2.00 PLUS .94 FOR EACH .50 OF STROKE—| 74

Spring Return 50— W«.os 374 DIA. PILOT 25_»‘ . 50-n]

Rear Pivot Mounting #10-32 PORT —~\

Stainless Steel Rod Standard wgw T B e i t’ .

Standard Stroke Lengths: '/2", 1", 17/2", 2", 3", 4" ' 1%@ AE) 3 laed

Maximum Stroke 6 1032 UNF-2A 624 UNF2A \ DNy
— .31 l=— 44 - X .

Optional Accessories: » 1.75 PLUS .94 FOR EACH 7/16-20 UNF-2A

.50 OF STROKE ”

R432007812 Pivot Bracket
R432007806 Rod Clevis

Mounting Style R
Single Acting 1,94 PLUS 1.44 FOR EACH 50 OF STROKE
Spring Extend +50 38 PLUS STROKE i
Front Nose Mounting 05—~ .437 DIA. PILOT r
Stainless Steel Rod Standard 1 |
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3" 188 DIA. —I:’j > -9 :Prjﬁo
Maximum Stroke 6" / A f

#10-32 UNF-2A \_#10_32 PORTJ

Optional Accessory: 7/16-20 MOUNTING NUT

R432007831 Foot Bracket




Series M Mini Cylinders

7/16" Bore Size / Single and Double Acting

Mounting Style RP
Single Acting

Spring Extend

Rear Pivot Mounting
Stainless Steel Rod Standard

.188 DIA.

Standard Stroke Lengths: /2", 1", 11/2", 2", 3"

Maximum Stroke 6"

Optional Accessories:
R432007812 Pivot Bracket
R432007806 Rod Clevis

#10-32 UNF-2A
7/16-20 UNF-2A — |

Q
AVENTICS

I~ 2.62 PLUS 1.44 FOR EACH .50 OF STROKE ™

-38 PLUS STROKE
/437 DIA. PILOT ‘
25 —»

#10-32 PORTS '

. ft—
72

te——— 2.38 PLUS 1.44 FOR EACH ——»
.50 OF STROKE

74—
- -50—+
156
f
—|.31
7/16-20 UNF-2A

Mounting Style D
Double Acting

Front Nose Mounting
Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 17/2", 2", 3", 4"

Maximum Stroke 12"

Optional Accessory:
R432007831 Foot Bracket

e—————— 2.12 PLUS STROKE ———~| 74
50 38
~|[=05 __— 437DIA PILOT
.188 DIA. -

t

#10-32 UNF-2A /‘/
7/16-20 MOUNTING NUT

<——.72——>‘

\— #10-32 PORT

Mounting Style DP
Double Acting

Rear Pivot Mounting
Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 11/2", 2", 3", 4"

Maximum Stroke 12"

Optional Accessories:
R432007812 Pivot Bracket
R432007806 Rod Clevis

.188 DIA.

#10-32 UNF-2A

7/16-20 UNF-2A

(e———2.81 PLUS STROKE ————>

<——F38
.50-»| —»]||=«— 05 —.437 DIA. PILOT ‘
2
r ‘ 7 o PORT— s

HHEOH -0

e——— 2.56 PLUS STROKE ———*1

(72— 44 |-

<74—>
=50+
156 PIN
—|.31

7/16-20 UNF-2A

Mounting Style DXP
Double Acting

Double End or Rear Pivot Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 12"

Optional Accessories:
R432007831 Foot Bracket
R432007806 Rod Clevis
R432007816 Pivot Bracket with pin

.188 DIA.
_*7

#10-32 UNF-2A

7/16-20
MOUNTING NUT

e 281 PLUS STROKE ——f
38 f«—+{«~—— 1.94 PLUS STROKE ——=}25~
_" 05 437 DIA. PILOT .os—»r
i

.

~+———— 2.56 PLUS STROKE ———

#10-32 PORT

qa» Pi157 DIA. \
HOLE
-l 44 |-
.72

7/16-20 MOUNTING NUT

Mounting Style KDX
Double Acting

Double Rod

Double End Mounting
Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007831 Foot Bracket

.38 —e—=

3

.188 DIA.

#10-32 UNF-2A

7/16-20 MOUNTING NUT /

[——2.81 PLUS 2 TIMES STROKE ————|
~—— 2.06 PLUS STROKE

05 05—+
= — 437 DIA. PILOT —2 r’

,.T

Viklye

r— 72—

#10-32 PORT
.38
72

7/16-20 MOUNTING NUT

=50+

.38 PLUS STROKE
<74

#10-32 UNF-2A




Series M Mini Cylinders - Block Mounted

7/16" Bore Size / Single and Double Acting

Q
AVENTICS

Mounting Style BFN

Single Acting

Spring Return

Front Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 172", 2", 3"

. . /—#8-32 UNC-2B
"_ 50 {--.062__ 44 (2 HOLES)

le— 1.94 PLUS .94 FOR EACH _,.|

50 OF STROKE

.38

_\_”r .SOIDIA.

Maximum Stroke 6" az7oA /gl ‘ #10-32 PORT
5.2 UNG.op  ~#10-32 UNF-2A -
2 HOLES ON A
.75 DIA. BOLT CIRCLE
Mounting Style BRN
Single Acting ——— 1:62 PLUS .94 FOR EACH —
gprin%r{etkum 188 DIA. | |05 | #10-32 PORT—~ 138 <—75——‘
ear Block Mounting [ S0 _ ] '
Stainless Steel Rod Standard ! T __[874DIA PILOT )\ L
Standard Stroke Lengths: /2", 1", 2", 3", 4" sobia 5 ol - &g 4 7 +
Maximum Stroke 6" ' —r ! .

#8-32 UNC-2B
2 HOLES ON A
.75 DIA. BOLT CIRCLE

Mounting Style BFD

Double Acting

Front Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 11/2", 2", 3", 4"
Maximum Stroke 12"

A [

.437 DIA.

#8-32 UNC-2B
2HOLES ON A

[+— 88—

188 DIA.

fe——— 2.12 PLUS STROKE ———

#8-32 UNC-2B
| 062 4, /_ (2 HOLES)

.38

j;{SOIDIA.

3?, ,\l‘ \"\
.31 ‘ .44
#10-32 UNF-2A

A

.75 DIA. BOLT CIRCLE

N\— #10-32 PORT

OPPOSITE SIDE

J #10-32 PORT
.19

Mounting Style BRD

Double Acting

Rear Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 12"

—- 38 |-
-188 DIA. r_'os
|50 [—.437 DIA.
I

i
=

f«—— 2.44 PLUS STROKE ———»

—

PILOT

.38 [=— ‘<—_75—>‘
| J—

#10-32 UNF-2A
7/16-20 UNF-2

AJ<—.72"J )

10-32 PORT

#8-32 UNC-2B
2 HOLES ON A
.75 DIA. BOLT CIRCLE




Series M Mini Cylinders - Trunnion Mounted

7/16" Bore Size / Single and Double Acting

Mounting Style TFN
Single Acting
Spring Return
Front Trunnion Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 12", 2", 3"

Maximum Stroke 6"

.25:0 4"

f

5 7!

!

N
o

- .75 —*|

A
AVENTICS
1.94 PLUS .94 FOR EACH .50 OF STROKE
88
‘«.374 DIA.  .062—w|=
50
j—i.we DIA. Fj B 38 'SO;DIA
NN R frnnon] 4 W —
i o e I pu
(T (dhon un J N
#10-32 PORT
.31 F le—.19

#10-32 UNF-2A

Mounting Style TRN
Single Acting

Spring Return

Rear Trunnion Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 2", 3", 4"

Maximum Stroke 6"

1.62 PLUS .94 FOR EACH .50 OF STROKE

‘

T

[=—.374 DIA.

= 31 |- —| .38 |<—
50 < o5 #1032 PORT L
.374 DIA. PILOT r j
¥ 188 DIA.
x | N
50 DIA. ® 'Jﬁ
R vl ‘ T

WLUNF.ZAJ _T\m e HH E

1.38 PLUS .94 PER EACH .50 OF STROKE ‘
|

Mounting Style TFD

Double Acting
Front Trunnion Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 11/2", 2", 3", 4"

Maximum Stroke 12"

212 PLUS STROKE
.88
250 »‘ ’«374 DIA. —»] |« 062
i j 50
P Fi f [::1 38 50 DIA.
T | v.188DIA L ]
12575 Ffﬁ ? ML %5 1“
I U+ C T
437 DIA. L=J J
—#10-32 PORT —#10-32 PORT
— — L«_m =19

#10-32 UNF-2A

Mounting Style TRD

Double Acting
Rear Trunnion Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 12", 2", 3", 4"

Maximum Stroke 12"

2.44 PLUS STROKE

38 ™ ;:05 ™ 38 ] 374 DIA.
- -
-] L v
| wonmor [T (1]

5
v

#10-32 UNF-2A
7/16-20 UNF-2A

HE
72 —#10-32 PORT /

]
]

2.19 PLUS STROKE ‘

J

75

!
|




Series M Mini Cylinders

9/16" Bore Size / Single Acting

Mounting Style N

Single Acting

Spring Return

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007831 Foot Bracket

1.00 OF STROKE*
.437 DIA. PILOT

1.583 PLUS 1.62 FOR EACH —

Q
AVENTICS

)

.188 DIA.

50+ —»‘ T».os
O

1
AE3

#10-32 UNF-2A 7/16-20 MOUNTING NUT

—

.38

—»‘

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one half inch.

Mounting Style NR

Single Acting

Spring Return

Non-Rotating Hex Rod

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 12", 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007831 Foot Bracket

1.78 PLUS 1.62 FOR
EACH 1.00 OF STROKE*

f———

50-= | —»ll.06 437 DIA.PILOT
25— |—.50
188 DIA. ﬂ;ﬂ: - _ i ﬂH.e{z

~
[™—7/16-20 MOUNTING NUT
|—

.62

#10-32 UNF-2A
-~
3/16 HEX

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one half inch.

#10-32 PORT

Mounting Style NRP
Single Acting

Spring Return

Non-Rotating Hex Rod

Rear Pivot Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"
Maximum Stroke 6"

Optional Accessories:
R432007816 Pivot Bracket with Pin
R432007806 Rod Clevis

2.25 PLUS 1.62 FOR

437 DIA.
PILOT

EACH 1.00 OF STROKE*

25—

.06 “'

-50— r<.06
.25

G

pa
4

188 DIA. %@ o b - 1
N—
#10.32 UNF-2A 7/16-20 UNF-2A

62 #10-32 PORT

|—

%
3/16 HEX le————— 2.06 PLUS 1.62 FOR ———»

EACH 1.00 OF STROKE*

—

.38

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one half inch.

7/16-20 UNF-2A

Mounting Style P

Single Acting

Spring Return

Rear Pivot Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"
Maximum Stroke 6"

Optional Accessories:
R432007816 Pivot Bracket with Pin
R432007806 Rod Clevis

2.00 PLUS 1.62 FOR

[+—— EACH 1.00 OF STROKE* "]
=50+ —>‘<—.06 437 DIA. 25—+
PILOT 06—
= B
188 DIA. & - _ )
? Ty Y ¥
#10-32 UNF-2A
| 38 | #10-32 PORT P
7/16-20 UNF-2A e 1.81PLUS1.62FOR — |

EACH 1.00 OF STROKE*

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one half inch.

7/16-20 UNF-2A

Mounting Style R

Single Acting

Spring Extend

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 112", 2", 3"
Maximum Stroke 6"

Optional Accessory:
R432007831 Foot Bracket

EACH 1.00 OF STROKE

«—— 200PLUS2.62FOR — &

=501 .38 PLUS STROKE
05— 437 DIA. PILOT 50
e
188 DIA. :é;: - T f 62
f / T ,JJ |
#10-32 UNF-2A \_ #10-32 PORﬂ
38 = .19
7/16-20 MOUNTING NUT
78

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one inch.

#10-32 PORT




Series M Mini Cylinders

. : : 8
9/16" Bore Size / Single and Double Acting HVENTlCS.
H * To determine lengths for half inch stroke increments, determine length
N_Iountlng Style RP for next highest whole number stroke and subtract one inch.
Single Acting 2.47 PLUS 2.62 FOR
Spring Extend " EACH1.00 OF STROKE* |
Rear Pivot Mounting =50 38 Z;‘;‘; ;TROKE 25w =
Stainless Steel Rod Standard .06—>‘ 7/~ PILOT "\ 06—~
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3" f A
Maximum Stroke 6" “’fﬁ 0 1 rored
Optional Accessories: #10-372/1%'212':0-2[_]ANF.2A "L?’f_l;__, #10-32 PORT_» 8 |
R432007816 Pivot Bracket with Pin 228 PLUS 2.62 FOR ) 7116-20 UNF-2A
R432007806 Rod Clevis EACH 1.00 OF STROKE*
Mounting Style D
Double Acting [«————2.28 PLUS STROKE———

Front Nose Mounting 38
Stainless Steel Rod Standard <50+
Standard Stroke Lengths: /2", 1", 112", 2", 3", 4" % 497 DIA PILOT %

. u i EN *
Maximum Stroke 12 188 DA %%} | N i o A
& T4

#10-32 UNF-2A—/ ‘ \_ 1082 PORT
7/16-20 MOUNTING NUT 78— #10-

.19
Optional Accessory:

R432007831 Foot Bracket

Mounting Style DXP

Double Acting
Double End or Rear Pivot Mounting

fe——— 2.75 PLUS STROKE —————
50> 38 25— =
Stainless Steel Rod Standard =8 431 2l 06—~ o
Standard Stroke Lengths: /2", 1", 112", 2", 3", 4" l

! l Re /“‘\
Maximum Stroke 12 188%% P@? IR 115 KOS S \4

PIVOT
Optional Accessories: #10-32 UNF-2A / J #10-32 PORT PIN HOLE‘ 31 L
. -—78 —] — ’
R432007806 Rod Clevis 711620 UNF-2A 38
R432007831 Foot Bracket e 2.56 PLUS STROKE ———™ 7/16-20 UNF-2A
R432007841 Hex Mounting Nut
Mounting Style KDX
Double Acting l«——2.94 PLUS 2 TIMES STROKE ——»|
—»{ 38 |+ 2.19 PLUS STROKE .38 PLUS STROKE
Double Rod _ 50| o086 06 1< oo
Double End Mounting 437 DIA. PILOT-
Stainless Steel Rod Standard ! R

#10-32 UNF-2A
-32 PORT

PN PN 7T
Standard Stroke Lengths: /2", 1", 11/2", 2", 3", 4" 188 DIA. ST — ;b‘ ]HDEE@ -Gf
8

Maximum Stroke 6" — T
/ #10 #10-32 UNF-2A
.38 *\—7/16-20 MOUNTING NUT

78 78

Optional Accessory: 7/16-20 MOUNTING NUT J
R432007831 Foot Bracket

10




Series M Mini Cylinders

3/4" Bore Size / Single Acting

Mounting Style N

Single Acting

Spring Return

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 11/, 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007832 Foot Bracket

1.50 PLUS 1.69 FOR

Q
AVENTICS

) EACH 1.00 OF STROKE*
50> =09 _ 499 DIA. PILOT
|
250 DIA, ® b -
1/4-28 UNF-2A N—1/2-20 MOUNTING NUT
44 1

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one half inch.

Mounting Style NR

Single Acting

Spring Return

Non-Rotating Hex Rod

Front Nose Mounting

Standard Stroke Lengths: /2", 1", 17/2", 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007832 Foot Bracket

1.75 PLUS 1.69 FOR
EACH 1.00 OF STROKE*

.499 DIA. PILOT

e

*To determine lengths for half inch stroke increments, determine length

for next highest whole number stroke and subtract one half inch.

Mountmg Style NRP » 2,81 PLUS 1.69 FOR . 86
Single Acting 5 0 EACH 1.00 OF STROKE*
Spring Return P F : 499 DI1A/.8P'\IIII:QI_'I'; _34*‘ - 75
Non-Rotating Hex Rod — Rear Pivot Mounting 1 T | '
Standard Stroke Lengths: 1", 2", 3", 4" -25%% AE I - (OO .250*P|N
Maximum Stroke 6" ~_ T
1/4-28 UNF-2A / 1/2-20 UNF-2A \ —| 38
- 69 | - .62 - -
. . 1/4 HEX < 253PLUS1.69FOR 5/8-18 UNF-2A
Optional Accessories: EACH 1.00 OF STROKE*
R432007813 Pivot Bra;ket *To determine lengths for half inch stroke increments, determine length
R432007807 Rod Clevis for next highest whole number stroke and subtract one half inch.
N_Iountmg Style P e _256PLUS169FOR 86
slngle Actlng EACH 1.00 OF STROKE
Spring Retum 50— ﬂ«_og 499 D|A1./:||h.“c§F _34»‘ . 75w
Stainless Steel Rod Standard { —f o | 4
Standard Stroke Lengths: /2", 1", 172", 2", 3", 4" 250 DIA. AE - Ot -©— 250 PIN
Maximum Stroke 6" t [ t
1/4-28 UNF-2A S~ /2-20 UNF-2A \ | 38
) A4 62 1= \_5/8-18 UNF-2A
Optional Accessories: M E Egﬁ f.lélbj%kesqr';%ﬁ? —™
R432007813 Pivot Bras:ket *To determine lengths for half inch stroke increments, determine length
R432007807 Rod Clevis for next highest whole number stroke and subtract one half inch.
Mounting Style R
. . 2.31 PLUS 2.69 FOR A
Single Acting EACH 1.00 OF STROKE — 1 -85
Spring Extend ~50 50 PLUS STROKE
. 09|
Front Nose Mounting _T T #4=824 DIA. PILOT
Stainless Steel Rod Standard R A . 3
Standard Stroke Lengths: /2", 1", 2", 3", 4" I IR i 4
H n
Maximum Stroke 6 1/4-28 UNF-2A 8 NPTE

Optional Accessory:
R432007833 Foot Bracket

50l

~— 97—

5/8-18 MOUNTING NUT

*To determine lengths for half inch stroke increments, determine le
for next highest whole number stroke and subtract one inch.

11

ngth




Series M Mini Cylinders

3/4" Bore Size / Single and Double Acting

Q
AVENTICS

Mounting Style RP

Single Acting

Spring Extend

Rear Pivot Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 12", 1", 2", 3", 4"
Maximum Stroke 6"

Optional Accessories:
R432007813 Pivot Bracket
R432007807 Rod Clevis

2.72 PLUS 2.69 FOR
EACH 1.00 OF STROKE*

50 PLUS STROKE 86

rso—> —»\ .09 ~624 DIA. PILOT 34_>‘ 75

.250 DIA. % ‘»‘
1/4-28 UNF-2A

5/8-18 UNF-2A—1 ] -50

«97’]

e 244PLUS269FOR |
EACH 1.00 OF STROKE*

I

1/8 NPTF

*To determine lengths for half inch stroke increments, determine length
for next highest whole number stroke and subtract one inch.

Mounting Style D

Double Acting

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 2", 212",
3||’ 4||, 5||’ 6", 8", 10||

Maximum Stroke 12"

Optional Accessory:
R432007833 Foot Bracket

@w—2.97 PLUS STROKE———
50 .50

—" .09

¢ /—_624 DIA. PILOT

\—1/8 NPTF

L

250 DIA. r

1/4-28 UNF-2A ? J
5/8-18 MOUNTING NUT t=—.97:

Mounting Style DP

Double Acting

Rear Pivot Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 2", 212",
3II’ 4II, 5II, 6II1 8II, 10II

Maximum Stroke 12"

Optional Accessories:

R432007813 Pivot Bracket
R432007807 Rod Clevis

e 403 PLUS STROKE ——
‘_ﬁo 86—

-50-»| —=|l«.09 —.624 DIA. PILOT 75-»

r ‘ T BNPTE o i i
250 DIA, :[ - — O O 250 PIN
| s 4
1/4-28 UNF-2A 38
5/8-18 UNF-2A 62 = \_5/3.18 UNF-2A
3.75 PLUS STROKE——|

Mounting Style DXP

Double Acting

Double End or Rear Pivot Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6", 8", 10"
Strokes over 12" must be supported at both ends
Maximum Stroke 32"

Optional Accessories:

R432007833 Foot Bracket

R432007807 Rod Clevis

R432007817 Pivot Bracket with Pin

1/4-28 UNF-2A

5/8-
MOUNTING NUT

[—————4.03 PLUS STROKE ———>

.50~ ~—— 2.91 PLUS STROKE ——{34|=
50— —= .09 .09 —=
—. . |

-86—

624 DIA. PILOT
\rh
AN 7@ SAR]
4 Nt "7

1/ \
/«97 1/8 NPTF VOLE
s - —1 62 [+ \_5/g.18 MOUNTING NUT

.250 DIA.

t

[+———3.75 PLUS STROKE——™

12




Series M Mini Cylinders

3/4" Bore Size / Double Acting and Adjustable

Stroke Single Acting

Q
AVENTICS

Mounting Style KDX

Double Acting

Double Rod — Double End Mounting
Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"

Maximum Stroke 12"

Optional Accessory:
R432007833 Foot Bracket

5/8-18 MOUNTING NUT

50 e

09

LR

.250 DIA.

1/4-28 UNF-2A

97

5/8-18 MOUNTING NUT

—1/8 NPTF

—4.00 PLUS 2 TIMES STROKE —™
- 3.00 PLUS STROKE

624 DIA. PILOT _09
{ E[I} | § .

%86——>

1/4-28 UNF-2A

Mounting Style A

Adjustable Stroke — Single Acting
Spring Return — Double End Mounting
Stainless Steel Rod Standard

Stroke adjustment in 1" increments to 3"
1" Stroke adjusts 0"-1", 2" Stroke 1"-2",
and 3" Stroke 2"-3"

Mounting Brackets are included
Maximum Stroke 6"

Fso—»
T

.250 DIA.

:

3.12" PLUS 1.69" FOR

M EACH1.00"OF STROKE — ™

.34 WRENCH FLATS

RASS BEARING AND STROKE ADJUSTER

4 SLOTS FOR .250

MOUNTING BOLTS ﬂj?;—-

1/4-28 UNF-2A /“' L‘-19

SHILSOL

—

1.69" FOR EACH
1.00" OF STROKE

Mounting Style RA

Adjustable Stroke — Single Acting
Spring Extend — Nose Mounting
Stainless Steel Rod Standard

Stroke adjustment in 1" increments to 3"
1" Stroke adjusts 0"-1", 2" Stroke 1"-2",
and 3" Stroke 2"-3"

Maximum Stroke 6"

".50—>
L2

.250 DIA.

f

——————

3.78" PLUS 2.69" FOR
EACH 1.00" OF STROKE

053" PLUS STROKE
-°9ﬂ *~ —624 DIA. PILOT

—_—

~—286

<+—=—1.00 ADJUSTMENT

=

=

1/4-28 UNF-2A 1/8 NPTF
504+ 7/16-20—/ 34~
MOUNTING NUT WRENCH FLATS
l+— Q7 —|
Optional Accessory: 5/8-18 MOUNTING NUT STROKE ADJUSTER
R432007833 Foot Bracket
Mounting Style AP
Adjustable Stroke — Single Acting e EACH 1 00" OF STRORE ———
Spring Return — Rear Pivot Mounting
. BRASS BEARING AND
Stainless Steel Rod Standard STROKE ADJUSTER .
Stroke adjustment in 1" increments to 3" 7/16-20 MOUNTING NUT :
1" Stroke adjusts 0"-1", 2" Stroke 1"-2", 34| |~ g
and 3" Stroke 2"-3" [ ‘ . /L - {
Maximum Stroke 6" -25% (e — ¢ - N

Optional Accessories:
R432007813 Pivot Bracket
R432007807 Rod Clevis

1/4-28 UNF-2A

19 —=

13

-
u— 1,00 ADJUSTMENT

.34 WRENCH FLATS
1/8 NPTF:

3.65" PLUS 1.69" FOR
EACH 1.00" OF STROKE

Lo € 250 PIN
}
\ —|.38
62 |- 5/8-18 UNF-2A




Series M Mini Cylinders - Block

3/4" Bore Size / Single and Double Acting

Mounted a
AVENTICS'

«——— 2.31 PLUS 1.69 FOR

H *To determine lengths for half : N
Mountlng Style BRN inch stroke increments, determine ~-pz~| FACH 1.00 OF STROKE
Single Acting length for next highest whole number s I 8 NPTF 00—
Spring Return stroke and subtract a half inch. 75 ‘ 09 166 DIA PILON - 44 | r ‘
Rear Block Mounting oy [ NI F’?‘ ‘T
Stainless Steel Rod Standard &1 250DIA. °— - O 1.00
Standard Stroke Lengths: 1", 2", 3", 4" £t ) I ‘ ﬁ‘ j
Maximum Stroke 6" 1/4-28 UNF-2A /2- -
22 WRENCH FLATS 1/2-20 UNF-2A #10-32 UNF-2
2 HOLES ON A
1.00 DIA. BOLT CIRCLE
MOU nting Style BRR * To determine lengths for half N Eﬁgﬁ ?5%505'2%58,39
inch stroke increments, determine 75 PLUS STROKE
Single Acting length for next highest whole number 25 PLUS STROKE e 09 .
Spring Extend stroke and subtract one inch. [ ¥ /624 DIA. PILOT F*mo ‘
f~757 F - 1/8 NPTF

Rear Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

o 1

86 .250 DIA.
Dlr\. *
1/4-28 UNF-2A /

o

s

—o-

.22 WRENCH FLATS
5/8-18 UNF-2A

.97 #10-32 UNF-2B
2 HOLES ON A

1.00 DIA. BOLT CIRCLE

Mounting Style BFD

Double Acting

Front Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 12", 1", 2", 3, 4", 5", 6"
Maximum Stroke 12"

—_—
.22 PLUS STROKE

~

19

j
.6%

-

—

.8
D

-

-

18 NPTF

2 HOLES DRILLED & C BORED
FOR #10-32 CAP SCREWS.
.22 WRENCH FLATS 1/4-20 UNC-2B OPPOSITE SIDE
1/4-28 LINE-DA

Mounting Style BRD

Double Acting

Rear Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3" 4", 5", 6"
Maximum Stroke 12"

~——— 378 PLUS STROKE —]|
s
25
FT09 —eoapIA PILOT .44 “*1 .ooa‘
f~75— 1/8 NPTF —\ ]
Lo y o s | T
86 250 DIA & - O - i 1.00
DIJA } K
1/4-28 UNF-2A
22 WRENCH FLATS #10-32 UNF-2B
122> 2 HOLES ON A

5/8-18 UNF-2A 1.00 DIA. BOLT CIRCLE

H *To determine lengths for half
Mountlng Style BFN inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 6"

fe—— 2.66 PLUS 169 FOR ——f
EACH 1.00 OF STROKE*
#10-32 UNF-2B

2 HOLES ON A Bes 112
00 DIA’ BOLT CIRCLE ||, o
999 60 -
e 250 757 | *t 19
DIA. @
j l

&)
L\

.624

| 6
AL ‘

! 81
&if le\.
1/8 NPTF

2 HOLES DRILLED & C BORED
FOR #10-32 CAP SCREWS.
.22 WRENCH FLATS 1/4-20 UNC-2B OPPOSITE SIDE
1/4-28 UNF-2A

.38

i * To determine lengths for half
N_Iountlng Style BFR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch.

Spring Extend

Front Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

[e——————— 256 PLUS2.69 FOR ——»

EACH 1.00 OF STROKE*

#1092 UNF2B .34 PLUS STROKE] 112"
2 HOLES ON A -~
1.00 DIA. BOLT CIRCLE 093
[62 - 19
T 250|757 . -
T ﬁ\ XA L LT A ‘ B ?
A ol o
100 N 624 & A @ B,
i Y X LT
)
'38% 1/8 NPTF
1.00 -— 2 HOLES DRILLED & C'BORED

.88

.22 WRENCH FLATS
1/4-28 UNF-2A

FOR #10-32 CAP SCREWS.
1/4-20 UNC-2B OPPOSITE SIDE

14




Series M Mini Cylinders - Trunnion Mounted
3/4" Bore Size / Single and Double Acting FlVENTlCSm

2.31 PLUS 1.69 FOR EACH 1.00 OF STROKE

i *To determine lengths for half
N!Ollntlng Style TRN inch stroke increments, determine <2
Single Acting length for next highest whole number o5l % o le500DIA.
Spring Return stroke and subtract a half inch. s 1/8 NPTF: ‘
! . 1499 DIA. PILOT

Rear Trunnion Mounting - I [ {
Stainless Steel Rod Standard Tm#‘ ! ii%‘; s | ‘Im S
Standard Stroke Lengths: 1", 2", 3", 4" U 4 | l

. B v
Maximum Stroke 6 1,48£8DJ§F2A j / o o=

.22 WRENCH FLATS _“ 1.00
1.94 PLUS 1.69 FOR EACH 1.00 OF STROKE
- *To determine Iengths for half 3.22 PLUS 2.69 FOR EACH 1.00 OF STROKE*
Mountlng Style TRR inch stroke increments, determine 75 LUS STROKE
Single Acting length for next highest whole number 25 PLUS STROKE |[=—+| | |~500DIA.
Spring Extend stroke and subtract one inch. 25w " 52" DIA. PILOT ‘
H . .250 DIA- 75 1/8 NPTF
Rear Trunnion Mounting ™ a1 T
Stainless Steel Rod Standard - i1 1o0hs
Standard Stroke Lengths: 1", 2", 3", 4" t |
[J_|

Maximum Stroke 6" 86 DIA.

1/4-28 UNF-2A 4—>‘

= =

L ;
.38
1.00

[<—19

22 WRENCH FLATS 2.85 PLUS 2.69 FOR EACH 1.00 OF STROKE

Mounting Style TFD 3.22 PLUS STROKE
Double Acting s [

Front Trunnion Mounting r
Stainless Steel Rod Standard D oo i
T ji m 62 .81 DIA.
/77 ! M)ﬁ = ,T_L
| [[J |624DA J
| /‘L, 1/8 NPTF
1/4-28 UNF-2A

Standard Stroke Lengths: 1", 2", 3, 4", 5", 6"

Maximum Stroke 12"

8 =
=)
3

.69 PLUS STROKE
.22 WRENCH FLATS
1/4-28 UNF-2A

Mounting Style TRD — Smemeied
Double Acting 254 | e -+ |~ 500DIA.
Rear Trunnion Mounting j]s { [eesoin POt o ‘ ‘
Stainless Steel Rod Standard | | 7 VeNTE M- ‘
Standard Stroke Lengths: 1", 2", 3, 4", 5", 6" %TDIAL ”,ﬁi{/ ) ) To i
Maximum Stroke 12" N —\‘V | BN
\ e l
/ . 5/8-18 UNF-2A ¥
1/4-28 UNF-2A— -
22 WRENCH FLATS 341 PLUS STROKE 190
H * TO determine |engths fOr half 2.66 PLUS 1.69 FOR EACH 1.00 OF STROKE
Mountlng Style TFN inch stroke increments, determine 12
Single Acting length for next highest whole number oom s -
Spring Return stroke and subtract a half inch. ’ ) *‘ r 093
. . 75 o
Front Trunnion Mounting 1 T(_El 4,.250[;@ (1 |
Stainless Steel Rod Standard sk LN | F .
Standard Stroke Lengths: 152", 1", 2", 3", 4" J 1 L\EJ _ T -
Maximum Stroke 6" @ ] [|J |sDia Bl
1.00 M 1/8 NPTF
1/4-28 UNF-2A 22 WRENCH FLATS
- * TO determine |ength$ fOI' half 2.56 PLUS 2.69 FOR EACH 1.00 OF STROKE
Mountlng Style TFR inch stroke increments, determine _ 112
Single Acting length for next highest whole number SSD‘LZLI:S STROK 88
Spring Extend stroke and subtract one inch. " ™ sl 127 [+--093
Front Trunnion Mounting - —m Z:J.A { M ;
Stainless Steel Rod Standard U (AN *L‘Mj' bl A ! oo
Standard Stroke Lengths: 1", 2", 3", 4" l \AT Trp 4 e \ |
Maximum Stroke 6" J. TTTT o NN -
.;B 1.00 \; 1/8 NPTF

15




Series M Mini Cylinders

7/8" Bore Size / Single Acting

Q
AVENTICS

Mounting Sty'e N *To determine lengths for half
. - inch stroke increments, determine
Single Acting length for next highest whole number
Spring Return stroke and subtract a half inch. 1.84 PLUS 1.56 FOR ——»
. EACH 1.00 OF STROKE
Front Nose Mounting 50|~ 624 DIA. PILOT
Stainless Steel Rod Standard ' ' 62
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" _zsojT A e - ] 9*3
Maximum Stroke 6" Tt 1
]
1/4-28 UNF-2A J [™—5/8-18 MOUNTING NUT J
Optional Accessory: S0 = =19
R432007833 Foot Bracket
Mounting Sty'e NR *To determine lengths for half
. N inch stroke increments, determine
Single Acting length for next highest whole number
Spring Return stroke and subtract a half inch. A P LG PR, —
Non-Rotating Hex Rod 507 |~ .09 624 DIA.
Front Nose Mounting 267 % 62
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" 250 DIA. i _ "ﬂj *3
Maximum Stroke 6" AN A1
~
1/4-28 UNF-2A [™—5/8-18 MOUNTING NUT J
75 = 19

Optional Accessory:
R432007833 Foot Bracket

1/4 HEX

Mou nting Style NRP * To determine lengths for half
. " inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Non-Rotating Hex Rod 507
Rear Pivot Mounting 25
Standard Stroke Lengths: 1", 2", 3", 4" 250 DIA.

Maximum Stroke 6"

. . 1/4-28 UNF-2A
Optional Accessories:

R432007813 Pivot Bracket
R432007807 Rod Clevis

7

1/4 HEX

e———— 3.00PLUS1.56 FOR ——»

EACH 1.00 OF STROKE* 93—
. k_ 624 DIA. PILOT ‘
.09 1/8 NPTF 34| |- 757
| 2B J
i1 - ;T') o J 250 PIN
. “_5/8-18 UNF-2A J ‘\\ .38
75 62 | = 5/8-18 UNF-2A
e—————— 272PLUS 1.56 FOR ————=t

EACH 1.00 OF STROKE*

Mounting Style P *To determine lengths for half
. N inch stroke increments, determine
Single Acting length for next highest whole number e 275PLUSI56FOR_ —
Spring Return stroke and subtract a half inch. EACH 1.00 OF STROKE 93—
Rear Pivot Mounting 5077 |09 '6241D,;'3AN§'TLFO L *‘ -~
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 12", 2", 3", 4" 250 DIA | Q: _ _ COH-O— 5
Maximum Stroke 6" } T/ v
Optional Accessories: 1/4-28 UNF-2A - 5 ,_\—5/8-18 UNF-2A _J 62 |~ .38
R432007813 Pivot Bracket e 247 PLUS 1.56 FOR : 5/8-18 UNF-2A

R432007807 Rod Clevis

EACH 1.00 OF STROKE*

Mou nting Sty'e R *To determine lengths for half
. . inch stroke increments, determine
Slngle Actlng length for next highest whole number

stroke and subtract one inch.

Spring Extend

Front Nose Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 6"

1/4-28 UNF-2A

5/8-18 MOUNTING NUT

Optional Accessory:
R432007833 Foot Bracket

16

o

.25()I3IA.q S
1

le—— 2.31 PLUS 2.56 FOR
EACH 1.00 OF STROKE*

.50 PLUS STROKE

4—_9/_.624 DIA. PILOT
;59’
oo

97 ™1

293

507

‘

[

—O—

I

\—1/8 NPTF




Series M Mini Cylinders

7/8" Bore Size / Single and Double Acting

Q
AVENTICS

Mountlng Style RP i-lr—I(::g?ﬁ;?;ﬂiéfgr%tst;?rdk;grmine <_E'§éﬂ 5)'6%80%55@”;%??—»
Single Acting length for next highest whole number 50 PLUS STROKE

Spring Extend stroke and subtract one inch. |- 50— _>‘ Oj/_ 624 DIA. Pg_40_‘|;
Rear Pivot Mounting e T
Stainless Steel Rod Standard 250 DIA. {(# b
Standard Stroke Lengths: 12", 1", 2", 3", 4" T T ‘

Maximum Stroke 6" 1/4-28 UNF-2A
Optional Accessories:

R432007813 Pivot Bracket

R432007807 Rod Clevis

1/8 NPTF
5/8-18 UNF-2A

2.63 PLUS 2.56 FOR
EACH 1.00 OF STROKE

Mounting Style D

Double Acting

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 2", 3", 4", 5", 6"
Maximum Stroke 12"

1/4-28 UNF-2A

Optional Accessory: 5/8-18 MOUNTING NUT

R432007834 Foot Bracket

l )
.250$DIA.

7/

[+———2.94 PLUS STROKE ——=

|
.09
.624 DIA. PILOT
|

|

»
\—1/8 NPTF

.50 —
50-=

|

.

—97

Mounting Style DXP

Double Acting
Double End or Rear Pivot Mounting

3.84 PLUS STROKE —————

.34‘—:‘

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6", 8", 10"
(Strokes over 12" must be supported at both ends)
Maximum Stroke 32"

.250 DIA.

r‘so—’ *."_'O? 624 DIA. PILOT
R

.09
i’j

il

1/4-28 UNF-2A
Optional Accessories:
R432007807 Rod Clevis
R432007817 Pivot Bracket with Pin
R432007833 Foot Bracket

(+—.97

5/8-18
MOUNTING NUT

n

re— 3.56 PLUS STROKE ——————

1/8 NPTF —/

—]

.62
5/8-18 MOUNTING NUT

Mounting Style KDX

Double Acting

Double End Mounting 5]
Double Rod T
Stainless Steel Rod Standard {

Standard Stroke Lengths: 1", 2", 3", 4", 6" 250 DIA.

Maximum Stroke 12"
1/4-28 UNF-2A

Optional Accessory: 5/8-18 MOUNTING NUT /
R432007833 Foot Bracket

~——23.91 PLUS 2 TIMES STROKE ——»|

.50 2.91 PLUS STROKE
=09 09
/)
—

“ 624 DIA. PILOT:
|
Iy -
H,_OE

ISX W
1/8 NPTF 1/4-28 UNF-2A
—
l—.97 .97

.50 PLUS STROKE
=50

—

[5)

- <
N

50 [+ N— 5/8-18 MOUNTING NUT

17




Series M Mini Cylinders

1-1/16" Bore Size / Single Acting

a]

AVENTICS'

Mounting Style N
Single Acting
Spring Return
Front Nose Mounting

Stainless Steel Rod Standard

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007833 Foot Bracket

NOTE: Piston rod is available w/o
wrench flat (at no extra charge).
Specify when ordering.

2.06 PLUS

62
A2 -

r+— 1.56 FOR EA
1.00 OF STROKE*

CH

-

‘4150-'

F» <09

312 DIA. Tﬂ:e -
+ i
5/16-24 UNF-2A

.25 WRENCH FLATS

\—.624 DIA. PILOT

5/8-18 MOUNTING NUT

Mounting Style NR
Single Acting

Spring Return

Front Nose Mounting
Non-Rotating Hex Rod

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007833 Foot Bracket

2.1

9 PLUS

~— 1.56 FOR EACH
1.00 OF STROKE*

.312 DIA

T

75
25

[‘W <09
[=50-»1
}\
e
| |

5/16-24 UNF-2A
3/8 HEX

\—.624 DIA. PILOT
5/8-18 MOUNTING NUT

Mounting Style NRP
Single Acting

Spring Return

Rear Pivot Mounting
Non-Rotating Hex Rod

Standard Stroke Lengths: 1", 2" 3", 4"

Maximum Stroke 6"

Optional Accessories:
R432007813 Pivot Bracket
R432007808 Rod Clevis

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

5/16-24 UNF-2

3/8 HEX

3.06 PLUS 1

.624 DIA.

EACH 1.00 OF STROKE* |

1/8 NPTF— -3

.56 FOR

PILOT

‘«-.09
-

4(34
I
I

/ 4\5/8-18 UNF-2A
la—75

278 PLUS 1.56 FOR
EACH 1.00 OF STROKE*

.38 |-
5/8-18 UNF-2A

Mounting Style P
Single Acting

Spring Return

Rear Pivot Mounting

Stainless Steel Rod Standard

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessories:
R432007813 Pivot Bracket
R432007808 Rod Clevis

2.94 PLUS 1.56 FOR

" EACH 1.00 OF STROKE*
[.62-> 624 DIA. PILOT
12 1/8 NPTFY 112
"‘50+ »‘ 09 34—»‘ f— - 75—
j— I | ;
312 DIA. ‘ o — - ©— 250 PIN
f | ¥ o M
5/16-24 UNF-2A / \—5/8-18 UNF-2A_J —-|.38
.25 WRENCH FLATS 62 = 5/8-18 UNF-2A
le— 2,66 PLUS 1.56 FOR  _,.

EACH 1.00 OF STROKE*

Mounting Style R
Single Acting
Spring Extend
Front Nose Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007833 Foot Bracket

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

312 D|A.J%
5/16-24 UNF-2A
.25 WRENCH FLATS
5/8-18 MOUNTING NUT

--—————

2.62 PLUS 2.81 FOR
EACH 1.00 OF STROKE*

¥

gt

g

\
—o-
\

\

1

|
SOL—

1.06

.62 PLUS STROKE
rso_, ["12 oL« 09,624 DIA. PILOT
-

\-1/8 NPTF

NOTE: Piston rod is available w/o wrench flat (at no extra charge). Specify when ordering.

18




Series M Mini Cylinders

1-1/16" Bore Size / Single and Double Acting

Q
AVENTICS

Mounting Style RP
Single Acting
Spring Extend
Stainless Steel Rod Standard
Standard Stroke Lengths:

" 1" 11" 2", 3", 4"
Maximum Stroke 6"
Optional Accessories:

R432007813 Pivot Bracket
R432007808 Rod Clevis

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

1

.312 DIA.

5/16-24 UNF-2A
.25 WRENCH FLATS

NOTE: Piston rod is available w/o
wrench flat (at no extra charge).
Specify when ordering.

t

50> |=.12

"/

l«— 3.06 PLUS 2.81 FOR
EACH 1.00 OF STROKE*

.62 PLUS STROKE

—»‘ oj.)/—624 DIA. PILOT ‘

—a—

1/8 NPTF
5/8-18 UNF-2A

e 2.78PLUS 2.81 FOR
EACH 1.00 OF STROKE

—>

— {}].wiﬂ

—.38

Mounting Style D

Double Acting
Front Nose Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths:
1/2||, 1||’ 11/2||, 2||’ 21/2||’ 3||’ 4||’
5II, 6II1 8II, 1OII, 12"
Maximum Stroke 12"

Optional Accessory:
R432007833 Foot Bracket

NOTE: Piston rod is available w/o
wrench flat (at no extra charge).
Specify when ordering.

.312 DIA.
5/16-24 UNF-2A
.25 WRENCH FLATS

62—

12 -

09
™ ~624 DIA. PILOT

—j

f«——3.25 PLUS STROKE ——

.19

‘4-.50->

1/8 NPTF

/|

5/8-18
MOUNTING NUT

Mounting Style DP

Double Acting
Rear Pivot Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths:
1/2“’ 1II’ 11/2"1 2II’ 21/2", 3II1 4II,
5II, 6II, 8II’ 1OII’ 12"
Maximum Stroke 32"
Optional Accessories:
R432007813 Pivot Bracket
R432007808 Rod Clevis

< 4.12PLUS STROKE —™™™

12+
r50—>
312 DIA
5/16-24 UNF oA

.25 WRENCH FLATS

 /

5/8-18 UNF-2A

62—
.624 DIA. PILOT
- ‘_'OV —1/8 NPTF -34 —*‘ -
/ [
; - —ftfFo -
<—-1.19—-L 62 |-

‘— 3.84 PLUS STROKE—*

5/8-18 UNF-2A

Mounting Style DXP
Double Acting

Double End or Rear Pivot Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: /2",
3II, 4II, 5II’ 6II, 8II, 1OII’ 12"

Strokes over 12" must be supported at both ends

Maximum Stroke 32"
Optional Accessories:
R432007833 Foot Bracket
R432007808 Rod Clevis
R432007817 Pivot Bracket with Pin

1 142" 27, 212",

.312 DIA.
_*7

5/16-24 UNF-2A
.25 WRENCH FLATS

12 |

Hak
"

5/8-
MOUNTING NUT

fe————4.12 PLUS STROKE ———|

(62—

r=.09

.34
—.624 DIA. PILOT

.09 —"
=i

i

<—1.19J

——— 3.84 PLUS STROKE——™

1/8 NPTF  —

—

.62

Vo PIN | 38

\

5/8-18 MOUNTING NUT

Mounting Style KDX
Double Acting

Double End Mounting — Double Rod

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4",

Maximum Stroke 12"

Optional Accessory:
R432007833 Foot Bracket

-62—

12—

.312 DIA.

5/16-24 UNF-2A:
.25 WRENCH FLATS

5/8-18 MOUNTING NUT

19

se [T

—".56
1.19—|

4.00 PLUS 2 TIMES STROKE —————

2.75 PLUS STROKE —= .62 PLUS STROKE
09,624 DIA. PILOT 09 —>’<» 12—=| le50> r q2—
7 5/16-24 UNF-2A

1/8 NPTF 56
1.06—

R

.25 WRENCH FLATS

5/8-18 MOUNTING NUT




Series M Mini Cylinders

1-1/16" Bore Size / Double Acting and Adjustable Stroke Single Acting

Mounting Style KDH

Double Acting

Double End Mounting

Double Hollow Rod

Standard Stroke Lengths: 1", 2",
3", 4" 5" 6"

Maximum Stroke 12"

.312 DIA.

S0

5/16-24 UNF-2A
.25 WRENCH FLATS
Optional Accessory:
R432007833 Foot Bracket

12—

B L
‘fSO—» A-F—_og .624 DIA. PILOT 01‘- .1zj

\— 1/ NPTE _,L%‘_
1.06

5/8-18 MOUNTING NUT —/

-62

—

~—— 400PLUS2TIMES STROKE — ™
~—— 2.75 PLUS STROKE

—1.19—

50

Q
AVENTICS

.25 WRENCH FLATS
5/8-18 MOUNTING NUT

.62 PLUS STROKE

.187 DIA. HOLE
THRU PISTON ROD

Mounting Style A

Adjustable Stroke — Single Acting
Spring Return — Double End Mounting
Stainless Steel Rod Standard

Stroke Adjustment in 1" Increments to 3"
1" Stroke Adjusts 0"-1", 2"

Stroke 1"-2", and 3" Stroke 2"-3"
Maximum Stroke 6"

Includes Mtg. Brackets

".50
1

312 DIA.

5/16-24 UNF-2A— 7
.25 WRENCH

FLATS X .12 WIDE

—

=25

fot————,

r«1.25-»]

.44 —=

f————————————

.50 WRENCH FLATS
BRASS BEARING AND STROKE ADJUSTER

2.38

3.63" PLUS 1.56" FOR

EACH 1.00" OF STROKE

4 SLOTS FOR .250

a1 MOUNTING BOLTS ﬁl’_'

M

.32" PLUS 1.56" FOR
EACH 1.00" OF STROKE

NOTE: Piston rod is available w/o wrench flat (at no extra charge). Specify when ordering.

.50 1.

Mounting Style RA

Adjustable Stroke — Single Acting
Spring Extend — Nose Mounting

4.03" PLUS 2.56" FOR

Stainless Steel Rod Standard
Stroke Adjustment in 1" Increments to 3"

EACH 1.00" OF STROKE

.50" PLUS STROKE

1.00 ADJUSTMENT

1" Stroke Adjusts 0"-1", 2" 12-= 504+— 112
Stroke 1"-2", and 3" Stroke 2"-3" 50— ﬂ .09 624 DIA. PILOT '
Maximum Stroke 6" i M)
Spring Load Normal 3 Ibs. _31j—2 i il @‘3_ _ o e -
Spring Load Retracted 6 Ibs. B4 ‘ bt !
Optional Accessory: 5/16-24 UNF-2A N ) -
R432007833 Foot Bracket 25 WRENCH FLATS SO BNPTE s WRENGS FaTs
NOTE: Piston rod is available MOUNTING NUT
w/o wrench flat (at no extra charge). 5/8-18 MOUNTING NUT STROKE ADJUSTER
Specify when ordering.
Mounting Style AP
Adjustable Stroke — Single Acting 425" PLUS 1.56' FOR
Spring Return — Rear Pivot Mounting EACH 1.00" OF STROKE 12—
Staln|eSS Steel ROd Standard |50 |= 12 BRASS BEARING AND 34_»\ e le—75-
Stroke Adjustment in 1" Increments to 3" STROKE ADJUSTER -
1" Stroke Adjusts 0"-1", 2" R 2 S . ‘ PN i PR
Stroke 1||_2||, and 3" Stroke 2"-3" .31% - ¢ - (O ‘G)f .250 PIN—{{—+
Maximum Stroke 6 5/16-24 UNF-2A 50 WRENCH FLATS | 38
Optional Accessories: -25 WRENCH FLATS VBNPTE~ | 65 1+ \_ 5518 UNF2A
R432007813 Pivot Bracket 25— 1.00 ADJUSTMENT

: 3.97" PLUS 1.56" FOR
R432007808 Rod Clevis —————— EACH 1.00" OF STROKE ——*1

NOTE: Piston rod is available
w/o wrench flat (at no extra charge).
Specify when ordering.

20




Series M Mini Cylinders - Block Mounted

1-1/16" Bore Size / Single and Double Acting

Q
AVENTICS

H *To determine lengths for half
Mountlng Style BRN inch stroke increments, determine
Single Acting length for next highest whole number
Spring Return stroke and subtract a half inch.
Rear Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

|la—— 2.81 PLUS 1.81 FOR

25 —»\

EACH 1.00 OF STROKE”
[=—88
.
118 NPTF 1
| 44 [
\«75» ‘ 624 DIA. PILOK
\
112 312 DIA‘ # o- - \>)f -
DIA. - - \ D
\

5/16-24 UNF-2A

.25 WRENCH FLATS

1.25

2

5/8-18 UNF-2A

#10-32 UNF-2B
2 HOLES ON A
1.25 DIA. BOLT CIRCLE

H *To determine lengths for half
Mountlng Style BRR inch stroke increments, determine
Single Acting length for next highest whole number
Spring Extend stroke and subtract one inch.

Rear Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

.38 PLUS STROKE

EACH 1

09

3.53 PLUS 2.81 FOR -
.00 OF STROKE*

88 PLUS STROKE

‘f75+

624 DIA. PILOT
18 NPTF

—

.254‘

b |y )
i E@%%ﬁ

N ——|
3]

—o—

5/16-24 UNF-2A
.25 WRENCH FLATS

5/8-18 UNF-2A

:

s

#10 32 UNF-; 2
HOLES ON

|
"k
7

B

1 25 DIA. BOLT CIRCLE

Mounting Style BFD

Double Acting

Front Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3" 4", 5", 6"
Maximum Stroke 12"

[+——3.75 PLUS STROKE

#10-32 UNF-2B 47—t 41—
2 HOLES ON A e pip
1.25DIA. BOLT CIRCLE ™| [*f
=093 81
312 |75 - 1
'y DlA. F w
¥ iR
.750 ra 112
DIA. —{DH - 88 DIA.
1 o) N !

Gzt
116—>

1/8 NPTF

HOLES DRILLED & C'BORED
32 CAP SCREWS.

OR #10-.
-25 WRENCH FLATS 1/4 20 UNC-2B OPPOSITE SIDE
5/16-24 UNF-2A

Mounting Style BRD

Double Acting

Rear Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 12"

{=-.09

by
Bi 312DIAf
| }

.624 DIA. PILOT

[+—————— 4.00 PLUS STROKE ————|

IE

1/8 NPTF N

1.

i
iu’ 7

5/16-24 UNF-2A

25 WRENCH FLATS
5/8-18 UNF-2A —/"

ft—1 44—

#10-32 UNF-2l

B

2 HOLESON A
1.25 DIA. BOLT CIRCLE

H *To determine lengths for half
Mountlng Style BFN inch stroke increments, determine
Single Acting length for next highest whole number
Spring Return stroke and subtract a half inch.
Front Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

A

5
7N
219

- 3.38 PLUS 1.81 FOR .
EACH 1.00 OF STROKE*
#10 32E%Ng&22 a7 141
25 DIA. BOLT CIRCLE | %—.25
(+-093 .81
312 .75»ﬁ \ s
DlA. @ T i p—
750 HHL‘( ! b - ! 12
DIA. I g -{18 DIA.
v o) -
P 118 NPTF

-

1

254"

2 HOLES DRILLED & C'BORED

R #10-32

CAP SCREWS.

FO
.25 WRENCH FLATS 1/4-20 UNC-2B OPPOSITE SIDE
5/16-24 UNF-2A

*To determine lengths for half
inch stroke increments, determine

Mounting Style BFR

Single Acting length for next highest whole number
Spring Extend stroke and subtract one inch.
Front Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

21

#10-32 UNF-2B
2 HOLES ON A

e 3.12PLUS 2.81 FOR

EACH 1.00 OF STROKE*
A7 PLUS STROKE 1.41—>
25— -
1.25 DIA. BOLT CIRCLE —|=-.093 81
312}=-75-> ‘ Ll
_ DIA] N
(COM o A
5 ary N6 nnnnnn [ Ban ||| N S 142
Qy DIA. LU pNg i DIA.
i N |

.25 WRENCH FLATS

5/16-24 UNF-2A

\—— U8 NPTF

2 HOLES DRILLED & C'BORED

FOR #10-32
1/4-20 UNC-2B OPP

CAP SCREWS.

OSITE SIDE




Series M Mini Cylinders - Trunnion Mounted

1-1/16" Bore Size / Single and Double Acting

i * To determine lengths for half
N_Iountlng Style TRN inch stroke increments, determine
Slngle ACtII’Ig length for next highest whole number

stroke and subtract a half inch.

Spring Return

Rear Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

8
AVENTICS®
2.81 PLUS 1.81 FOR EACH 1.00 OF STROKE*
88
w09 Lo
38— |=—.500 DIA.
1/8 NPTF
—| .75
’7524 DIA. PILOT
[ ‘
1 ! ity
312 DIA- H T —_ - +—— 125 200
1.12 DIA. l
5/16-24 UNF-2A / 5/8-18 UNF-2A ;8
.25 WRENCH FLATS ‘ 1.25 :

|
2.44 PLUS 1.81 FOR EACH 1.00 OF STROKE*

H *To determine lengths for half
N_Iountlng Style TRR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch.

Spring Extend

3.53 PLUS 2.81 FOR EACH 1.00 OF STROKE*

.38 PLUS STROKE

312 DIA:

.88 PLUS STROKE
(.09

.624 DIA. PILOT

S
25—+ ‘f
[ 1

500 DIA.

‘

-

4 i 75 ‘4_, 1/8 NPTF

Rear Trunnion Mounting N 7 % lj

Stainless Steel Rod Standard 11261 o 5 t—1 12520

Standard Stroke Lengths: 1", 2", 3", 4" |t/ ~1 | ‘ % n l

Maximum StI‘Oke 6" L‘S/S-IB UNF-2A ;’:ji
:S\‘j\;:;::;itATS ;'315 PLU‘S 2.81 FOR EACH 1.00 OF STROKE* ! 125 ®

- 3.75 PLUS STROKE
Mounting Style TFD
Double ACtlng 1500 DIA- - %) 095 - ’
Front Trunnion Mounting h‘ ‘ | 75 |~
Stainless Steel Rod Standard — L on [ e
Standard Stroke Lengths: 1", 2", 3" 4", 5", 6" 200 Z AT oy B e 1120
Maximum Stroke 12" J 1] N2 B g K

Il 750 DIA. il -
38 125 / 1.09 ‘ S 1BNPTF

5/16-24 UNF-2A__ .25 WRENCH FLATS
Mounting Style TRD [ 4.00 PLUS STROKE
Double Actlng 38 | e ’ =500 DIA
Rear Trunnion Mounting - 7 { FWD‘A' e e 1]
Stainless Steel Rod Standard B IVA : I —
Standard Stroke Lengths: 1", 2", 3", 4" oo = %@ ) RIS | ,L oo
Maximum Stroke 12 srdom L L | l

/ 144& 5/8-18 UNF-2A I

:5/1‘2;2:‘)2: ffﬁﬂs 3.62 PLUS STROKE 125 ]

- * TO determine |e|’lgthS fOr half 3.38 PLUS 1.81 FOR EACH 1.00 OF STROKE*
Mountlng Style TFN inch stroke increments, determine 1.41 .
Single Acting length for next highest whole number woonel - i *
Spring Return stroke and subtract a half inch. ’ ) ‘ %*-“93

) . Il - 75 Fj
Fropt Trunnion Mounting 1 T o S
Stainless Steel Rod Standard 2o 1be LAY %M{ ! a0 1120
Standard Stroke Lengths: 1", 2", 3", 4" J | NIA L A ! N+
Maximum Stroke 6" & T | 7sooia il
125 1.09 1/8 NPTF
5/16-24 UNF-2A— .25 WRENCH FLATS

- * TO determine |engths for half 3.12 PLUS 2.81 FOR EACH 1.00 OF STROKE*
Mountlng Style TFR inch stroke increments, determine 1.41
Single Acting length for next highest whole number +:070I;L;S STROKE
Spring Extend stroke and subtract one inch. *‘ ' N +“ 0%

Front Trunnion Mounting ] - *‘”’" S

Stainless Steel Rod Standard o I i M@E ] N ! ﬂ\ ‘_‘Im

Standard Stroke Lengths: 1", 2", 3", 4" 1 Tl R | !
— | o

Maximum Stroke 6"

22

w
2|

1.25

J

750 DIA.
P
1.09 PLUS STROKE
.25 WRENCH FLATS

5/16-24 UNF-2A }‘71 16

1/8 NPTF




Series M Mini Cylinders

1-1/4" Bore Size / Single Acting

Q
AVENTICS

H *To determine lengths for half
Mountlng Style N inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Nose Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 6"

.38 WRENCH FLATS

Optional Accessory:
R432007834 Foot Bracket

<_2755_> rﬂ 09 - 2
.437JW ‘ : T:e -
L e

7/16-20 UNF-2A.

2.66 PLUS
1.81 FOR EACH
1.00 OF STROKE*
=88

\—.749 DIA. PILOT
3/4-16 MOUNTING NUT

i * To determine lengths for half
Mountlng Style NR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Nose Mounting
Non-Rotating Hex Rod
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007834 Foot Bracket

IR

437 DIA:

=

7/16-20 UNF-2A.

2.66 PLUS
~— 1.81 FOR EACH
1.00 OF STROKE*

-25

~—09 —>‘

-1

A

\—.749 DIA. PILOT

7/16 HE

3/4-16 MOUNTING NUT

: *To determine lengths for half inch stroke increments, determine length for
MOuntlng Style NRP next highest whole number stroke and subtract a half inch.
Single Acting 378 PLUS 1.81 FOR__
Sprlng Return EACH 1.00 OF STROKE o 41
——‘4—.09 /—.749 DIA. PILOT—\ 09— |-
|

25—

Non-Rotating Hex Rod

Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

Optional Accessories:

R432007834 Foot Bracket

R432007809 Rod Clevis

R432007818 Pivot Bracket with Pin

Double End or Rear Pivot Mounting <88 ‘

.437 DIA.

=

-

I

3/4-16 UNF-,

7/16-20 UNF-2A /
/«—.88 2A e NeTF— | 78
716 HEX— |«—  338PLUS181FOR __

EACH 1

.251 DIA. PIVOT PIN HOLE

.00 OF STROKE* 3/4-16 MOUNTING NUT

H *To determine lengths for half 3.78 PLUS 1.81 FOR
Mountlng Style P inch stroke increments, determine EACH 1.00 OF STROKE*
Single Acting length for next highest whole number 88—+
Spring Return stroke and subtract a half inch. =09 | A 1.34—>
Double End or Rear Pivot Mounting 75> DA 097

L 25 —»| / \
Stainless Steel Rod Standard . ) ]
Standard Stroke Lengths: 1%, 2", 3", 4" 437 DIA. & 7
Maximum Stroke 6" I 4] "
Optional Accessories: 7/16-20 UNF-2A 1/8 NPTF—/
R432007834 Foot Bracket .38 WRENCH FLATS —

R432007809 Rod Clevis
R432007818 Pivot Bracket with Pin

3/4-16 MOUNTING NUT

3.38 PLUS 1.81 FOR
EACH 1.00 OF STROKE*

\\ //
\ .251 DIA. PIVOT PIN HOLE
3/4-16 MOUNTING NUT

Mounting Style R * To determine lengths for half
S inch stroke increments, determine

ingle Actin length for next highest whole number - 347PLUS281FOR
Spr%g Extencgj stroke and subtract one inch. EACH 1.00 OF STROKE 134

. .88 PLUS STROKE ~ -
Fro!'lt Nose Mounting 75+] |25 —=|le-09 ~ 749 DIA PILOT
Stainless Steel Rod Standard
Standard Stroke Lengths: 1%, 2", 3", 4" ! 1 <_H |
Maximum Stroke 6" AS7DIA- L - o=
7/16-20 UNF-2A )

Optional Accessory:
R432007834 Foot Bracket

23

.38 WRENCH FLATS
3/4-16 MOUNTING NUT

- .62

1.38—

R

\—1/8 NPTF




Series M Mini Cylinders

1-1/4" Bore Size / Single and Double Acting

Q
AVENTICS

Mounting Style RP
Single Acting

Spring Extend

Rear Pivot Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2"
Maximum Stroke 6"

Optional Accessories:
R432007834 Foot Bracket
R432007809 Rod Clevis
R432007818 Pivot Bracket with Pin

4.16 PLUS 2.81 FOR

2.47 PLUS 1.81
.88 PLUS STROKE

OF STROKE*

EACH 1.00 OF STROKE*

FOR EACH 1.00 —*.
.09

-

—1.34

—6—

(09 _ 749 DIA.

rm* 25 ‘ __ PILOT
T - i
;-\_u:

437 D|A.ﬁ% -3
3||, 4|| * Q_H il
7/16-20 UNF-2A / 62 |- \—1/8 NPTF
.38 WRENCH FLATS 138—

le— 3.78 PLUS 2.81 FOR
EACH 1.00 OF STROKE*

I\

.251 DIA. PIVOT PIN HOLE
3/4-16 MOUNTING NUT

* To determine lengths for half inch stroke increments, determine length for

next highest whole number stroke and subtract one inch.

Mounting Style D
Double Acting
Front Nose Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths:

1", 2" 3" 4" 5" 6"
Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

09

4.00 PLUS STROKE —™

g
—.749 DIA. PILOT

7/16-20 UNF-2A
.38 WRENCH FLATS

1/8
3/4-16
MOUN

NPTF
TING NUT

Mounting Style DXP
Double Acting

Double End or Rear Pivot Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2",
5II, 6“, 7II, 8II’ 10"’ 12"

Strokes over 12" must be supported at both ends

Maximum Stroke 32"
Optional Accessories:
R432007834 Foot Bracket
R432007809 Rod Clevis
R432007818 Pivot Bracket with Pin

fe—5.12 PLUS STROKE

—

75—

'0? 749 DIA. PILOT

_ -

- 1.34—=

41—

e

.88
[‘25
—»\ f-—
i

|

n n
3 ’ 4 ’ AN
437 DIA, - - d} -
t A
p-
7/16-20 UNF-2A / 18 NPTF —/
—/ .88 - .78

.38 WRENCH FLATS
-16

3/4 [+—162
MOUNTING NUT

fe———— 472 PLUS STROKE—*>

3/4-16 MOUNTING NUT

Mounting Style KDX

Double Acting

Double End Mounting

Double Rod

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2",
3" 4" 5" 6"

Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

5.56 PLUS 2 TIMES STROKE ——™

.88 PLUS STROKE

75

3.81 PLUS STROKE
25—
r75 —»|(=-09,~749 DIA. PILOT ~ 09 *F» .25 |
437 DIA. - - ?I
7/16-20 UNF-2A \_
.38 WRENCH FLATS HENPTF 78
1.38—

3/4-16 MOUNTING NUT

/
A4
7/16-20 UNF-2A
.38 WRENCH FLATS

3/4-16 MOUNTING NUT

Mounting Style KDH

Double Acting

Double End Mounting

Double Hollow Rod

Standard Stroke Lengths: 1", 2",
3" 4" 5" 6"

Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

5.56 PLUS 2 TIMES STROKE —————

f+<— 3.81 PLUS STROKE

l-09,~749 DIA. PILOT —~_09 —

o

.25 —|

o

‘

437 DIA, - 7 -
7/16-20 UNF-2A N
1/8 NPTF
38 WRENCH FLATS ~|75 75
1.62—= 1.38—=

3/4-16 MOUNTING NUT

24

.88 PLUS STROKE

75>

7/16-20 UNF-2A

-38 WRENCH__ .250 DIA. HOLE
FLATS THRU PISTON ROD

3/4-16 MOUNTING NUT




Series M Mini Cylinders

1-1/2" Bore Size / Single Acting

Q
AVENTICS

2.44 PLUS

Mounting Style N inch sioke imcrerments, determine 1180 S STRORE:
Single Acting length for next highest whole number 25 ) -88->

Spring Return stroke and subtract a half inch. '75 [‘ 09 __‘ 5
Front Nose Mounting “' W

Stainless Steel Rod Standard _437jw ! e L"
Standard Stroke Lengths: /2", 1", 2", 3", 4" f j\‘ ,JJ
Maximum Stroke 6" 7/16-20 UNF-2A

Optional Accessory:
R432007834 Foot Bracket

.38 WRENCH FLATS

-749 DIA. PILOT
3/4-16 MOUNTING NUT

H * To determine lengths for half 2.56 PLUS
N_Iountlng Style NR inch stroke increments, determine 4_110%96:,951—%%%']';
Single Acting length for next highest whole number 100
Spring Return stroke and subtract a half inch. .38
.09 .25
Front Nose Mounting "-88 rj ]
Non-Rotating Hex Rod 437jm 4y L"
Standard Stroke Lengths: /2", 1", 2", 3", 4" B JJ ,Jj
Maximum Stroke 6" 7/16-20 UNF-2A
Optional Accessory: 716 HEX .749 DIA. PILOT
R432007834 Foot Bracket 3/4-16 MOUNTING NUT
i *To determine lengths for half
N.Iountlng Style NRP inch stroke increments, determine <—E£é3ﬁ f%,‘é%}%%ﬁ%ﬁg — ™ a1 5
Single Acting length for next highest whole number 49 DIA PILOT —=|.50|= .
Spring Return stroke and subtract a half inch. -?*’38" F"‘ =09 i ' 1.00
.38
Rear Pivot Mounting 1
: i AN y
Non-Rotating Hex Rod D M =1 - DO~ | S5PW
Standard Stroke Lengths: 1", 2", 3" 4" 716.20 UNF-2A g
Maximum Stroke 6" /4_1,00ﬁL w16 UNF2A e /e e 2=
Optional Accessories: R432007814 Pivot Bracket 716 HEX —————_32sPLUS 1eaFOR .
R432007809 Rod Clevis ’
H *To determine lengths for half
N_Iountlng Style P inch stroke increments, determine '—EAagﬁ %%SOLGSQTE%ﬁE* 1.5
Single Acting length for next highest whole number 88— 749 DIA. —=|.50[~ 10
Spring Return stroke and subtract a half inch. "2755 F" =09/~ piloT ‘ ’
Rear Pivot Mounting ‘ ANk
Stainless Steel Rod Standard "”ﬂDi 2 AR R S
- 1/n n n n n
Standard Stroke Le"ngths. 1% 2" 3% 4 7116-20 UNF-2A N sias ONF R =~
Maximum Stroke 6 38 WRENCH FLATS 1/8 NPTF 81 e
Optional Accessories: R432007814 Pivot Bracket 3.12PLUS 1.69 FOR  —»
EACH 1.00 OF STROKE*
R432007809 Rod Clevis
H *To determine lengths for half
N_Iountlng Style R inch stroke increments, determine E/i"Cﬁ ?%%S()?:%QFE%?(E‘ -
Single Acting length for next highest whole number 88 PLUS STROKE 156
Spring Extend stroke and subtract one inch. 105—» |25 _,\ l«.09 —749 DIA. PILOT
Front Nose Mounting : SR
Stainless Steel Rod Standard 437 DIA, T@; & 88 Fan
R | <+
Standard Stroke Lengths: 1", 2", 3", 4" I i I
Maximum Stroke 6" 7620 UNF2A 6 | | TVBNPTE 25 [ 118 NPTF
Optional Accessory: " 3/4-16 MOUNTING NUT 1 25
R432007834 Foot Bracket
H *To determine lengths for half le— 425PLUS3.00FOR ___
N_Iountlng Style RP inch stroke increments, determine EACH 1.00 OF STROKE" 1.56—
Single Acting length for next highest whole number 88 PLUS STROKE - 1001
Spring Extend stroke and subtract one inch. rtzs—: %25 "‘ 09 /749 DIA. PILOT :
Rear Pivot Mounting . b 1A A '
Stainless Steel Rod Standard 4STDIA- X |z D e
. n n n n
Standard Stroke Le"ngths. 1%, 2" 34 7116-20 UNF-2A / L- Ry
Maximum Stroke 6 38 WRENCH FLATS 62 1/8 NPTF — 81 |-
Optional Accessories: R432007814 Pivot Bracket 8/4-16 UNF-2A 7 1.25—»]
R432007809 Rod Clevis le—— 3.88PLUS3.00FOR ——»
EACH 1.00 OF STROKE*

25




Series M Mini Cylinders

1-1/2" Bore Size/ Double Acting

Q
AVENTICS

Mounting Style D

Double Acting

Front Nose Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: /2", 1", 2", 3",
4" 5" 6" 8", 10", 12"

Maximum Stroke 12"

Optional Accessory:

R432007834 Foot Bracket

f¢+——38.69 PLUS STROKE ——*|

7/16-20 UNF-2A
.38 WRENCH FLATS

e gg
257
-+|*09 ﬂ -
75— 749 DIA. PILOT
437 DIA. 14 ﬁj - —T
f s\ Bl

1/8 NPTF

3/4-16
MOUNTING NUT

Mounting Style DP +——————4.75 PLUS STROKE —————
Double Acting o T olee =0 -
Rear Pivot Mounting ﬁ;ﬁ ﬁ [Fog/— 740 DIA PLOT | T
Stainless Steel Rod Standard 437J'K f\ - j; Fal T
Standard Stroke Lengths: 1", 2", 3", 4", Y J&( W

5" 6" 8" 10", 12" 7/16-20 UNF-ZAJ Jj
Maximum Stroke 12" sBWAg II‘-?('S-{[’J:héTZSA—/ 1/8 NPTF 81
Optional Accessories: R432007814 Pivot Bracket ~ 1507
R432007809 Rod Clevis < 4.38PLUS STROKE ——]
Mounting Style DX
DOUbIe ACting 4.50 PLUS STROKE
DOl.Jble End Mounting 887" 3.00 PLUS STROKE —™]
Stainless Steel Rod Standard 25— =

Standard Stroke Lengths: 1", 2", 3" 4",

5II’ 6II’ 8II, 10II’ 12"
Strokes over 12" must be supported at both ends
Maximum Stroke 32"

Optional Accessory:
R432007834 Foot Bracket

7/16-20 UNF-2A

.38 WRENCH FLATS
3/4-16 MOUNTING NUT

.

Mounting Style DXP

Double Acting

Double End Mounting

Stainless Steel Rod Standard

Strokes over 12" must be supported at both ends
Maximum Stroke 32"

Optional Accessories: R432007834 Foot Bracket

R432007819 Pivot Bracket with Pin
R432007809 Rod Clevis

- 2 .soq [~

| | e

78 Tﬁ'%ﬂg DIA. PILOT 097 r

437 DIA. %\ - - I i

LY T Vil
7/16-20 UNF-2A / aNPTF —
.38 WRENCH FLATS 88 —~1 81
o 3/4»166/4——1.5
MOUNTING NUT
4.63 PLUS STROKE

500 PLUS STROKE — ™

3/4-16 MOUNTING NUT

Mounting Style KDX

Double Acting

Double End Mounting

Double Rod

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"

Maximum Stroke 12"
Optional Accessory:
R432007834 Foot Bracket

757"
s
.43Tj s It

7/16-20 UNF-2A
.38 WRENCH FLATS

3/4-16 MOUNTING NUT

887"
257>
.09

/.

* 5.12 PLUS 2 TIMES STROKE >
3.38 PLUS STROKE

.749 DIA. PILOT \Qg

Sl

o
Vo

o

1/8 NPTF

]

62 ‘*

M1.257™

\.38 WRENCH FLATS
3/4-16 MOUNTING NUT

[.88 PLUS STROKE

711620 UNF-2A

Mounting Style KDH

Double Acting

Double End Mounting

Double Hollow Rod

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"
Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

257

/|

.38 WRENCH FLATS

3/4-16 MOUNTING NUT _/

26

~.887"

“—1.50

5.12 PLUS 2 TIMES STROKE >

=~ 3.38 PLUS STROKE —™ .88 PLUS STROKE
09/~ 749 DIA. PILOT g r o5+ 178 1 56—
[/

7\
ﬁ'@é \

o)

-

Ry
o

o 1/8 NPTF

\gi

\
,
L 7/16-20 UNF-2A
—= .62
.250 DIA. HOLE
=125 i:szVTVSRENCHTHRu PISTON ROD

3/4-16 MOUNTING NUT




Series M Mini Cylinders
1-1/2" Bore Size / Single Acting Adjustable Stroke HVENTlCSm

Mounting Style A BRASS BEARING AND STROKE ADJUSTER
Adjustable Stroke — Single Acting o 1y SLOTS FOR 20 MOUNTING BOLTS
Spring Return r i

Double End Mounting ioooeaoes j - “H{@ AL
Stainless Steel Rod Standard T e

Stroke Adjustment in 1" Increments to 3"; 1" Stroke  7/16-20 UNF-2a : _ﬁi [

Adjusts 0"-1", 2" Stroke 1"-2", and 3" Stroke 2"-3" 125 bvrn
Maximum Stroke 6" 10— 19" PLUS 2.00" FOR

Includes Mtg. Brackets 2% EACH 1.00" OF STROKE

Spring Load Normal 9 Ibs. " ” 8 NPT
Spring Load Extended 18 Ibs. 48 WRENGH FLATS \<—E‘,§-80H PLUS 200 FOR —————

.43#% L p— _ _ HT

f | —— g 178
!

i

.62 WRENCH FLATS ‘ r—rrl—’
Mounting Style RA
Adjustable Stroke — Single Acting ) )
Spring Extend EAGH 160" OF STROKE
Nose Mounting
Stainless Steel Rod Standard 88 PLUS STROKE
Stroke Adjustment in 1" Increments
to 3"; 1" Stroke Adjusts 0"-1", 2" - 25 62 ‘ TOOADJUSTMENT
Stroke 1"-2", and 3" Stroke 2"-3" =1.25— r ﬂ«-.og /—749 DIA. PILOT ’ T
Maximum Stroke 6" { :}ﬂ |
437 DIA. | - - fl} -0 -t
Nt | '
17 v P 3
7/16-20 UNF-2A -
.38 WRENCH FLATS e e VENPTE 3/4-16 WRENCH FLATS
. MOUNTING NUT

. 3/4-16 MOUNTING NUT
Optional Accessory: STROKE ADJUSTER

R432007834 Foot Bracket

Mounting Style AP
Adjustable Stroke — Single Acting 4.69" PLUS 2.00" FOR
Spring Return ™ EACH 1.00" OF STROKE .
Rear Pivot Mounting 75| |=25 BRASS BEARING AND '
Stainless Steel Rod Standard / STROKE ADJUSTER - 100>
Stroke Adjustment in 1" Increments | I N ) T 1= Y

to 3"; 1" Stroke Adjusts 0"-1", 2" Stroke 1"-2", 437 DIA. hi ¢ -——HHH ()}.375*PIN}f

and 3" Stroke 2"-3" Voo A

i " 7/16-20 UNF-2A

Ma)_(lmum Stroke 6 38 WRENCH FLATS 62 WRENC|-1|/F8L'\AI\FT7$F | 62
Spr!ng Load Normal 9 Ibs. 3/4-16 MOUNTING NUT 100 ADJUSTMENT — 81 |-
Spring Load Extended 18 Ibs. 4.31" PLUS 2.00" FOR
Optional Accessories: M EACH1.00" OF STROKE — ™1
R432007834 Pivot Bracket s

R432007809 Rod Clevis

Notes:

27




Series M Mini Cylinders - Block Mounted

1-1/2" Bore Size / Single and Double Acting

Q
AVENTICS

H *To determine lengths for half fe—— 306 PLUS 2.00FOR
Mou ntlng Style BRN inch stroke increments, determine 85> FACH 1,00 OF STROKE
Single Acting length for next highest whole number | 25 4 NPTE 175
Spring Return stroke and subtract a half inch. 25— *‘“03 45 DA PILOK {62 [ r ‘
Rear Block Mounting v Jmiing N #
Stainless Steel Rod Standard 1,86 437 DIA: — o - O - 175
Standard Stroke Lengths: 1", 2", 3", 4" SR

7/16-20 UNF-2A

. n
Maximum Stroke 6 38 WRENCH FLATS

3/4-16 UNF-2A /
1/4-20 UNC-2B

2 HOLES ON A

1.75 DIA. BOLT CIRCLE

3.88 PLUS 3.00 FOR -]
EACH 1.00 OF STROKE*

[~

r1 .75—>‘

i * To determine lengths for half
Mountlng Style BRR inch stroke increments, determine
Single Acting length for next highest whole number 25 PLUS STROKE
; stroke and subtract one inch. i
Spring Extend ' 125
Rear Block Mounting

Stainless Steel Rod Standard |

Standard Stroke Lengths: 1", 2", 3", 4"

1.56

DIA. 437 DIA.

el

88 PLUS STROKE
09 749 DIA. PILOT
25
r 1/4 NPTF

3

:

L=

Maximum Stroke 6" 7/16-20 UNF-2A

.38 WRENCH FLATS

3/4-16 UNF-2A

| i
L | IG%

/

1/4-20 UNC-2B
2HOLES ON A
1.75 DIA. BOLT CIRCLE

Mounting Style BFD 1420 UNG.25 el g e PO STROKE

Double Acting §70bA 804 circLe

Front Block Mounting . 128 112 - |2

Stainless Steel Rod Standard T PN\E! " o1 | =

Standard Stroke Lengths: 1", 2", 3" 4", 5" 6" 175 \@/ bix @ - ; fEsf’/?.

Maximum Stroke 12" ! vt ot ) .
“-1 -75—’] o8 t1_53_> 2 HOLES DgTL’;‘_EI)F& C'BORED

FOR 1/4-20 CAP SCREWS.
-38 WRENCH FLATS 5/16-18 UNC-2B OPPOSITE SIDE
7/16-20 UNF-2A

[4——— 4.38 PLUS STROKE ——*|

Mounting Style BRD
Double Acting 25|
Rear Block Mounting (w250

Stainless Steel Rod Standard

437 DIA
t

Standard Stroke Lengths: 1", 2", 3 4", 5", 6"
Maximum Stroke 12"

1.56
DIA.

7/16-20 UNF-2A
.38 WRENCH FLATS

3/4-16 UNF-2A —/

88
r*‘ 09 —749DIA PILOT |62 [+ ‘k1-754‘
- V4NPTF — -

i S

: ‘ JI() - - O - 1.75

/4'# o

1/4-20 UNC-2B
2HOLES ON A
1.75 DIA. BOLT CIRCLE

fe—1.47—|

3.69 PLUS 2.00 FOR

H * To determine lengths for half EACH 1.00 OF STROKE*
Mountlng Style BFN inch stroke increments, determine SEINC2B A - 1.88—100
Single Acting length for next highest whole number 3.75 DIA, BOLT CIRCLE
Spring Return stroke and subtract a half inch. . {125 —1.12 > |2
; ¥ DA
Front Block Mounting AN | 1 1 Js
Stainless Steel Rod Standard 175 QQ 1,00 \ R o - 881570
Standard Stroke Lengths: 1", 2", 3" 4" caumsh O H
Maximum Stroke 6" 14 NPTF
a umS e6 <—1.75J 88—~ 2 HOLES DRILLED & C'BORED

FOR 1/4-20 CAP SCREWS.
3/8 WRENCH FLATS 5/16-18 UNC-2B OPPOSITE SIDE
7/16-20 UNF-2A

H * To determine lengths for half 3.69PLUSB.00FOR _
Mou ntlng Style BFR inch stroke increments, determine EACH 1.00 OF STROKE*
Single Acting length for next highest whole number /80 UNG.28 .38 PLUS STROKE e ——+fe—1.85—
Spring Extend stroke and subtract one inch. 1.75 DIA. BOLT CIRCLE *‘ 25 s
Front Block Mounting I ﬁi Bix [ % i | }
Stainless Steel Rod Standard s LAY o Mt ol T 1 sl i WS
Standard Stroke Lengths: 1", 2", 3", 4" l W AkEs AT R ‘ Xé |
. n > W
Maximum Stroke 6 1 J o8 N—— 14 NPTF
1.75 : tmsaa 2 HOLES DRILLED & G'BORED

28

FOR 1/4-20 CAP SCREWS.
-38 WRENCH FLATS 5/16-18 UNC-2B OPPOSITE SIDE

7/16-20 UNF-2A




Series M Mini Cylinders - Trunnion Mounted

1-1/2" Bore Size / Single and Double Acting

Q
AVENTICS

i * To determine lengths for half
N_Iountlng Style TRN inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Rear Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

3.06 PLUS 2.00 FOR EACH 1.00 OF STROKE*

|- .09
25— |-
—1.25
’7.749 DIA. PILOT

Fyl

.437 DIA-
1.56 DIA.

7/16-20 UNF-2A J/
.38 WRENCH FLATS

3/4-16 UNF-2A

2.56 PLUS 2.00 FOR EACH 1.00 OF STROKE“

H *To determine lengths for half
N!Ountlng Style TRR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch.

Spring Extend

Rear Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

3.88 PLUS 3.00 FOR EACH 1.00 OF STROKE*

.88 PLUS STROKE
(.09

.25 PLUS STROKE [« *‘

749 DIA. PILOT
.25 —=|
437 DIA: 1.25 ’<—>

1/4 NPTF

i
N /1 w
Pai. e —
1.56 DIA, x‘m_w UNF-2A

1.25 ‘
PELEE
3.38 PLUS 3.00 FOR EACH 1.00 OF STROKE

7/16-20 UNF-2A.

38 WRENCH FLATS

4.19 PLUS STROKE

Mounting Style TFD
Double Actlng 500 DIA] |- . N . ‘
Front Trunnion Mounting ‘ ‘ ] 125|]
Stainless Steel Rod Standard i M ron - i
Standard Stroke Lengths: 1", 2", 3" 4", 5", 6" aborhs | (N t O o don
Maximum Stroke 12" l LN~ b H\%l
7LJ 1.00 DIA. LJ
38 1.75 1.31 ‘ 1/4 NPTF
7/16-20 UNF-2A__ .38 WRENCH FLATS
4.38 PLUS STROKE
Mounting Style TRD [as
| |-.09 le
Double ACtlng st 749 DIA. PILOT $‘ [+ S0 0
Rear Trunnion Mounting iy ( e —
Stainless Steel Rod Standard . [ IV i 1
Standard Stroke Lengths: 1", 2", 3" 4", 5", 6" 1560 = {L{%—i j, i1 175250
Maximum Stroke 12" aston 1 | )
/ ‘ 3/4-16 UNF-2A ;’: }
7/16-20 UNF-2A 147 | 38
.3; ;Ri:CH FLATS | 3.88 PLUS STROKE ! e
- *TO determine Iengths for half 3.69 PLUS 2.00 FOR EACH 1.00 OF STROKE*
Mountlng Style TFN inch stroke increments, determine 35| 1.88 e o5
Single Acting length for next highest whole number sooa] |~ ’ ’
Spring Return stroke and subtract a half inch. ‘ |
= 1.25 |
Front Trunnion Mounting T —H- |4 a0 L :
Stainless Steel Rod Standard 250 1hs 1 LN ;@ L n o 1560
Standard Stroke Lengths: 1", 2", 3", 4" | | N T | N |
Maximum Stroke 6" s LT reon N
175 131 ‘ 1/4 NPTI

7/16-20 UNF-2A— .38 WRENCH FLATS

H *To determine lengths for half
N_Iountlng Style TFR inch stroke increments, determine
Slngle Actlng length for next highest whole number

stroke and subtract one inch.

Spring Extend

Front Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

29

3.69 PLUS 3.00 FOR EACH 1.00 OF STROKE*

38 PLUS STROKE [j4—wte—1:88 -
| 500 DIA.
-125
25 ol =
— 1.25 M

7(_El uzmﬂ h
250 115 () ' H— o b Lnjw.sTsmA,
L A

—— [J [100DIA J

1/4 NPTF

1.31 PLUS STROKE
=38 WRENCH FLATS
—7/16-20 UNF-2A




Series M Mini Cylinders

1-3/4" Bore Size / Single Acting

Q
AVENTICS

Mounting Style N

Single Acting

Spring Return

Front Nose Mounting

Standard Stroke Lengths: /2", 1", 112", 2",
212" 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007835 Foot Bracket

2.97 PLUS 2.0 FOR
EACH 1.0 OF STROKE

Mounting Style NR

Single Acting

Spring Return

Front Nose Mounting

Non-Rotating Hex Rod

Standard Stroke Lengths: /2", 1", 1'/2", 2",
212" 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007835 Foot Bracket

3.08 PLUS 2.0 FOR
EACH 1.0 OF STROKE

1.84

1.031
DIA. PILOT

1-14 MOUNTING NUT

Mounting Style NRP

Single Acting

Spring Return

Rear Pivot or Double End Mounting

Non-Rotating Hex Rod

Standard Stroke Lengths: /2", 1", 1'/2", 2", 21/2", 3", 4"
Maximum Stroke 6"

4.59 PLUS 2.0 FOR

EACH 1.0 OF STROKE

2.47 PLUS 2.0 FOR
EACH 1.0 OF STROKE

.50
.09

il

Optional Accessories: ZL‘« Dul.'?:?ﬂm

R432007835 Foot Bracket 112

R432007810 Rod Clevis 12HEX, 1/4 NPT PORT
R432007819 Pivot Bracket with Pin A S 2O o

Mounting Style P EACH 10 OF STAOKE

Single Acting EACHL 0 OF STROKE

Spring Return o0

Double End or Rear Pivot Mounting tle 00 00

Standard Stroke Lengths: /2", 1", 12", 2", | *‘ 88 |

21/2“, 3II, 4II
Maximum Stroke 6"
Optional Accessories:

R432007835 Foot Bracket
R432007810 Rod Clevis

.500,DIA.

1.031
DIA PILOT

R432007819 Pivot Bracket with Pin A RS 20 R 14 NPT PORT
Mounting Style R EACH 10 OF STROKE

Single Acting 1.06 PLUS

Spring Extend 14 NPT PORT - 1840

Front Nose Mounting

Standard Stroke Lengths: /2", 1", 12", 2",
21/2“’ 3II’ 4II

Maximum Stroke 6"

Optional Accessory:
R432007835 Foot Bracket

30

__| STROKE ,
o009

7,7,4#,

.75

1.63

1.031
DIA. PILOT

1-14 MOUNTING NUT




Series M Mini Cylinders

1-3/4" Bore Size / Double Acting

Q
AVENTICS

Mounting Style D 4.69 PLUS STROKE
Double Acting 1.06
Front Nose Mounting .09 1.84
L1/ 4u 44/ 0 An i _»._A
Standard Stroke Lengths: /2", 1", 11/2", 2" A’_BB ’
21/2", 3II’ 4II’ 5II’ 6II o I_
Maximum Stroke 12 500 DIA. — — 8
1 E
1/2-20 UNF-2A THREADS 12 NPT PORT
Optional Accessory: 7/16 WRENCH FLATS 1.031 DIA. PILOT 1/4 NPT PORT
R432007835 Foot Bracket 1.63 1-14 MOUNTING NUT
Mounting Style DXP 6.25 PLUS STROKE
Double Actlng 4.19 PLUS STROKE
. 1.06
Double End Mounting 50
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6", S8 09
8", 10||’ 12" .88 | . ”
Maximum Stroke 32" | T -
Strokes oves 12" must be supported at 500 DIA. @ ****** DI
both ends } / -
Obtional A . 1/2-20 UNF-2A THREADS 1/4 NPT PORTS '
ptional Accessories: .376 DIA. FOR PIVOT PIN
R432007835 Foot Bracket 7/16 WRENCH FLATS , _1.031 DIA.PILOT |
R432007810 Rod Clevis 104 114 MOUNTING NUT 1-14 MOUNTING NUT
R432007819 Pivot Bracket with Pin
5.75 PLUS STROKE
Mou nting Sty|e KDX 6.56 PLUS 2 TIMES STROKE
Double Acting 4.44 PLUS STROKE
Boug:e Enz Mounting 1.06 1.06 PLUS STROKE
ouble Ro 09 09 T8
Stainless Steel Rod Standard —-58 :T
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6" ;

Maximum Stroke 12" 500 DIA.

"

1/2-20 UNF-2A THREADS

Optional Accessory: 7116 WRENCH FLATS

R432007835 Foot Bracket

_1/4 NPT PORT

1/2-20 UNF-2A THREADS

1.031
88 DIA. PILOT
1-14 MOUNTING NUT
1.63

7/16 WRENCH FLATS

1-14 MOUNTING NUT

Mounting Style KDH

6.56 PLUS 2 TIMES STROKE

Double Acting
Double End Mounting

1.06 PLUS STROKE

4.44 PLUS STROKE

Double Hollow Rod
Standard Stroke Lengths:

1II, 2II, 3II, 4II’ 5II, 6II
Maximum Stroke 12"

1/2-20 UNF-2A THREADS

7/16 WRENCH FLATS

Optional Accessory:

1/4 NPT PORTS

1.031
DIA. PILOT
1-14 MOUNTING NUT

||

R432007835 Foot Bracket

.328 DIA HOLE
THRU PISTON ROD

1/2-20 UNF-2A THREADS

7/16 WRENCH FLATS

1-14 MOUNTING NUT




Series M Mini Cylinders

2" Bore Size / Single Acting

Q
AVENTICS

Mounting Style N
Single Acting

Spring Return

Front Nose Mounting
Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

.50 WRENCH FLATS

119 o—»
38—
el
.625 DIA.
1/2-20 UNF-2A

.00 STROKE= 5.41*

.00 STROKE= 7.41*

.00 OF STROKE-= 8.66*
.00 OF STROKE= 11.59*

\ \—1.374 DIA. PILOT
1 1/4-12 UNF-2A

NI S

Mounting Style P
Single Acting
Spring Return

Double End or Rear Pivot Mounting

Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007810 Rod Clevis
R432007820 Pivot Bracket with Pin
R432007846 Mounting Nut

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

119+
.38+

’4—. 88—+

625 DIA. i
}
1/2-20 UNF-2A /

.50 WRENCH FLATS

1.00
2.00
3.00 OF STROKE 10.03*
4.00 OF STROKE= 12.97*

56
12 A2
1/4 NPTF ‘

1

'

\_1.374 DIA.
PILOT 103

1 1/4-12 UNF-2A THD.
(BOTH ENDS)

.00 STROKE= 6.34*
.00 STROKE-= 8.34*
.00
.00

OF STROKE=9.59*
OF STROKE= 12.53*

Mounting Style R
Single Acting

Spring Extend

Front Nose Mounting
Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.
119 PLUS STROKE —

‘ =88 —

.625 DIA.

' /
1/2-20 UNF-2A

.50 WRENCH FLATS

:

BBIETL
.00 OF STROKE= 12.34*
.00 OF STROKE= 16.34*

66[=—
81
P "‘ 12 14 NPTF

—6—

_w(1.374 DIA.
PILOT

1 1/4-12 UNF-2A THD.

2.08 —=

Mounting Style RP
Single Acting

Spring Extend

Rear Pivot Mounting
Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007810 Rod Clevis
R432007820 Pivot Bracket with Pin
R432007846 Mounting Nut

*To determine lengths for half

inch stroke increments, determine ; 88 §¥28§E ?1508
f 50*
length for next highest w_hole number *————— 500 OF STROKE= 1372 — ™
stroke and subtract one inch. 2.00 OF STROKE= 17.72*
119 PLUS STROKE
2 —o| |-

1/2-20 UNF-2A
.50 WRENCH FLATS

32

-12 , 1/4 NPTF

494
-H
o~ H

1374DIA. /
PILOT

1 1/4-12 UNF-2A THD.

.00 STROKE= 8.05*

.00 STROKE= 11.05*
.00 OF STROKE= 13.28%
.00 OF STROKE= 17.28*

-—————

o=




Series M Mini Cylinders

2" Bore Size / Double Acting

Q
AVENTICS

Mounting Style D

Double Acting
Front Nose Mounting
Maximum Stroke 12"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

1/2-20 UNF-2A
.50 WRENCH FLATS

e—— 4.69 PLUS STROKE —

e ]
.625 DIA. ;ﬂﬂﬂﬂ{
} l

119
.38+

1/4 NPTF

1.374 DIA. PILOT
1/1/4-12 UNF-2A

N

1/4 NPTF

-—1.84

Mounting Style DXP le———6.06 PLUS STROKE ————=
Double Acting 119>
Double End or Rear Pivot Mounting - -38 156/
Strokes over 12" must be supported at both ends 12>t
Maximum Stroke 32" 88~ | {12 fVANPTRA
* "’ R LI
.625 DIA: 1 E— el 11 +{ T
* “*%"i
Optional Accessories: 1/2-20 UNF-2A / _ 1_3P7|ﬁ8_l_A_ / 1103 l \.376 DIA.
R432007810 Rod Clevis 1 1/4-12 UNF-2A THD
R432007820 Pivot Bracket with Pin (BOTH ENDS)
R432007846 Mounting Nut - —5.62 PLUS STROKE———1

Mounting Style KDX

Double Acting

Double End Mounting
Double Rod

Stainless Steel Rod Standard
Maximum Stroke 12"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

r——6.56 PLUS 2 TIMES STROKE ——

119 »+—4.19 PLUS STROKE—=
> -38 o .81

1.19 PLUS STROKE
2.08 —

12
‘<—.88—> =12 VANPTRA .3sﬂ <—.88—ﬂ
¥

it

7 625 DIA.
1.374 CI)D_I_A. \ 1/2-20 UNF-2A
.50 WRENCH FLATS
11/4-12 UNF-2A THD
_4 (BOTH ENDS) 1.84 PLUS _|
l—1.84 STROKE

33




Series M Mini Cylinders

2-1/2" Bore Size / Double Acting

Mounting Style D
Double Acting

Front Nose Mounting
Maximum Stroke 12"

4.69 PLUS STROKE

Optional Accessories:
R432007837 Foot Bracket

R432007847 Mounting Nut 13/8-12 UNF-2A THREADS,

13 1/4NPT PORT

al
AVENTICS
262
i — /\\ :

1.500 DIA.
PILOT

Mounting Style DXP
Double Acting

6.06 PLUS STROKE

Double End or Rear Pivot Mounting
Strokes over 12" must be supported 38

at both ends L85

13

56

1/4 NPT PORTS 13

Maximum Stroke 32" ’ |
.625 DIA.

Optional Accessories: wzzm_mmmag;j

R432007837 Foot Bracket
R432007810 Rod Clevis
R432007820 Pivot Bracket with Pin 1 3/8-12 UNF-2A

PN

S %

g

1.84

1.500 DIA. /
PILOT 1.03

5.62 PLUS STROKE

R432007847 Mounting Nut MOUNTING THREADS (BOTH ENDS)

Mounting Style KDX 6.56 PLUS 2 TIMES STROKE
Double Acting ' 4.19 PLUS STROKE
Double End Mounting 119 PLUS STROKE

Double Rod

Stainless Steel Rod Standard
Maximum Stroke 12"

2.62

.88 |

Optional Accessories:
R432007837 Foot Bracket  1-3/8-12 UNF-2A MOUNTING THREADS/

R432007847 Mounting Nut

1.500 DIA. /
PILOT

1.84 PLUS STROKE

\ 1/2 WRENCH FI ATS
1-3/8-12 UNF-2A

34




Series M Mini Cylinders

3" Bore Size / Double Acting

Q
AVENTICS

5.25 PLUS STROKE

Mounting Style D 2.09
Double Acting 138 | |
Front Nose Mounting 19 31 3.16
Maximum Stroke 12" 38 f
1.25
o Ry — e -
o
1.630
Optional Accessories: 5/8-18 UNF-2A DIA. PILOT
R432007838 Foot Bracket 3/8 NPT PORT
5/8 FLATS
R432007848 Mounting Nut \3/8 NPT PORT
11/2-12 UNF-2A
MOUNTING THREADS
Mounting Style DXP 7.12 PLUS STROKE
Double Acting 209 134 500 DIA. HOLE
Double End or Rear Pivot Mounting s o FORPIVOTPIN.
Strokes over 12" must be supported at both ends L 19 3.16
Maximum Stroke 32" 125 /8 NPTPORTS 1901 88, .
‘ .38 | ] ‘ %
750 DIA @ ‘ B3
. . ) —_— = Dr -- |+
Optional Accessories: /
R432007838 Foot Bracket 5/8-18 UNF-2A THREADS
R432007811 Rod Clevis 58 FLATS 5o, Lot / 11/2-12 UNF-2A
R432007821 Pivot Bracket with Pin ) MOUNTING THREADS
R432007848 Mounting Nut T PAREADS 6.50 PLUS STROKE
Mounting Style KDX 7.31 PLUS 2 TIMES STROKE
Double Acting 2.09 2.09 PLUS STROKE
Double End Mounting 1.38 1.72 138 PLUS STROKE
Double Rod 38 J A9 19 | 3.16
Stainless Steel Rod Standard ‘ ‘ 125 |
Maximum Stroke 12" ; 125 |
750 DIA ’"WWHW ——————— -

5/8 FLATS

11/2-12 UNF-2A
MOUNTING THREADS

Optional Accessories:
R432007838 Foot Bracket
R432007848 Mounting Nut

fﬁﬁ
I

1.630

DIA. PILOT 5/8-18 UNF-2A THREADS

5/8 FLATS

3/8 NPT PORTS 11/2-12 UNF-2A

MOUNTING THREADS

4.56 PLUS STROKE

35




Series M Mini Cylinders

Standard Accessories with Dimensions

Standard Accessories with Dimensions

Q
AVENTICS

Part Bore Dimensional Data
Standard Accessories Number |UsedOn| A |B|C |[D |[E|F| G |H|J |[K|L|M|N
Piston Rod Clevis ATHD 5 R432007805 5/16 |#5-40 | .31 | .44 |56 |.38 [.11 [#5-40 | 12| 13| .31 | 50| - | —
Assembly includes . F=== 7230 4{
pin and (2) e O)/l | R432007806 | 7/, %16 | #10-32| .38 |.75 [.94 |56 |.12 |#10-32| .19| 19| .38 | 56| - | -
Retai Ri
afdaf%e Jam Nt c R432007807 | 3/s,7/s | 'a-28 | 50 | .94 |[1.19| 68| .16| '/+-28 | 25| 25| 50 | .69| — | —
—
4FF [ET K R432007808 116 | %1e-24| 50 | .94 [1.19| .68| .19|%e-24 | 25| 25| 50 | 69| — | —
e ! R432007809 | 1Ya1' |7he-20| .75 [1.31 |1.69 | .94| .25|7/e20 | .38| .38 | .75 [1.03| — | —
= R432007810 [13/5 2,2k | '2-20 | .75 |1.31 [1.69 | .94| 31| -20 | .38| .38 | .75 [1.08| — | —
GNUT HDIA. PIN R432007811 3 5/8-18 [1.00 | 2.25 |2.75| 1.50| .38|5/8-18 | .50| .50 | 1.00[1.38| - |-—
Pivot Brackets  + W RAD: i R432007812 | /i 76 | 56| 75| 50| 12| 06| .19 | 20|.160| 28| 50| .12| —
f . .
G
N M {BT R432007817 | %a,7/s,1's| 1.19 | .88 | 1.12| .75| .19| 12| .27 | .31|.255| 44 | 81| 25| -
r e T
G l—c— ‘¢ R432007814 A 175 |[1.38/1.50|1.00| .25| .12| .27 | .38|.380| .62(1.00| .25| -
Pivot Brackets R432007815 5/16 53 | 40| 62| .38| .12| .04| .16 | 12| 12| 26| - | 36| .18
A bl
includes. __S7L KT e g R432007816 | 7o, %16 | 76 | 56| 75| 50| 12| 06| .19 | 19|.156 | .34 | o1|1.34| 22
; F
) osiner r " 1 R432007817 (%4, 75,16 | 1.18 | 88 |1.12| 75| 19| 12[ 27 | 30[250| .38 [1.25]2.00] .38
Rings. g \ GX ALI. R432007818 14 1.18 | .88 | 1.12| .75| .19 .12| .27 | .30|.250 | .50 [1.38|2.14 | .38
% R432007819 | 12,13 | 1.75 [1.38 |1.50 [1.00| 25| .25| .27 | .37|.375| .62 [2.00(2.88| .44
*bMt‘ *L”‘:;:‘JF E*l‘gj R432007820 | 2,2 | 1.75 |1.38 |1.50 [1.00] 25| 25] 27 | 37[375| 75 [2.12]3.00] 44
5/16" Bore Only R432007821 3 225 [1.75 |1.75[1.25| 25| 25| 27 | 50| .50 | .88 [2.62|3.88 | .62
Foot Brackets R432007828 5/16 1.00 | 37| 25| 13| 37| .31| .25 | .75| .06| 44| 12| — | —
R432007829 5/16 1.00 | .37 | 25| 13| 37| 31| .38 | .75| .06 | 44| 12| — | —
R432007829 /16 138 | 62| .31| 19| 50| .31| .38 | .88| .07 | 56 | 12| — | —
R432007831 | 7/, % | 1.38 | 62| .31 | 19| 50| .38] 44 | 94| 09| 56| .12] — [ —
R432007832 %4 162 | 75| 44| 19| 62| 41] 50 [1.09] 10| 69] 19| — | —
R432007833 [3s,7/s,1"16 | 1.88 [1.00 | .56 | 27| .75| 56| .63 [1.38] 12| 81| 25| — | —
R432007834 | 1Ys,1'% | 250 [1.50 | .75 | 27| .94| 75| .75 [1.75] .12[1.00] .38] — | —
R432007835 134 3.00 [1.50 | .87 | .35[1.12] 91| 1.03 |2.16] .19|1.25| 50| — | —
R432007836 2 3.12 [1.62 [1.00 | .34 [1.12][1.00] 1.38 [2.50| .25[1.50 | 62| — | —
R432007837 22 3.75 [1.62 [1.00 | .35[1.44][1.25| 1.51 [3.00| .25|1.75| .75| — | —
R432007838 3 437 |1.62(1.00| .35[1.75|1.25| 1.64 |3.14| 25|1.89 | .89| — | —
Mounting Nut R432007839 5/16 44 | 16 | 28| — | — | — — — |- == =] =
R432007840 5/16,7/16 56 | 22 %24 — | — | — | — el el e e e
R432007841 16, %16 69 | 25 |The20| — | — | — | — e e e e
R432007842 34 75 | 31|20 — | —| —| — | —|—|—|—=|—1|—
R432007843 %4, /s, 16 | .94 | 38 |%18| — | — | —| — |—|—|—|—| — | —
R432007844 | 1Ya,1 | 112 | 42 |3%16| — | — | —| — | — | —|— |—| — | —
R432007845 134 150 55 114 —| — — —| — —| —| - — —
R432007846 2 188 | 5O (112 — | — | —| — |—|—|—[|—=|—=]—
R432007847 212 206 | 78[kt2l — [ — | —| — [=[—=|—=1—=]—=1-—
R432007848 3 225 | Baftht12l — [— | —| — [—[—=|—=1—-1—=1—
Series M Trunnion Brackets
Select brackets for Series M Trunnion Mount Cylinders from the table below.
(Note: Trunnion Brackets are ordered as a separate item from the cylinder.)
7? é’ | “ H RAD.
\M K L‘ JDIATN
‘ — : 1 Assembly No.| BoreSizes |A | B | C |[D| E |F |G |H |J |K|L [m
f Shes | - ! N R432029604 /16" 1.75]1.38/1.50| 1 | .25 |.25 | .27 |.38 |.375 | .69 | 1.12| .37
M B
17 ! ! I \ R432007849 |3/4 1'/1" 112" |1.75(1.38[1.50| 1 | 25 |.25 | .27 |.38 |.500 | .69 | 1.12|.37
T i i}

i

«fg,
“ |
o

“’ D *‘

36




Series M Mini Cylinders

Port, Spring Force Data

Port Size — Rod Diameter — Spring Force Data

Q
AVENTICS

Rod Diameter Force Factor Spring Return (lbs.) Spring Extend (lbs.)
Bore Size Port Size (Or Hex) Push Pull Normal Extended Normal Retracted
.31 (%he") #10-32 /g" .08 .06 5 1 5 1
44 ("he") #10-32 3/16" 15 12 1 2 1 2
.56 (%he") #10-32 3/16" 25 22 2 4 2 4
75 (31" /s NPTF a" .44 .39 3 6 3 6
.88 ("/s") /s NPTF a" .60 .55 3 6 3 6
1.06 (1'/16") /s NPTF 516" .89 .81 3t 6t 75 15
1.25 (1'4") /s NPTF “he" 1.23 1.08 7.5 15 7.5 15
1.50 (1'/2") /s NPTF “he" 1.77 1.62 6t 12t 9 18
1.75 (1%4") /4 NPTF " 2.40 2.21 11 24 1 24
2.00 (2") /4 NPTF 5" 3.14 2.84 15 30 15 30
2.50 (2/") /4 NPTF 5/g" 4.91 4.60 N/A N/A N/A N/A
3.00 (3") 3/s NPTF 3" 7.07 6.63 N/A N/A N/A N/A
*Non-rotating version uses ¥/s" hex. 1Block mount and trunnion mount spring return Ibs. equals spring extend Ibs.
Standard Standard Standard
Mounting Head Port Cap Port Vent End View of Mountings
Style Location Location Location For Port Locations
AR Face Face None "‘\1"052“39 F\?‘X';s CAP VIEW Standard location for
BFR > None > P FACE cusr&ilon z?qdjustmehr)t
needle when cushions
BFN None Face 2 2€§> are specified on D
BRD 2 2 None i mounts.
BFD 2 Face None Mounting Styles CAP VIEW
Standard location for
BRR 2 None 2 FD%PREPDXR NRP, 1 cushion adjustment
BRN None 2 2 ’ needle when cushions
2 4 are specified on DXP
TFR 1 None 1 mounts.
TFN None Face 1 3
Mountin Mountin
TRD 1 1 None Style A g CAP1V'EWF e | Style RAg AP I
TFD 1 Face None
TRR 1 None 1 2 4
TRN None 1 1 !
AP None 2 2 Mounting HEAD VIEW Mounting CAP VIEW
RA 2 N 2 Styles BFD, 1 Styles BRN, 1
one BFN, BFR BRR, BRD 33(
A None Face 2 =
KDH 2 2 None
KDX 2 2 None I
DX 2 2 None Mounting HEAD VIEW Mounting CAP VIEW
Styles Style DX 1
DXP 2 2 None KDH, KDX
DP 2 2 None 2 4
D 2 Face None
RP 2 None 2 ®
Mounting HEAD VIEW Mounting CAP VIEW
R 2 None 2 Styles TFD, 1 Styles TRN, 1
P None 2 2 TFN, TFR TRR, TRD
NRP None 2 2 4 3 > P i 4
NR None Face 2
3 3

Cylinders will be with ports at these locations unless otherwise specified.

37




Series M Mini Cylinders

Standard Options

Q
AVENTICS

Bumpers

Bumpers are available at extra cost, add the following dimensions to the overall cylinder length by bore

Bore Size She" | The" | %he" 34" 1" | 16" | 1" | 1" | 134" 2" 215" 3"
Type

Spring Return * .062" | .062" | .125" * 125" * > * 125" | N/A | N/A
Spring Extend * 125" | .062" | .125" * 125" * ** * 125" | N/A | N/A
Double Acting * 188" | .125" | ** * 125" * 125" * 250" | .250" | N/A
K-type N/A | .250" | 125" | ** * .500" * 125" * 250" | .250" | N/A

*Bumpers are furnished as standard and do not affect overall length.
**Bumpers do not affect overall length.

Fluorocarbon Seals
Available on all bore sizes at extra cost.

Stainless Steel Piston Rods

Corrosion resistant stainless steel is the standard piston rod
raterial for all bore sizes up to and including 1.50 inch bore
at no additional cost. The only exception to the stainless steel
standard is when a hollow rod or non-rotating hexagonal rod
option is specified. Stainless steel is also the standard
material on block, trunnion and KDX mounts. Stainless steel
is available on other sizes for an additional charge.

Rod Wiper

Series M/MM cylinders can be fitted with a rod wiper that is
specially designed to prevent contaminants from clinging to
the piston rod and damaging the piston rod seal. Available in
3/4", 1-1/16", and 1-1/2" bores.

Adjustable Cushion Option

Cushions can be selcted on nine bore sizes, ranging from
.75" bore to 3.0" bore with mounting styles D, front nose
mount, and DXP, rear pivot mount. Adjustable cushons are
optional at either end or both ends of Series M/MM
cylinders.

Cushion Adjusting Needle Valves

The fine-thread cushion needle valves make precise adjust-
ment quick and easy. The needle valve is fully captured to
allow for safe cushion adjustment while cylinder is pressur-
ized. The brass needle valves are corrosion resistant. The
standard position for needle valve adjustments is position 1,
90° from the port. See port location table for Series M
Cylinders.

~—

£
)

I'
NN
%4

%g

Check Seal Cushion

The "Check Seal" system offers excellent cushioning efficiency
and long cushion seal life. This seal is specifically designed for
cushion applications and has a long proven history in our
products. Extensive side by side testing of the check seal in
Series M cylinders significantly outlasted and outperformed
competitors’ o-ring shaped seals.

The Check Seal’s unique geometry exhibits the dynamic
sealing capabilities of a lipseal. As the cushion sleeve enters
the Check Seal at the end of stroke, the Check Seal blocks the
air from exhausting directly through the port and forces the air
through the adjustable needle valve orifice. The exhaust airflow

38

is precisely metered to control the desired rate of decelera-
tion of the cylinder piston.

During stroke reversal, the check valve action of the Check
Seal induces a fast out-of-cushion response.The Check Seal
floats forward in the retainer groove as the cushion sleeve
exits the Cushion Seal, thereby creating a path for maximum
air flow around the Check Seal to access the piston face.
The quick response of the Check Seal design yields faster
cycle times and increased productivity.




Series M Mini Cylinders
Adjustable Cushion Option HVENTlCSm

Cushioning Capacity

Use the graphs below to determine whether a cylinder speed intersects the weight of the load. Any cylinder bore
will adequately decelerate a load without damage to the size above the intersect point will adequately decelerate
cylinder. Find the point on the graph where the piston rod the load at that speed.
.75" through 1.25" Bores 1.50" through 3.00" Bores
10 10
g 9
a 8
\\ - 2 - o \
e . NELTNL
B b [s \\. = N
& T = g Y . N
xe N . it
v - ~ - v 5 L e IR Y
T b et N T M1 \\ \\ %
o i \\ 38 \‘ ™ q g i e . u‘\
i y ~ o
] ™ \‘\\ ~ \ i “\ \\\ \‘
‘:‘ 3 AL ISE ~ ‘:‘ 3 AN b
\ « 19 . . -
. ™~ . T
F e ™ s F ~ \\\ N
g N [T “ P ai s ke b
s e ~ s ‘,\ s
2 = M 2 s N
\' \‘\ \ b \‘\\.‘ ™
N A s N
\. 25 \ .\\
\\.- 1
]1 2 3 4 5 6 78910 20 30 40 100 1 10 50 100
Weight (Ib) Weight (Ib)
|—.?5 Bore = == 88 Bore 1.06 Bore s == { 25 Bore I |— == 1,50 Bore w175 Bore — — —2.00 Bore === =250 Bore ——3.00 Bore

Critical Mounting Dimensions for Series M and MM Cylinders

W|th Ad]UStable CUShIOﬂS In most cases, cylinder mounting dimensions are not affected when cushions are
specified. Standard catalog dimensions apply when cushions are specified at
A + STROKE either end of a DXP mount and when specified at the head end only of a D
mount. The only exception to standard catalog dimensions is when a
cushion is specified on the cap end or both ends of a D mount. Please
consult Table A for the critical mounting dimensions on D mount M and MM
cylinders with cushions both ends or cushions cap end only.

%H@E}f@ I —— ,@7 -——  Table B shows the cushion lengths for M and MM cylinders.

os}

D Mount
Table A: Critical Mounting Dimensions for D Mount M and MM Cylinders Table B: Cushion Lengths for M and MM Cylinders.
with Cushions Both Ends or Cushions Cap End Only.
M Dimensions MM Dimensions

Bore Size A + Stroke B A + Stroke B Bore Size head cap
.75 3.40 0.28 3.40 .28 .75 0.750 0.625

.88 3.25 0.28 N/A N/A .88 0.750 0.625
1.06 3.49 0.28 3.65 .28 1.06 0.750 0.625
1.25 4.31 0.38 4.34 .38 1.25 0.750 0.625
1.50 412 0.31 4.37 .31 1.50 0.750 0.625
1.75 5.25 0.42 5.25 42 1.75 0.875 0.625
2.00 5.06 0.47 5.34 47 2.00 0.875 0.750
2.50 5.06 0.47 5.06 47 2.50 0.875 0.750
3.00 5.69 0.53 N/A N/A 3.00 0.875 1.000

39




Series M Mini Cylinders

Air Reservoirs Option Availability Chart

How To Order Series M Air Reservoirs

3/," Bore Part # M-7AR- _ (length)

Standard Length Yol. - Cu. In, Length in inches
" M .39 in° plus

1" increments to 4 44 in3 per

Maximum Length 32" inch of length

1/8" NPT
(BOTH ENDS)

1.938 PLUS—|
LENGTH
19 19~ ** 81
[ =
)

w

1'/:¢" Bore Part # M-10AR-_____ (length)
Standard Length M Length in inches
1" increments to 8" 99 in’ plus

.89 in® per

Maximum Length 32" inch of length

l«—2.375 PLUS—» (BOTH ENDS)
LENGTH

k—19 9-*\ 1125

Al
AVENTICS
11/." Bore Part # M-15AR-____ (length)
Vol. - Cu. In.
?-t?nr::::::ehgntgt:‘eu 1.91 i plus Length in inches

1.77 in® per
inch of stroke

Maximum Length 32"
1/8" NPT

250 pLUS_,| (BOTHENDS)
LENGTH
=250 250~ *11.56
[ JHS«E
}

2" Bore Part # M-20AR- (length)
Vol. - Cu. In. L

3.14 in® per
inch of stroke

Maximum Length 32"

1/4" NPT
EIZI%IGP'IFHS_> (BOTH ENDS)
<312 312 [+ ** 2.08

1.25

Option Availability Chart

Magnetic| Bumpers |Fluorocarbon Rod Cushions Delrin®
Piston Seals Wipers End Caps
. + = Available Options
Magnetic . .
Piston - M X . ¢ ¢ S = Available as Special
X = Not Available
Bumpers -- -- 2 2 X 2
Fluorocarbon
Seals - B B X S ¢
Rod
Wiper - - - - ¢ *
Cushions - -- -- - -- S

Delrin® is a registered trademark of Dupont.




Series M Mini Cylinders

How To Order Non-Standard Rods Port Adapters HVENTlCS.
How To Order Series M Air Cylinders
How to Order Code
Mount Non-std. Non-std.
Series Bore Style Options Special Rod Rod Dims. Stroke
M -7 N- \% S Y 3- 15
. . . Non-std. Non-std.
Series Bore Mount Style| Options Special . Stroke
y P P Rod** | Rod Dims.
5/16" 3 o
" V = Viton Seals| S= Special | ¥ o otanless 53 éz.da'f ;tjj (in tenths of an
7116 4 P Steel Rod P o inch)
9/16" 5 N, NR, NRP, P,
" R,RP, D, DP, — pi Use only if . .
3/4 7 DXP, DX, KDX| I;— P|stor*1 special . Sp(?CIfy Examples:
7/8" 8 KDH, A, RA, umpers modications dimensions per[ g g = g5
AP, AR, BRN, are required chart below,
1-1/16" 10 BRR. BFD i . . "Non-Standard 1"=10
’ > |W = Rod Wiper| (inc. adjustable .
M 1-1/4" 12 BRD, BFN, cushions) Rods. 15" =15
) BFR, TFN, =T
1-1/2" 15 TRN, TFR, o =20
1-3/4" 17 TRR, TFD, 25"=25
. TRD (blank if (blank if (blank if (blank if
2 20 standard) standard) standard) standard)
2-1/2" 25 26"=260
3" 30 32"=320
Examples:

M-7N-15 is 3/4" bore, nose mount, spring return, 1-1/2" stroke.

*Bumpers are standard on some models, see Bumpers section for details.

**Stainless rod standard on 5/16" thru 1 1/2" bores except for hollow or non-rotating rod options, stainless rod
is also standard on all block, trunnion and KDX mounts.

Full Diameter Rod

Non-Standard Rods

. . End Threads Undersized Rod End Threads
For non-standard rod dimensions, or
undersized rod end threads, put a “3” LE LE
in model number and describe the rod A —> W— W———»
using the letters shown in the drawing. LAM LAV
C—

It is necessary to specify only those
dimensions that are non-standard

“\

bt

*Requires an S designation
in model number.

D WRENCH / t
FLATS MMm* \

KM*

#10-32 to 1/8"-27 NPT Port Adapter

1/4" O.D. Hose Barbed Fittings (Package of 10)
Part no. R432032573

Part no. R432007804

716
1/8 NPT o.RRBBER 1 HEX |— 00 DIA. uBsER | 750 —~|  l=1/4 HEX
\ + GASKET 09 DIA.
|

[#1 0-32 UNF-2A

.250 =

[+—750—>

[ #10-32 UNF-2A

NOTE: Due to insufficient port depth, port adapter fitting
cannot be used for head end ports of 9/16" bore
cylinders. Use barbed fitting.

41




Series M Mini Cylinders

Competitor Interchange Chart

AVENTICS

poy 8|gqnoq ‘bunoy sjgnoq

Buyoy aiBuis ‘pusixg Bupdg €0d a4da S3a aas A3ed 3axd XM Spu3 yiog papealyl
- - - - - - Y4l ‘Junoyy uoluunip juol4
Bunoy sjqnoq
wimy Buids Bunoy albuIS - - SAQ Ha3 da Xa Xa spu3 yiog papeaiyL
- - - - - 149 N4L ‘Junojy uoluuniy oi4
94/}-k U0 Xa uid J0Ald ON
p/1-} uoda Bunoy ejgnog
Bunoy sjgnog .
_ _ _ _ _ el auL qunop vy Jeay 04 ‘200 ava sAa ¥an da dxa dxa 1unojj asoN 3 1onld
(/1-1 vo uid uid 10Ald
_ _ . - - - o oy 2l 1o o) Bupoy efanog
¢ ] JUNOIN HOIUML 3ot 200 dva S Han da da da Junojy 850N 3 Jonid
HHL JLNOW uoluunL feay 100 NYQ SNa uas a a a Junoyy asoN
anm.m___am ‘Bupoy aibuis abed XN afied XeN abed XN abed XN (ap1S as1anaYy 9ag)
B B B B B a8 NeL JUNOJj uojuun.y Jesy - v 993 995 993 993 uy SII0AIBSaY NIy
ajong a|qeisnipy pesH
Bunay sjqnoq ‘uin;
e _ - - - - 19y Buuds Junoyy JoAl
B - - - - a -4g ayd Junojy %o0g Jeay dv dvY H S IN JoAld
ajoxs a|qeisnipy pesH
Bunoy sjgnog - - - - - vH vy puajx3 Bunds ‘qunoyy asoN
so0a ava S49d da4 a9 a 49 a4d JUNoy yd0ig juoiy
ajoxs a|qeisnipy pesy
_ _ - - - v v ‘uinjay Bupidg ‘unoyy asoN
puaixg Bupdg/Buioy ajbuig
- - - - e Junojy oig ol puape3 Bunds
204 dvd SNd Hun dds dd dd Junoly asoN % 10Ald
uinjey Bundg/Bunoy ajbuig Lod Nvd SN HHS Hs Y Y pusix3 Buuds unojy asoN
- avs S48S HS4 sS4 T4 N48 junojy %00jg o014
208 dvs SAS dsn ds d d winjey Buuds ‘unopy jonid
puaix3g Buudg/Bunoy ajbuig
- - - - - Y ddg junojy %o0jg Jeay (Bunejog-uoN) poy xaH
uinjay bundg
CON duN SHAS NSN dHS duN duN JUNOJ\ 3SON B 10Ald
- - - - - -He Ndg uinjay Bunids/Bunay sjbuis
Junoyy %o0|g Jeay (Bunejoy-uoN) poy xeH
LON NUN SHNS NSS HS uN uN winjay bupds ‘qunoly ssoN
poy MojIoH ‘poy jqnoq
- - (¥N) (¥N) (¥N) H3axa HaM spu3 yjog papeaiyL 10S NVS SNS Hss S (18pa77 ON) N winjay Bupds ‘unopy asoN
sojewny |uaibioN |ueouswy | preddyo [AssydwnH | equig  BOILNIAY uonduosag Bununoyy sopewnp| uaibioN | ueouswy | preddys | Asaydwny | equug | SOILNIAV | uonduasaq Bununopy

-A10)0B} JINSUOD ‘UOIjEWIOUI
Jayuny o4 -Buusplo alojaq
sjuswalinbal Jawo)snd Ajuap
‘Ajuo apInb sousalsjal e se pasn
aq 0} S| Yeyd abueyoliaiul Siy

42




S *s|iejep 10} A10)0e} Jnsuo) YO 108ye Aew siedwngt a|qe|iene Buisues uonisod uolsid =
S|qe|IeAR Sjunow uoluuni| = |
_ — ‘sjopow ‘S|9poW pue sazis ‘aloq .2 9|qe|leAR syunow 3ooig = g
e pue sazIs 810q || U0 prepuels | a10q e uo feuondo | ybnoyy ,91/6 uo feuondo | sanewny Ajuo sejf}s Bununow prepuels = X
T “S|apow “S|opOW PUE SazZIS "S|9poW pue - _ _ _ _ _ _ _ _ oL X 00 X e
UE S9ZIS 910( |[e UO pIepuey 2104 |[e uo [euond $92IS 9109 ||e uo [euond uaibio y
2z P 4 IE UOPIEPUEIS | SI0G1IE 1O [UoRdO 117 1O [2oRC0 N - - H nx - - or X € nx 0s | wx [osz | wx | .ane
E ‘sjgpow 'S|9pow pue sazis T'sjapow _u%m ueoLswy 0002 WX 3 W X - - 43 X 14 N X 53] WX 00C WX WC
U $927IS 910 |[E UO PJEPUE] 2104 [[e uo euond $92IS 210 ||E UO [BUO| !
S PUE S821S ©10G [[E UO PIEPUEIS 1IE Lo [BUondo 19 810l U0 [BUoIA0 0sLh WX - - - - - - st WX ve Wx | oser | owx | et
ﬂ ‘s|gpowl 00S} Wax El Wax 00S 1 Wax e WX g Nax Ll WLdaX| 059k WLEaX | .2/}
"S|opOW PUE $8ZIS 8107 JOYI0 pue sazis 810q Jayio e N B
e UOELONd0 O ‘ot | “Siopow pue sezis | uoeuondo ‘ooz sioq e | Aeaudunk 0szk N X 3 N X oszh N X 0z N X se N X 4 WX | s2i WX | Wb/t
‘A32Q sjepow uo piepuels | aioq |je uo feuondO | A32Q I9POW UO piepuElS 2901 WeXx a WNeXx | 29l NgXx Ll NgXx 9 NgXx 60 WNLEX| 901 | NL1EX | 9kt
"S[opow pue “S[opOll PUE SazIS T'S|opowl pue sazis ad 5/80 WX - - - - - - - - %0 X 88 X 8/L
sa7Is 9107 150w uo [euond | 810 e uo feuond 2100 1s0wW uo pJepueyg | PAedalld 0520 nax 0 nax 052 Nax ch nax L nax 0 WNLlgXx| sz NLlgX | .ve
qll [euondo
THuDE £950 X ] N 299 X - - - - 20 WX 99" WX W91/6
"S|gpow pue sazis 810q 9|buis ‘a10q 2 pUe ,2/L-1 8EY0 X \ g LEY W aX - - - - 10 19X 4 19X WOL/L
J8y}o ||e uo [euondo ‘sjunouw 1deoxa sjepow pue sazis €1e0 X - - - - 50 X - - 700 ax \e ax 915
001 __M >¢.m_.n_xn_ 3axa) . .Eos hm;..o uo _mco_a.o equig apo)d soljewnp |apod uaibioN |9po) ueslBWY | 3P0 pseddiy |apod Aaaydwny | spod equig | 8po) [SOILNIAY 9zIS
adfi-y ‘W 8109,91/6 | "Siepow pue sazis 2100, /-1 PUE ‘,p/L-| 108 108 108 a108 210, 210, 210 510,
pue ,91// ‘,9}/G uo prepuels | a10q |le uo [euondo .8/, “,91/S UO piepuelS g g g g
e pai1ay0 siunopy/suondo jo Alewwng
“S|opowW pue sazis 810q 1dsoxa sjepow pue sazis
Jay10 |je uo [euondo ‘sjunous 210 Jayjo uo [euondo
300 J[2 ‘SIUNOW XA *,0G' 0} | °S|opOW pue Sezis | 9100, p/g-L pue ‘,p/-1 | SOHNIAY I e\ “58v2-d | Wv0T W
dn sazis 8104 | UO pIepUElS | @104 |le o [euondO .8/L .91/ UO piepuels U0 JUNoW prepuBlS X - YLV 06 |V-9605-Q | HVSL-IN | W2/k-t
spoy _om.wm S|eas UOHA sladwng “SJUNOW UOIUUNJ] JO} SOZIS 8108 | - - 0-S \V-G1222-Q | HVZL-N | Wb/L-)
ssajurey N - 3 N N B
sionio piepuES 8BUBLOIoIUI [EUOISUBLUIP I\ 10} AIOIOB) INSUOD) % SOA290L | LL-LAY 0-9 | v-00G1-Q | HVOL-IN |94/ 1-}
sjouBEw [RUIBIUI 10} SIS Biog W SOA0SL| Cl-1AV oL V-2201-a | ’VLIN | Jb/E
"SJUNOW 300|q 10} SOZIS a10g g ueatiawy | preddi |AesydwnH | equig SOLLNIAY
2108 .91/1-1 S —— fpeds =x ww\\n_uu.n :S9JON (s1aquieyd awn|op) SII0AISaY A1y
Joy uondo ebueyoselul = g1q puz poy oSl =1 )
300ig 1o BuRoy 21AaNoa = 500 Sanog V=S 9Ks=1
@soN ejanoq Bunoy signod = 04 Bunoy ejgnog = 4a Ober=d  Jw/I=3 €=0¢
poy ubnoiyL Bundy elanoa = €0a Buioy 8|gnoq = va yE=d .91E=a ehe=52
1ond Jeay Bulioy ejgnoq = 20d poy BuieloH-UON = 1N O =N 8L=0 e
junojy asoN Bunoy ejgnog = Loa pueixg Buudg 8/G=N 9QHL=9
vm>_&mhmmm Bur _%I.:oz Bunoy asieney = vy 9_% W(S
uinjey buuds bunoy 9|duIs = 20N uimey buudg .
wnwixep uinjey Buneloy-uoN Bunoy a|buIS = vS [ seuoul [euonoeiy W00°€ - 0L
2e=28 wnjey Buuds Bunoy sibuis = LON BPOW ] oeds=xx .2h=gi SC-09
.£=€0 1ond Jeay winjey Bunds 1N Buuno sepnoul FT=t2 b= J2/1-1 - 005+ oe-Le
W2 =20 Bunoy 9buis = 204 UNOI YOI JUOL] = £2=€2 .0L=0L Ob/b-L - 2904 - &/ LL
= UNoJ o0ig U0y =g 002 -2€ p/b-k - 2L
W=10 now Junop pu3 ejgnod = a WC8=22 .6=60 WV/E - 0SL 21 - b2 ;
40 =00 asoN pueyx3 bundg N _ Je=le .8=80 «91/6 - 295 </ WO1-L - 60
@jons youj In4 Bunoy elbuis = Lo NN 10N = d W02=02 =10 \9LL- L8y el - 08 »8/L-90 215 210,
2=t JonId sIUNO 8SON =N 6h=61 ,9=90 sz1g slog — SULL- L /e -0 sopon o8
0=V ey winjey Bundg alfys Bununopy 8L=8l .5=50 . /e -clh — 946 - 20 Hes
] e unoy albus = 203 S LL=D =R ais=s <2/} - 80 T 9L 10 o el .
o] R Junop poats =y 9L=9L .£=€0 == 9US - 50 w: : ww Sys - Lo
| puesedung yum mwww_%%%mm__nmm ddeo 3 pear) SrIgr et@ 2/1-+ = 1S90N mAm_m%m_ h_‘m _ \94/k-1 - 90 821§ 8log — Junow
Q| Buysngiond =60 i Bunano siadwing =9 e o= 9L/k-L =IS9EW a1k . /€ - L0 Poi [o915 e
JouBEN im 1A butiinow S[Eas UoIA = § «£h=gk 000 /6 =1592N 1his but 2/\ - 80 SSOIUIEIS = S eam=m
Q| buysngiond =go suondo oN =y 1o sauon g 91/6 =TS9 Sfons az15 ai0g uoisid siedwing = g
O)|| siess uoA uum =0002 suopdo ———] _ Buisuas uojsid uolysno Jeay = o aifas Bununo, onaubew = |y
C | Buysng lonid = 20 /e~ = 0SLL jeoads = X X UOIYSNO JUOL = of S o =
@ gedung yim 2/1k = 005k piepUEIS = @EZH | el Bununoy Spud U0 ons adk 2
- Buiysng 10AId = 90 /-t = 0521 uoneubisaq [e1oads - =3 avons m:o_r_u%u;u m POY SS €0€ = A adAL
[ W__mm__rm 1081 = G0 9L/k-L =290} “bed Buipeosid uo eigel =3 ugIwo =z " ouben dusieam =N wnopy ssejuelS
(6] yum siedwng = 40 +8/L=6.80 wn_ 206 o0y leusalu| = g jeubepy Jedim = p\ peaJy; pol
b= jeubep = €0 W7/ = 0520 JAluQ uoisig mm syod = €¢ - fewtaiu =N duwey ybiy = A pis-uou
c S[E8S UOIIA = 20 191/6 = €950 oneubepy 9L/L=Y sieduing = gg JOUAA LA =4 siodwng =
| siedung=10 W9QH/L=8EVO piepuels = 06 1216 ol0g UOUA = 1§ sedwng =g Jeduwing =g a8 oyong
.ﬁlv suondo ON = 00 W94/ = ELE0 mco_«ﬂo ON =00 o5 suondo suondo suondo Heo _
2| svondo oS olod S0 M= —! _I I_ “eps Sl e AS A "
= | -
..n_l..v 10 v 2 toa 00S1 00 VV-dva-veoad L€ 00°C TIS9EN SNA 290} X ¢ LI "HAs duondo/m 2 a9 00C =] a 60 O .
Q.
IS SOILVINNN NIHDHON NVOIH3INV advddiio A3HHdINNH vanig SOIIN3AV
o

Series M Mini Cylinders

43




Series MM Mini Cylinders

Q
AVENTICS

Here's why the low cost MM Series
light duty air cylinder with Piston Sensing

capability is your best choice...

./

N~

NAAANANAVNANAW

Quality cost saving features include:

@ Cylinder Tube — Type 304 stainless steel, polished to a
micro-inch finish on the 1.D. provides low friction and long
life. A matte finish on the O.D. provides smudge resistance.

@ Heads and Caps — Aluminum construction with precision
machining provides a smooth breakaway. The tube-to-head
connection is a strong double rolled construction.

@ Piston Rods —Stainless steel rod material is standard on
all sizes up to 1.50" bore. Stainless steel is also standard on
block, trunnion, non-rotating hexagonal rods and KDX mounts.
Stainless steel piston rods are available on other bores and
mounting styles at an additional cost.

@ Piston Body — Pistons are precision machined aluminum
construction. Piston rod connections are threaded and
anaerobic adhesive applied to provide for durable leakproof
service.

@ Seals — All piston and rod seals are of a lipseal construc-
tion. Buna-N is standard on all models.

@ Rod Bushings — Oil impregnated bronze reamed to a
close tolerance provides for smooth operation and long life.

@ Unitized Construction — Precision double-rolled unitized
construction provides durable, leak-proof service and long life.

Piston Magnet — Nitrile-Barium particle composite
surrounds entire diameter for dependable service and
long life.

@ Adjustable Reed Switch — Capable of either AC or
DC operation. Available standard with LED indicator for
easy on/off indication.

Adjustable Solid State Switch — NPN Sinking or
PNP Sourcing available standard with LED indicator for
easy on/off indication.

Standard Specifications - Series MM

e 304 stainless steel cylinder body.
e Aluminum heads and caps.
e Stainless steel piston rods are standard up to 1.50” Bore.

e Stainless steel is also standard on block, trunnion, non-
rotating hexagonal rods and KDX mounts. Stainless steel
piston rods are available on other bores and mounting styles at
an additional cost.

¢ Nominal pressure rating 250 psi.

¢ Standard temperature +14°F to +140°F.

* Bore sizes — 8 sizes available including 9/16", 3/4", 1-1/16",
1-1/4" 1-1/2", 1-3/4", 2 and 2-1/2" bore.

¢ Mounting styles — 24 standard.

¢ Adjustable cushions are available.

¢ Rod Wiper available for 3/4", 1 1/16" and 1 1/2" bores.
For additional mounting styles please consult factory.




Series MM Mini Cylinders

Mounting Styles

Q
AVENTICS

Series MM Available Mounting Styles

Bore Size Recommended
Model | Description 9/16" | 3/4" | 1-1/16"| 1-1/4" | 1-1/2" | 1-3/4" | 2"a | 2-1/2" Max. Stroke (in.)
N Nose mount, spring return [ ] ([ ] [ ] [ J [} [ [ — 6"
NR Nose mount, spring return, hex rod PY P P PY PY P o o 6"
(non-rotating)
NRP Pivot and nose mount, spring return, Py S P PY PY P o o 6"
hex rod (non-rotating)
P Pivot mount, spring return [ ] ® ® [ ] [ ] (] (] — 6"
R Nose mount, spring extended [ ] ® ([ ] [ ] [ [ ] [ ] — 6"
RP Pivot and nose mount, spring extend L] L] L] L] L] — ® — 6"
D Nose mount, double acting [ J [ [ [} [} [ [ [ ) 12"
DP Pivot and nose mount, double acting, . ° S o ° - o o 12" (under %:" bore)
pivot pin 32" (3" & up)
DXP Pivot and nose mount, double acting, ° ° ° ° ° PS S ° 12" (under /" bore)
no pivot pin 32" (3" & up)
DX Threaded both ends, double acting See DXP | See DXP | See DXP | See DXP — See DXP — 32"
KDX Threaded both ends, double acting, 6" (under ¥/4" bore)
double rod ® ® o e e o o e 12" (" & up)
KDH Threaded both ends, double rod, _ _ ° ° PY ° ° _ 120
hollow rod
BRN Rear block mount, single acting, _ P P _ °® _ o o 6"
spring return
BRR Rear block mount, single acting _ P P _ Py _ o o 6"
spring extend
BFD Front block mount, double acting — ® ® — (] — — — 12"
BRD Rear block mount, double acting — [ [ — [} — — — 12"
BFN Front block mount, single acting _ P P _ PY _ _ _ 6"
spring return
BFR Front block mount, single acting _ ° P _ PY _ _ _ 6"
spring extend
TRN Rear trunnion mount, single acting, _ P P _ PY _ _ _ 6"
spring return
TRR Rear trunnion mount, single acting, o P P _ PY _ _ _ 6"
spring extend
TFD Front trunnion mount, double acting — ® L] — [ ] — — — 12"
TRD Rear trunnion mount, double acting — ® ® — [ ] — — — 12"
TFN Front trunnion mount, single acting, _ P P o PY _ o o 6"
spring return
TFR Front trunnion mount, single acting, _ P P o ° _ _ _ 6"
spring extend

A Recommended maximum stroke is 4" in models N, P, R & RP.

For longer stroke lenaths - consult factory

45




Series MM Mini Cylinders

Switch and Clamp Assemblies

Q
AVENTICS

Switch Specifications

Reed Switch Assembly ~ Solid State Switch Assembly Reed Switch Assembly ~ Solid State Switch Assembly
RA432008144" R432008145* NPN Sinking R432008144* R432008145° NPN Sinking
R432008146* PNP Sourcing R432008146* PNP Sourcing
Switching Logic Normally open, SPST (Form A) NPN or PNP | operating Temperature 14° to 140°F (-10° to 60°C) 14° to 140°F (-10° to 60°C)
Supply Voltage Range 85 to 125 VAC or 5-30 .\/DC1 10-30 VDC | Storage Temperature -4° to 140°F (-20° to 60°C) -4° to 158°F (-20° to 70°C)
On-State Voltage Drop 1.7 V Maximum See Circuits Below | Enclosure Protection Nema 6, IEC IP67 Nema 6, IEC IP67
Current Output Range — Upto 100mA at12VDC | Lead Wire 2 conductor, 24 Gauge 3 conductor, 24 Gauge
Up t0 200 mA at 24 VDG Lead Wire Length 39 Inches, 1 Meter 39 Inches, 1 Meter
Burden Current - 1% mﬁ :% ;‘21 ¥Bg Collor c?f Cable Elack See Eelow
Power Rating 10 Watts (Resistive) Switching Response 300 Hz Maximum 1000 Hz Maximum
5 Watts (Capacitive) Shock Resistance 30g not applicable
Switching Current Range 30 mA to 200 mA (Resistive) Vibration Resistance 10-55 Hz, 1.5 mm not applicable
30 mA to 100 mA (Capacitive) Double Amplitude
Leakage Qurrent 0 10pA 1 Polarity is restricted to DC operation: (+) to Brown (White*) (-) to Blue (Black®)
LED Function Red, Target Present Red, Target Present If these connections are reversed the contacts will close, but the LED will not light.
Minimum Current Note: For switches with connectors and cordsets, See Complementary Product Section.
to Light LED 18 mA 1 mA
Circuits
Reed Switch NPN Sinking Output PNP Sourcing Output
* *
PartNo. RA32008144%  PaMtNO. oot R432008145" P&t NO. ......cccocccomrorrsorscorsorsere R432008146
NOTE:  Polarity must be observed for E:oler of Cable ..o Black S:olgr Of Cable ..o _Gray
DC operation only. On” State Voltage Drop .........ccccceue.... 0.7V Maximum On” State Voltage Drop .........ccc.ee... 0.2V Maximum
Brown, Moad! . . Brown (Red*) *) Brown (Red") *)
== E o
ite* 5o 30 VDC ite* 5o 30
or % Black (Whlte) Black (Whlte) VDo
Blue Blue (Black*) 0 Blue (Black*) 0

*Wire colors in parentheses pertain to switches manufactured before 10/15/93.

Circuit for Switching Contact Protection (Inductive Loads)
(Required for proper operation 24V DC)

Put Diode parallel to loads following polarity as shown below.

the load.

Typical Example—100 Volt, 1 Amp Diode
CR: Relay coil (under 0.5W coil rating)
(Recommended for longer life 125 VAC)

Put a resistor and capacitor in parallel with the load. Select the resistor and capacitor

according to the load.

Typical Example:

CR: Relay coil (under 2W coil rating)
R: Resistor 1 KQ-5KQ, 1/4 W
C: Capacitor 0.1 uF, 600 V

Blue

.06 —‘ “-1 .02—‘ “-.06

’
wml +
\s

R

* Stainless steel worm gear type clamps must be ordered
separately.
Bore Clamp Bore Clamp
Size Assembly Size Assembly
/16" R432007822 1" R432007825
34" R432007823 | 13/4", 2" R432007826
16" R432007824 21" R432007827
14" R432007824 -

A Caution

— Use an ampmeter to test reed switch current. Testing devices such as incandescent light
bulbs may subject the reed switch to high in-rush loads.

— NOTE: When checking an unpowered reed switch for continuity with a digital ohmmeter the
resistance reading will change from infinity to a very large resistance (2 M ohm) when the
switch is activated. This is due to the presence of a diode in the reed switch.

— Anti-magnetic shielding is recommended for reed switches exposed to high external RF or
magnetic fields.

— The magnetic field strength of the piston magnet is designed to operate with our switches.
Other manufacturers’ switches or sensors may not operate correctly in conjunction with
these magnets.

— Current capabilities are relative to operational temperatures.

— Use relay coils for reed switch contact protection.

— The operation of some 120 VAC PLC's (especially some older Allen-Bradley PLC's) can
overload the reed switch. The switch may fail to release after the piston magnet has passed.
This problem may be corrected by the placement of a 700 to 1K OHM resistor between the
switch and the PLC input terminal. Consult the manufacturer of the PLC for appropriate circuit.

— Switches with long wire leads (greater than 15 feet) can cause capacitance build-up and

sticking will result. Attach a resistor in series with the reed switch (the resistor should be
installed as close as possible to the switch). The resistor should be selected such that R
(ohms) >E/0.3.




Series MM Mini Cylinders

Al
9/16" Bore Single Actin "
g 9 AVENTICS
H *To determine lengths for half
Mountlng Style N inch stroke increments, determine
Single Acting Ietngl:h fordnext)?igthSthwler')le r? umoer 176 PLUS 1.62 FOR
Spring Return Slroke and subtract a halr Incl <_ EACIZS‘l?(BIE ﬁ_&PKE*
Front Nose Mounting 5
Stainless Steel Rod Standard j‘ [ )
Standard Stroke Lengths: /2", 1", 12", 2", 3", 4" 188 DIA. ﬁ - - Eﬂiﬁz
Maximum Stroke 6" o
#10-32 UNF-2A }7/16-20 MOUNTING NUT J - #10-32 PORT
Optional Accessory:
R432007831 Foot Bracket
Mounting Style NR “To gette"ll‘i”.e 'engthstfoghf” )
Single Acting longth for next highest whole number
ing
: i 2.03PLUS 1.62 FOR  ————=
Sprlng Return stroke and subtract a half inch. o EACH 13070 OK SPTR&KE*
Front Nose Mounting -gg_, HT-OG 50
Non-Rotating Hex Rod ' —7 o 1
Stainless Steel Rod Standard 188 DIA. ﬁ - - ,Jljﬁz
Standard Stroke Lengths: /2", 1", 172", 2", 3", 4"
Maximum Stroke 6" #10-32 UNF-2A \Fm 6-20 MOUNTING NUT J #10-32 PORT
62 .19
Optional Accessory: 3/16 HEX
R432007831 Foot Bracket
H * To determine lengths for half
Mountlng Style NRP inch stroke increments, determine
Single Acting length for next highest whole number D — E/%CSHO $§%%L%%E%EE*—>
Spring Beturn . stroke and subtract a half inch. ".50: ﬂ ~ 06 .4gI7LOI_i_A. .25: <_<_
Rear Pivot Mounting 25 06
Non-Rotating Hex Rod e _ ESD
A .188 DIA. A3 1 OO
Stainless Steel Rod Standard } £ 157 DIA.
Standard Stroke Lengths: 1/2", 1", 11/2", 2", 3", 4" #10-32 UNF-2A [~—7/16-20 UNF-2A PIN HOLE ‘31 L»
Maximum Stroke 6" > 62 - #10-32 PORT - 38 |-
Optional Accessories: SMBHEX~ l«———— 531PLUS162FOR —™ 716-20 UNF-2A

R432007816 Pivot Bracket with Pin EACH 1.00 OF STROKE"

R432007806 Rod Clevis
Mounting Style P *_To determine lengths for half

inch stroke increments, determine

je—+— 225PLUS1.62FOR — &

Optional Accessory: 7/16-20 MOUNTING NUT — g

R432007831 Foot Bracket

Single Acting length for next highest whole number EACH 1.00 OF STROKE;,
Spring Return stroke and subtract a half inch. 50~ ﬂ - 06 437 DIA. 25— |+
. . PILOT — |
Rear Pivot Mounting o6
Stainless Steel Rod Standard 185 DIA. E{ - ,t O o &
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" } # 87 DA \&
Maximum Stroke 6" #10-32 UNF-2A PIN HOLE_»‘ a1 L»
| 38 l= #10-32 PORT P :
Optional Accessories: 7/16-20 UNF-2A ~——— 206PLUS1.62FOR_—* 7116-20 UNF-2A
R432007816 Pivot Bracket with Pin EACH 1.00 OF STROKE
R432007806 Rod Clevis
H *To determine lengths for half

Mountlng Style R inch stroke increments, determine .
Single Acting length for next highest whole number EEC?I-SI flﬁgs()%%%r';%ﬁ?
Spring Extend stroke and subtract one inch. ’
Front Nose Mounting S R—" F—-% PHRARNGT .
Stainless Steel Rod Standard - [ !
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3" .188 DIA. ) -6 |

9 P
Maximum Stroke 6" f / —

#10-32 UNF-2A
- .38 |w— ‘ #10-32 POle f—.19

47




Series MM Mini Cylinders

8
9/16" Bore Single and Double Actin -
g g AVENTICS
H *To determine lengths for half
Mountlng Style RP inch stroke increments, determine ~ EA207H2 1PI6%SOZI‘=682'I'E%§E*
Single Acting length for next highest whole number ’
Spring Extend stroke and subtract one inch. '50—»'—-]:38 TéUSDl,SATROKE 25— e
437 DIA.

Rear Pivot Mounting 067 7/ PILOT 7\ 06—
Stainless Steel Rod Standard mjm { ) [N é ol
Standard Stroke Lengths: /2", 1", 11/2", 2", 3" f@ hd ||
Maximum Stroke 6" #10-32 UNF-2A .l 38 L_ ‘ #10-32 PORT:

7/16-20 UNF-2A S e e
Optional Accessories: —— 253PLUS2.62FOR — ™ 7/16-20 UNF-2A

R432007816 Pivot Bracket with Pin EACH 1.00 OF STROKE*

R432007806 Rod Clevis

Mounting Style D
Double Acting ™ 253PLUSSTROKE — 7
Front Nose Mounting 38
Stainless Steel Rod Standard 507 .437 DIA. PILOT
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" ! | ggs/_ rio
Maximum Stroke 12" .188 DIA. }%} - - L“j.
Vi IX \\~ A
#10-32 UNF-2A
7/16-20 MOUNTING NUT -78_" #10-32 PORT J le 19

Optional Accessory:
R432007831 Foot Bracket

Mounting Style DXP

. 3.00 PLUS STROKE
Double Acting

Double End or Rear Pivot Mounting s0TT T 3e 457 DIA 25—+ = N
Stainless Steel Rod Standard ->] 05~ PILOT’ 06—~ ‘

Standard Stroke Lengths: /2", 1", 152", 2", 3", 4" .

Maximum Stroke 12" JWW 3 d% B B JG} ReS 157 DIA. &

Optional Accessories: #10-32 UNF-2A ‘_J #10-32 PORT PINHOLE, | .
) / =78 -l 38 = '

%

R432007806 Rod Clevis 7/16-20 UNF-2A

R432007831 Foot Bracket 2.81 PLUS STROKE 7/16-20 UNF-2A

R432007841 Hex Mounting Nut

Mounting Style KDX

. [«——3.19 PLUS 2 TIMES STROKE ——|

Double Actlng -~ 38 2.44 PLUS STROKE .38 PLUS STROKE

Double Rod 50| F—_OB 06~ -0

Double End Mounting r 4STDIA-PILOT ||

Stainless Steel Rod Standard 1ssjw {? [ g}’ -THHEEM%‘ t

Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" ' }7 N4 S HP v ¥

Maximum Stroke 6 #10-32 UNF-2A N oso port #10.32 UNL2A
/ == 38 |+ \—7/16-20 MOUNTING NUT

Optional Accessory: 7/16-20 MOUNTING NUT .78 =78

R432007831 Foot Bracket

48




Series MM Mini Cylinders

, , 8]
3/4" Bore Single Acting HVENTlCS.
H *To determine lengths for half

Mountlng Style N inch stroke increments, determine
Sing|e Acting length for next highest whole number 1.75 PLUS 1.69 FOR -
Spring Return stroke and subtract a half inch. . EACH 1.00 OF STROKE*

. 2507 .09
Front Nose Mounting ﬂr 499 DIA. PILOT [e2
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" — j }
Maximum Stroke 6" -250$D'A- ) [/ - i 8

1/4-28UNF-2A 1/2-20 MOUNTING NUT J
{44 | ta—.19

Optional Accessory:
R432007832 Foot Bracket

H *To determine lengths for half
Mountlng Style NR inch stroke increments, determine
Single Acting length for next highest whole number EEC?I—OI ?IEJ%SOLIGSQI'E%RKE*—>
; stroke and subtract a half inch. :
Spring Return _ 507 r‘.25 1499 DIA. PILOT
Front Nose Mounting =09
Non-Rotating Hex Rod zsgw o b _
Standard Stroke Lengths: /2", 1", 1/2", 2", 3", 4" I A3
Maximum Stroke 6 1/4-28 UNF-2A [™—1/2-20 MOUNTING NUT
1/4 HEX 69 e
Optional Accessory:
R432007832 Foot Bracket
i * To determine lengths for half
gnOL:ang Style NRP inch stroke increments, determine
ingle Actin length for next highest whole number [~————— 3.06PLUS1.69 FOR ————= 86
S g Ret 9 stroke and subtract a half inch. [ R | EACH 1.00 OF STROKE
pring Return 807 | TTIT.09  ~499DIA.PILOT 34w (= 757
Rear Pivot Mounting 257 1/8 NPTF—
Non-Rotating Hex Rod _zsgw b _ el | I *
Standard Stroke Lengths: 1", 2", 3", 4" f AN} b
Maximum Stroke 6" 1/4-28 UNF-2A/ \—1/2.20 UNF-2A \

. . > .69 e - .62 [+ _ ~
Optional Accessories: 1/4 HEX e 5 78PLUS169FOR — 5/8-18 UNF-2A
R432007813 Pivot Bracket EACH 1.00 OF STROKE*

R432007807 Rod Clevis
i * To determine lengths for half
g’lountlng Style P inch stroke increments, determine
ingle Acting length for next highest whole number [e————— 281PLUS1.69 FOR ~——= 86

> f EACH 1.00 OF STROKE*

Sprlng _Return . stroke and subtract a half inch. 50—~ # - 09 ‘799 DlA{%'hPL: 34_»‘ . _—
Rear Pivot Mounting N '
Standard Stroke Lengths: /2", 1", 1'/2", 2", 3", 4" _25§W s _ IO 250
Maximum Stroke 6" i N1 ¥ laded 3

1/4-28 UNF-2A \1 /2-20 UNF-2A \ |38

. . — 44 |- —| .62 | _ ~
Optional Accessories: 253 PLUS 1.69 FOR 5/8-18 UNF-2A

R432007813 Pivot Bracket
R432007807 Rod Clevis

EACH 1.00 OF STROKE*

«—— 2,56 PLUS 2.69 FOR —/
EACH 1.00 OF STROKE*

Mounting Style R inch iroke incremen, determine

Single Acting length for next highest whole number

Spring Extend stroke and subtract one inch. =50
Front Nose Mounting

Standard Stroke Lengths: /2", 1", 2", 3", 4" _ngm

Maximum Stroke 6"
1/4-28 UNF-2A
5/8-18 MOUNTING NUT

Optional Accessory:
R432007833 Foot Bracket

49

o9 <20 PRI SIKBlor

|
-

50 L_’J 1/8 NPTF
.97




Series MM Mini Cylinders

3/4" Bore Single and Double Acting

Q
AVENTICS

e——— 297 PLUS 2.69 FOR ——

H *To determine lengths for half
Mountlng Style RP inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch.

Spring Extend

Rear Pivot Mounting
Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 6"

250 DIA

4
Fa I
1/4-28 UNF-2A

EACH 1.00 OF STROKE*
.50 PLUS STROKE

624 DIA. PILOT
09/ .34—»‘

<—50—>

‘

1/8 NPTF
5/8-18 UNF-2A— ] 50
Optional Accessories: 269 PLUS 2.69 FOR
R432007813 Pivot Bracket EACH 1.00 OF STROKE*
R432007807 Rod Clevis _
Mounting Style D
Double Acting T 297PLUSSTROKE — | 86
Front Nose Mounting ~50 50
e 624 DIA. PILOT
Standard Stroke Lengths: /2", 1", 2", 21/2", ‘ =l
3', 4", 5,68 10 . 250 DIA, Lo — -
Maximum Stroke 12 T / AR
1/4-28 UNF-2A
/ 1/8 NPTF
5/8-18 MOUNTING NUT g7

Optional Accessory:
R432007833 Foot Bracket

Mounting Style DP T 403PLUSSTROKE — ™
Double Acting '—‘Fso

Rear Pivot Mounting I"E’O—» _»‘ 9 '6241[/2ANEITLFOT pamgiing
Standard Stroke Lengths: /2", 1", 2", 2'/2", { L _— IR 1
3" 4" 5" 6" 8" 10" 250 DIA. £y :| - ——— — O -O— 250 PIN
Maximum Stroke 12" ! : t

1/4-28 UNF-2A

5/8-18 UNF-ZA/

Optional Accessories:
R432007813 Pivot Bracket
R432007807 Rod Clevis

.62

97"

3.75 PLUS STROKE

—=|.38

"\\ 5/8-18 UNF-2A

Mounting Style DXP

Double Acting 5
Double End or Rear Pivot Mounting

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6", 8", 10"
Strokes over 12" must be supported at both ends 250 DIA.
Maximum Stroke 32" I

Optional Accessories:
R432007833 Foot Bracket
R432007807 Rod Clevis
R432007817 Pivot Bracket with Pin

MOUNTING NUT

507 ~— 2.91 PLUS STROKE —"134[*
el - ]
50 ‘ 99 604 DIA. PILOT 09
|

1/4-28 UNFQA\J'
e
5/8-18 97

4.03 PLUS STROKE

eI

1/8 NPTF

.62

O —— A ————

3.75 PLUS STROKE

Mounting Style KDX ——4.00 PLUS 2 TIMES STROKE ———
Double Acting 50 —HF— 3.00 PLUS STROKE S0PLUS
DOUble ROd FSO* j ‘0‘9 .624 DIA. PILOT 'O? »’4» j
Double End Mounting ()
Stainless Steel Rod Standard .253@ i J\I H
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6" Ff 4
Maximum Stroke 12" 1/4-28 UNF-2A 18 NPTF/%
0
Optional Accessory: 5/8-18 MOUNTING NUT S/E?ZB—I\;OUNTING ot

R432007833 Foot Bracket

50

.86

1/4-28 UNF-2A



Series MM Mini Cylinders - Block Mounted

3/4" Bore Single and Double Acting

Q
AVENTICS

' [«——— 2,56 PLUS 1.69 FOR_ ———
H *To determine lengths for half - EACH 1.00 OF STROKE*
Mountlng Style BRN inch stroke increments, determine 25— o
Single Acting length for next highest whole number ’ 09 18 NPTF 1.00" ]
Spring Return stroke and subtract a half inch. |75~ T [ 499 DIA P”_OT\ ME.
Rear Block Mounting P | Tyl N ‘% |
Stainless Steel Rod Standard oia. 2P 3 ? i ‘ g;l 1po
Standard Stroke Lengths: 1", 2", 3", 4" R\ 1
. B 1/4-28 UNF-2A
Maximum Stroke 6 22 WRENCH FLATS 1/2:20 UNF-2A #10-32 UNF-ZB/
2 HOLES ON A
1.00 DIA. BOLT CIRCLE
H * To determine lengths for half B Eiéa 75%505'2%5859
Mountlng Style BRR inch stroke increments, determine .75 PLUS STROKE
Single Acting length for next highest whole number .25 PLUS STROKE le09 .
Spring Extend stroke and subtract one inch. - > rzs 624 DIA. PILOT F*Loo ‘
: 757" ) 1/8 NPTF
Rear Block Mounting | e F‘* ‘
Stainless Steel Rod Standard 58 250 DIA- gﬂﬂﬂﬁ{ ——eiftt——1{ - 1bo
Standard Stroke Lengths: 1", 2", 3", 4" [ g ; Vi I | a#—‘
Maximum Stroke 6" 1/4-28 UNF-2A ‘ / o
.22 WRENCH FLATS 97— #10-32 UNF-2B
5/8-18 UNF-2A £ 00 iA BOLT CIRCLE
Mounting Style BFD #1092 UNE-28 o, T PUSSTROE
. 2 60'DIA SOLT CIRCLE
Double Acting _ “om o,
Front Block Mounting 250 =75+ : e
Stainless Steel Rod Standard r (AN et é PN B
Standard Stroke Lengths: /2", 1", 2" 3", 4", 5", 6" i’ o it N xu{\ - 625,
Maximum Stroke 12" 7& &
L 4‘ 8 1/8 NPTF
o oo e
22 WRENCH FLATS 1/3-20 UNC-2B OPPOSITE SIDE
1/4-28 UNF-2A

Mounting Style BRD

Double Acting

Rear Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"
Maximum Stroke 12"

.22 WRENCH FLATS )
5/8-18 UNF-2A

S S—

44 - F—LOO—»‘

3.78 PLUS STROKE

.624 DIA. PILOT
1/8 NPTF N

1/4-28 UNF-2A

o
|

#10-32 UNF-: 2B
2 HOLES ON
1.00 DIA. BOLT CIRCLE

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Mounting Style BFN
Single Acting

Spring Return

Front Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 2", 3 4"
Maximum Stroke 6"

#10-32 UNF-2B

291 PLUS 1.69 FOR ——=
EACH 1.00 OF STROKE*

B o]

.
093 .62 —| e .19
250 |a-75- | ‘
DIA. i 10—
.624 i ¥ L 162 81
DIA. - ® - K O2DIA.
-t \

$ I
N\
a5+ 1/8 NPTF

2 HOLES DRILLED & C'BORED
FOR #10-32 CAP SCREWS.

.22 WRENCH FLATS 1/4-20 UNC-2B OPPOSITE SIDE

1/4-28 UNF-2A

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

Mounting Style BFR
Single Acting

Spring Extend

Front Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

51

#10-32 UNF-2B 1127

2 HOLES ON A 25+ =

1.00 DIA. BOLT CIRCLE o093 -
250 L [ 82

[ 2.81 PLUS 2.69 FOR
EACH 1.00 OF STROKE*

DIA

/\J’

1/4-20 UNC-2B OPPOSITE SIDE

I R _ 5 L1
E{ & ? Sh.
o) 1
N
1/8 NPTF

2 HOLES DRILLED & C'BORED

™8~ FOR#10-32 CAP SCREWS,

.22 WRENCH FLATS
1/4-28 UNF-2A




Series MM Mini Cylinders - Trunnion Mounted

3/4" Bore Single and Double Acting

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Mounting Style TRN
Single Acting
Spring Return

- 2.56 PLUS 1.69 FOR
EACH 1.00 OF STROKE*

Q
AVENTICS

Rear Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"

Maximum Stroke 6"

1/4-28 UNF-2A
.22 WRENCH FLATS

1/2-20 UNF-2A

EACH 1.00 OF STROKE*

la— 2.19PLUS 169FOR ____ .|

=-62;
25—+
09 8 NPTF G 00— y
=75 [‘T r.499DIA.PILOx ﬁ -T
||
Lo Ll N
¢t X LEJJI
By e

<500 DIA.

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number

Mounting Style TRR

3.47 PLUS 2.69 FOR
EACH 1.00 OF STROKE*

Single Acting 25 PLUS STROKE
Spring Extend stroke and subtract one inch. ]
<75
Rear Trunnion Mounting ‘ﬁ
Stainless Steel Rod Standard £6 250 DA

Standard Stroke Lengths: 1", 2", 3", 4"

i

—

75 PLUS STROKE
09 624 DIA. PILOT
r 1/8 NPTF

h e
g 4

Maximum Stroke 6"

1/4-28 UNF-2A

.22 WRENCH FLATS

5/8-18 UNF-2A ——

«.97»‘

I

EACH 1.00 OF STROKE*

3.10PLUS 269FOR ____ |

-

1.00—=
*La
1.(]0 1.75

<500 DIA.

¥
3

Mounting Style TFD

Double Acting

Front Trunnion Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 2", 1", 2", 3", 4", 5", 6"
Maximum Stroke 12"

.500 DIA.—>‘

r L sz»
751.00 QQ -6£4L J B

[+———3.22 PLUS STROKE
f——112—»

+.093

[

i [-69-»]
22 WRENCH FLATS

* 1.00—|
1/4-28 UNF-2A
Mounting Style TRD I
Double Acting B w00 upia piLOT w44 |- 1.00—»
Rear Trunnion Mounting fe-75] r} 1 NPTE— r —
Stainless Steel Rod Standard L T A N (—'jTT
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6" 38 250 DIA = e . O | - 100 1
Maximum Stroke 12" ot @ vl 1
1/4-28 UNF-2A
.22 WRENCH FLATS
5/8-18 UNF-2A —/* 1227

[4————3.41 PLUS STROKE ———»

| l—soopia

H *To determine lengths for half
N_Iountln_g Style TFN inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 6"

p

.38

<500 DIA.

.250

2.91 PLUS 1.69 FOR
EACH 1.00 OF STROKE*

25 [a——1.12——

093

—_ DIA.

[‘.75»
7511)0 GQ -6£4L i{ -4

B LimooA‘ / =69
22 WRENCH FLATS

R

—o—

1/4-28 UNF-2A

H *To determine lengths for half
N_Iountln_g Style TFR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch. _

Spring Extend

Front Trunnion Mounting
Stainless Steel Rod Standard N
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

52

34 PLUS STROKE
25—+
|« 500 DIA.

250

093

2.81 PLUS 2.69 FOR

EACH 1.00 OF STROKE*

112 ——»

A

9|

I DIA]
.624 L

i

4

1/4-28 UNF-2A

.69 PLUS
/ STROKE ™
22 WRENCH FLATS

o 1

DIA.

18 NPTF




Series MM Mini Cylinders

1-1/16" Bore Single Acting

Q
AVENTICS

Mounting Style N
Single Acting
Spring Return
Front Nose Mounting

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007833 Foot Bracket

NOTE: Piston rod is available w/o
wrench flat (at no extra charge).
Specify when ordering.

2.31 PLUS
1.56 FOR EACH
1.00 OF STROKE*

-69-»
A2 -
~—09 -19
r.so rﬂ ™
312 DIA. 357 — |—"
5/16-24 UNF-2A
.25 WRENCH FLATS -624 DIA. PILOT

5/8-18 MOUNTING NUT

Mounting Style NR
Single Acting

Spring Return

Front Nose Mounting
Non-Rotating Hex Rod

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"
Optional Accessory:

312 DIA

—

2.44 PLUS
[+— 1.56 FOR EACH
1.00 OF STROKE*

R
1

5/16-24 UNF-2A

.624 DIA. PILOT

3/8 HEX
R432007833 Foot Bracket 5/8-18 MOUNTING NUT
H *To determine lengths for half 31 PL 56 FOR

Mountlng Style NRP inch stroke increments, determine EE(?I-} 140%%}:58%'R%KE* 112
Single Acting length for next highest whole number 624 DIA. PILOT
Spring Return stroke and subtract a half inch. r;g: F—»‘ <09 1/8 NPTF: .34—»‘ . 75—
Rear Pivot Mounting LI | AU A ¢
Non-Rotating Hex Rod -31% o — - O .250*P|N
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6" ’ B / roe| TTOBIBUNF2A 62 o

=757 .62 1= 5/8-18 UNF-2A
Optional Accessories: R432007813 Pivot Bracket 3/8 HEX e 3.03PLUS1.56FOR ___ |

R432007808 Rod Clevis

EACH 1.00 OF STROKE*

Mounting Style P
Single Acting

Spring Return

Rear Pivot Mounting

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 112", 2", 3", 4"

Maximum Stroke 6"

Optional Accessories: R432007813 Pivot Bracket

R432007808 Rod Clevis

3.19 PLUS 1.56 FOR
[~ EACH 1.00 OF STROKE* "
[+62- .624 DIA. PILOT
127 1/8 NPTF 112
rso—> —l=-09 a4/ a 75+
312 DIA f* ~ eyl é *PIN
. * . It D .250*
5/16-24 UNF-2A / ! 5/6-18 UNF-2A \ | 28
.25 WRENCH FLATS .62 = - .
le— 2.91PLUS 1.56 FOR  _,| 5/8-18 UNF-2A

EACH 1.00 OF STROKE*

Mounting Style R
Single Acting
Spring Extend
Front Nose Mounting

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

Standard Stroke Lengths: /2", 1", 1/2", 2", 3", 4"

Maximum Stroke 6"

Optional Accessory:
R432007833 Foot Bracket

NOTE: Piston rod is available w/o
wrench flat (at no extra charge).
Specify when ordering.

.62 PLUS STROKE
r.so-— 12 —»‘ .09~.624 DIA. PILOT

.312 DIA.

5/16-24 UNF-2A:
.25 WRENCH FLATS
5/8-18 MOUNTING NUT

-—

2.87 PLUS 2.81 FOR .
EACH 1.00 OF STROKE*

—o—

1/8 NPTF

112

Mounting Style RP
Single Acting
Spring Extend

Standard Stroke Lengths:

1/2", 1II, 11/2", 2II’ 3II, 4II
Maximum Stroke 6"

Optional Accessories:
R432007813 Pivot Bracket
R432007808 Rod Clevis

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

NOTE: Piston rod is available w/o
wrench flat (at no extra charge).
Specify when ordering.

.25 WRENCH FLATS/

53

f——————————

3.31 PLUS 2.81 FOR
EACH 1.00 OF STROKE*

[

|50 ‘4—.1

.312 DIA.

5/16-24 UNF-2A

.62 PLUS STROKE
2 -09 .624 DIA. PILOT
_>‘ e /— or_

,{,

—o-

N
‘\\\ ¥

— X
1/8 NPTF

4 50 L‘ M 5/8-18 UNF-2A
[+—1.06—

3.03 PLUS 2.81 FOR
EACH 1.00 OF STROKE*




Series MM Mini Cylinders
1-1/16" Bore Double Acting HVENTlCSm

Mounting Style D l«———3.41 PLUS STROKE ——
Double Acting 62
Front Nose Mounting 12+ 00 19 }
Standard Stroke Lengths: /2", 1", 112", 2", ‘fso» W /624 DIA. PILOT s ‘
21/2", 3II, 4II7 5II’ 6II, 8II, 10"’ 12" .
Maximum Stroke 12" -312?% Ty \ I 88
5/16-24 UNF-2A 1/8 NPTF
, o .25 WRENCH FLATS 5/8-18 MOUNTING NUT
. NOTE: Piston rod is available w/o
Optional Accessory: wrench flat (at no extra charge).
R432007833 Foot Bracket Specify when ordering.
Mountmg_ Style DP 4.28 PLUS STROKE
Double Acting 62
Rear Pivot Mounting 12—~ 624 DIA. PILOT 112
Standard Stroke Lengths: /2", 1", 1'/2", 2", 501 -" 09/ I NPTF ,34*\ e 75—
21/2"’ 3II’ 4II’ 5Il’ 6II’ 7II, 8II’ 10"’ 12" ;
Maximum Stroke 32" 312 DIA. >'{ _— o} ] .250*PIN
} v

5/16-24 UNF-2A / \ | 28
Optional Accessories: .25 WRENCH FLATS /<—1 19— ' \_ 5/g.18 UNF-2A
R432007813 Pivot Bracket 5/8-18 UNF-2A~/ [ 4.00 PLUS STROKE —————>|
R432007808 Rod Clevis
Mounting Style DXP fa————————— 4.28 PLUS STROKE ———
Double Acting N i 1 12]
Double End or Rear Pivot Mounting o) | e 0o -S‘q - '
Standard Stroke Lengths: /2", 1", 11/2", 2", r ‘ /624 DIA. PILOT r
21/2", 3II, 4II, 5II, 6II, 7II, 8II, 10", 12" *
Strokes over 12" must be supported at both ends 312 DIA. " -

H n
Maximum Stroke 32 \) 251 DIA
i ) 5/16-24 UNF-2A BNPTE —

Optional Accessories: o5 WRENGH FLATS _/ :_\EOLE
R432007833 Foot Bracket ' 58-18 —— |=—1.19 ' 5/8-18 MOUNTING NUT
R432007808 Rod Clevis MOUNTING NUT 4.00 PLUS STROKE

R432007817 Pivot Bracket with Pin

Mounting Style KDX

Double Acting
Double End Mounting — Double Rod

Stainless Steel Rod Standard 50— —»‘ =-~09,~624 DIA. PILOT og—»T 12— 50> Tm—'
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6" T PN
Maximum Stroke 12" _mjm ey ~ .r‘jI H—; (

f ™

4.53 PLUS 2 TIMES STROKE —————*
[+-62—<+—— 3.28 PLUS STROKE —* .62 PLUS STROKE

LN
¢

5/16-24 UNF-2

N 5/16-24 UNF-2A
25 WRENCH FLATS 1/8 NPTF

—>‘.56 - —*1-56 L‘ .25 WRENCH FLATS

Optional Accessory:

1.19—» =—1.06— 5/8-18 MOUNTING NUT
R432007833 Foot Bracket 5/68-18 MOUNTING NUT
Mountlng Style KDH f¢————— 4 53 PLUS 2 TIMES STROKE ————
Double Acting ~62—-{=~—— 3.28 PLUS STROKE .62 PLUS STROKE
Double End Mounting 2 |-
Double Hollow Rod 50— 09,624 DIA. PILOT~\ 09 —|l+= 12—+ |<50 =112
Standard Stroke Lengths: 1", 2", 3", ' r j H—, N\
4", 5,"’ 6" 312DIA. T( - ()T &
Maximum Stroke 12" T IR S =/ )
N\[X
5/16-24 UNF-2 / 5/16-24 UNF-2A
.25 WRENCH FLATS _J 56 = 1/8 NPTF — .56 (= .25 WRENCH FLATS

Optional Accessory:

F-— — 5/8-18 MOUNTING NUT __ .187 DIA. HOLE
R432007833 Foot Bracket 5/8-18 MOUNTING NUT —/ =119 —1.06

THRU PISTON ROD

54




Series MM Mini Cylinders - Block Mounted

1-1/16" Bore Single and Double Acting

AVE

*To determine lengths for half
inch stroke increments, determine

Mounting Style BRN

l¢—— 3.06 PLUS 181FOR

EACH 1.00 OF STROKE*

Q
NTICS

=—88

Single Acting length for next highest whole number 38 " Y8 NPTE 1.25—wm
Spring Return stroke and subtract a half inch. \*-75**1 E‘ [ 624DiA P"_Ox .44 - r ‘7
Rear Block Mounting i N =
Stainless Steel Rod Standard 112 312 DiA: - o _ O - 155
Standard Stroke Lengths: 1", 2", 3", 4" X

: " 5/16-24 UNF-2A —_
Maximum Stroke 6 .25 WRENCH FLATS 5/8-18 UNF-2A #10-32 UNF_QB/

1 50A 804 ciroLe
H * To determine lengths for half n Eﬁgﬁ ?&)%50;2:'%58?9
Mountlng Style BRR inch stroke increments, determine 88 PLUS STROKE
Single Acting length for next highest whole number ’
! .38 PLUS STROKE +|l409 _ 604 DIA. PILOT 125w
Spring Extend stroke and subtract one inch. o] s : . F* : ‘
Rear Block Mounting ; }*'75* ‘F — 7 VeNPTE
Stainless Steel Rod Standard Ao 31;W { s | W ’ 155
Standard Stroke Lengths: 1", 2", 3" 4" R 53 Y ‘ ‘ #J j
Maximum Stroke 6" 5/16-24 UNF-2A ‘ / —
25 WRENCH FLATS /<—1 .06 #10-32 UNF-2B

5/8-18 UNF-2A

2HOLESON A
1.25 DIA. BOLT CIRCLE

Mounting Style BFD

Double Acting

Front Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1, 2", 3", 4", 5", 6"
Maximum Stroke 12"

7
D

#10-32 UNF-2B
2H

3.91 PLUS STROKE

FO
.25 WRENCH FLATS  1/4-20

5/16-24 UNF-2A

o 47 l—1.41—]
OLES ON A pasp
125 DIA. BOLT CIRCLE ™ [
-+ 093 g1 . 19
312 =75 | | ™
DIA. @ ‘
bt i A BA
7 N—— \} - — W88 DIA.
{ D X
60 dem 1/8 NPTF
l«—116— 2 HOLES DRILLED & C'BORED
- R #10-32 CAP SCREWS

UNC-2B OPPOSITE SIDE

Mounting Style BRD

Double Acting

Rear Block Mounting

Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 12"

.38

38
-88

{=-.09

————— 4.16 PLUS STROKE ———|

—

.624 DIA. PILOT
18 NPTF —\

=751
112

|
DIA.

b
(e

i
|

]
12
\

/

&

v

H] ]

5/16-24 UNF-2A
25 WRENCH FLATS

«—1.44—»‘

:

#10-32 UNF-2B

5/8-18 UNF-2A —/ §55biA BOLT ciRcLE
H * To determine lengths for half ‘75&?43 1?'68%;1-'83%825*
Mountlng Style BFN inch stroke increments, determine 31'_?35&%%&22 47 f—1 41—
Single Acting length for next highest whole number 1.25DIA, BOLT CIRCLE }4,_25
Spring Return stroke and subtract a half inch. 512 75*ﬂ¢.0&‘33 81 | (19
Front Block Mounting rf — DA r ‘ O Sr
; [ ' !
Stainless Steel Rod Standard 125 @_@ L LT o - KEB DIa.
Standard Stroke Lengths: 1", 2", 3" 4" IR -+t 4 AN
Maximum Stroke 6" | 62tn 8 NPTF ——
1.25—»| 2 HOLES DRILLED & C'BORED

E
.25 WRENCH FLATS 1/4-2

OR #10-32 CAP SCREW:

S

1/4-20 UNC-2B OPPOSITE SIDE

1600 oo 0 UNC-2B OPPOSITE SIDE
H * To determine lengths for half e 337PLUS281FOR

Mountlng Style BFR inch stroke increments, determine EACH 1.00 OF STROKE®
Single Acting length for next highest whole number $10SB NS 47 PLUS STROKE = 1.41—=
Spring Extend stroke and subtract one inch. 1.25 DIA. BOLT CIRCLE ’ =003 o
Front Block Mounting rfﬁ S ‘ @‘ -
Stainless Steel Rod Standard @Q Aot u 1ol AL 112

.4n n n n 1.25 \ DIA. & ? DIA.
Standard Stroke Lengths: 1", 2", 3, 4 j Nk ot ™
Maximum Stroke 6" 7L7 ‘ - 1/8 NPTF

1.25— ' tmea 2 HOLES DRILLED & C'BORED
25 WRENGH FLATS FOR #10-32 CAP SCREWS.
5/16-24 UNF-2A

55




Series MM Mini Cylinders - Trunnion Mo
1-1/16" Bore Single and Double Acting

unted "
AVENTICS'

H *To determine lengths for half l«———_3.06 PLUS 1.81 FOR_.
g’lountlng Style TRN inch stroke increments, determine ~gg—~ EACH 1.00 OF STROKE
ingle Acting length for next highest whole number 38— 8 NPTF el a4 e 105
¢ . _ . 25—y
Sprlng Return stroke and subtract a half inch. \‘-75* [‘*‘ 0?624 o PILOT\ r 7‘ =
Rear Trunnion Mounting | e N { 17
Stainless Steel Rod Standard 12 312 DIA. o —— - | - 125 2.00
Standard Stroke Lengths: 1", 2", 3", 4" - g SN
MaXImum StI’Oke 6" 5/16-24 UNF-2A 5/8-18 UNF-2A .
25 WRENCH FLATS —
e 269PLUS 1.81 FOR =l s00 0.
EACH 1.00 OF STROKE*
M i S | TRR *To determine lengths for half N Eigﬁ ';,I'()L(J)SoéglrE&?E*‘>
Ountlng ty e inch stroke increments, determine 88 F.’LUS STROKE
Single Acting length for next highest whole number  3g pLUS STROKE le-09
Spring Extend stroke and subtract one inch. | | rg5 624 DIA. PILOT f‘lirl’z |
. . 75> 1/8 NPTF .38
Rear Trunnion Mounting I | 7 T
Stainless Steel Rod Standard 112 o ‘ ‘
12 312 DIA. QO ——o -1 - 125 2.00
Standard Stroke Lengths: 1", 2", 3", 4" T ¢ Ul )
Maximum Stroke 6" 5/16-24 UNF-2A —
a4 P Ao
5/8- 2A 3.40 PLUS 2.81 FOR __ I -500 DIA
EACH 1.00 OF STROKE*
. le————————3.91 PLUS STROKE
Mounting Style TFD R
Double Acting 500 DIA~| |- ooal L2
Front Trunnion Mounting _ [ 312 .75»L‘ Nl
Stainless Steel Rod Standard f <17+ i T
u n woANn Euopn GQ 750 —— Y 112
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6 2001.25 N bLA. T - QO - - -BfDIA.
Maximum Stroke 12" L f A
38 1/8 NPTF
- ‘:1.254‘ <—1.09—>
.25 WRENCH FLATS
5/16-24 UNF-2A
Mounting Style TRD [«—————— 4.16 PLUS STROKE ———
Double Acting 38— |00 38
. . - 624 DIA. PILOT |44 |« 125—w "y
Rear Trunnion Mounting st fq o oe f f‘i,
Stainless Steel Rod Standard T | : v N
andard Stroke Lengths: 1", 2" 3" 1
Standard Stroke L ths: 1%, 2", 3", 4° 112 312LIA ; D - \f}* - 1.252.00
Maximum Stroke 12" DIA. =5 T b ‘ ‘ l
5/16-24 UNF-2A ] —
.25 WRENCH FLATS 741 44 - -
5/8-18 UNF-2A —/ 3.62 PLUS STROKE ——| | |=-500DIA.
: 3,63 PLUS 1.81 FOR
H *To determine lengths for half " EACH1.00OF STROKE* |
Mountlng Style TFN inch stroke increments, determine o 47 |——1 41—
Single Acting length for next highest whole number S00DIA| - ~ b2
Spring Return stroke and subtract a half inch. a1z 7€93ﬁ* - =19
Front Trunnion Mounting r‘ ASNTE " r *‘ | 5 75
Stainless Steel Rod Standard 200 1.25 1 Fin ° - NG
Standard Stroke Lengths: 1", 2", 3, 4" j vt -
Maximum Stroke 6" 38 ] 8 NPTF ——
} 25— {«1.09-~1
12 .25 WRENCH FLATS
5/16-24 UNF-2A
H *To determine lengths for half e 3.37PLUS281FOR
Mountlng Style TFR inch stroke increments, determine EACH 1.00 OF STROKE
Single Acting Ietng;h fordnexLTightest W.hOIﬁ number s00DA] o PLUS STROKE "= = *0931 A
Spring Extend stroke and subtract one inch. ‘
Front Trunnion Mounting r‘ N -SKTJS* 1
Stainless Steel Rod Standard 200125 f@\ 750 L o - sl wre
N N’ I .
Standard Stroke Lengths: 1", 2", 3", 4" L \ Jf v PL{ N |
Maximum Stroke 6" 38 L / J 1/8 NPTF
. 1.09 PLUS
1.25—= STROKE
25 WRENCH FLATS

56

5/16-24 UNF-2A 116




Series MM Mini Cylinders

1-1/4" Bore Single Acting

Q
AVENTICS

H *To determine lengths for half
Mountlng Style N inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Nose Mounting
Standard Stroke Lengths: /2", 1", 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007834 Foot Bracket

7/16-20 UNF-2A.
.38 WRENCH FLATS

2.78 PLUS
1.81 FOR EACH
1.00 OF STROKE*

.88

R

.25 =

=09
[,

|
i
-749 DIA. PILOT
3/4-16 MOUNTING NUT

H *To determine lengths for half
N_Iountln_g Style NR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Nose Mounting
Non-Rotating Hex Rod
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

Optional Accessory:
R432007834 Foot Bracket

7/16-20 UNF-2A

2.78 PLUS
—~— 1.81 FOR EACH
1.00 OF STROKE*

(=88 —=
]
‘«.88-» [‘ T
t ‘
.437 DIA: j\u‘/ ,J|

_’7
\—.749 DIA. PILOT

3/4-16 MOUNTING NUT

.25 -
~—09

7/16 HE

Mounting Style NRP
Single Acting

Spring Return

Double End or Rear Pivot Mounting
Non-Rotating Hex Rod

Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

Optional Accessories:

R432007834 Foot Bracket

R432007809 Rod Clevis
R432007818 Pivot Bracket with Pin

7/16-20 UNF-2

=88

A/
7/16 HEX le— 350 PLUS 1.81 FOR

f—

le09 /—.749 DIA. PILOT—\

*To determine lengths for half inch stroke increments, determine length for next highest
whole number stroke and subtract a half inch.

3.91 PLUS 1.81 FOR
EACH 1.00 OF STROKE*

—_—

1.34 —=

—o—

— 3/4-16 MOUNTING NUT

1/8 NPTF

.

.251 DIA. PIVOT PIN HOLE
3/4-16 MOUNTING NUT

EACH 1.00 OF STROKE*

i * To determine lengths for half
N_Iountlng Style P inch stroke increments, determine fe— E/§'05|9| f%%%}'gTE%RKE,—»
Slngle Actlng length for next highest whole number 88 '
Spring Return . . stroke and subtract a half inch. L0 e 154
Double End or Rear Pivot Mounting 75w 749 DIA. 09>
Standard Stroke Lengths: 1", 2", 3", 4" 257 = | / N
Maximum Stroke 6" 1| ¥ }Z ‘ AP
437 DIA. & — O e

. . } i AT
Optional Accessories: _
R432007834 Foot Bracket 7/16-20 UNF-2A 1/8 NPTF

.38 WRENCH FLATS —~ .78

R432007809 Rod Clevis
R432007818 Pivot Bracket with Pin

3/4-16 MOUNTING NUT

.251 DIA. PIVOT PIN HOLE
3/4-16 MOUNTING NUT

3.91 PLUS 1.81 FOR . \

EACH 1.00 OF STROKE*

i * To determine lengths for half
Mountlng Style R inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch.

Spring Extend

Optional Accessory:

-—

3.60 PLUS 2.81 FOR
EACH 1.00 OF STROKE*

1.34

Front Nose Mounting _75_.?—]1?39PLU§42T§SKPE,LOT
Standard Stroke Lengths: 1", 2", 3", 4" r ‘ ' '

Maximum Stroke 6" L \ ‘

437 DIA. o ‘;\' 3 - ? —T
t
7/16-20 UNF-2A \-1/8 NPTF
.38 WRENCH FLATS “-| .62
1.38

R432007834 Foot Bracket

57

3/4-16 MOUNTING NUT




Series MM Mini Cylinders

1-1/4" Bore Single and Double Acting

Q
AVENTICS

*To determine lengths for half

i inch stroke increments, determine 4,28 PLUS 2.81 FOR

N_Iountln_g Style RP length for next highest whole number EACH 1.00 OF STROKE*

Slngle Actlng stroke and subtract one inch. 361; EIAL(%}S_| 11.81 Al

Spring _Extend . .88 PLUS STROKE R STROKEQO —.

Rear Pivot Mounting 75—+ |25 -" [+=09 749 DIA. 09—+{|~

Standard Stroke Lengths: 1", 2", 3", 4" ‘ i

Maximum Stroke 6" | - t 1 ,L N1
437 DIA: o — © 6

T A

Optional Accessories: 7/16-20 UNF-2A *L.Ez - 1/8 NPTF

R432007834 Foot Bracket -38 WRENCH FLATS 1.38—!

R432007809 Rod Clevis e 391 PLUS 2.81 FOR

R432007818 Pivot Bracket with Pin

EACH 1.00 OF STROKE*

\N
\ .251 DIA. PIVOT PIN HOLE
B —
3/4-16 MOUNTING NUT

Mounting Style D

Double Acting
Front Nose Mounting

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"

Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

(- 88|
25—
“_75* _" '09.749 DIA. PILOT T_\_ 25
et f
.437 DIA. — (\ o — .88
T S A

7/16-20 UNF-2A

.38 WRENCH FLATS/

(«——4.03 PLUS STROKE —|

1/8 NPTF

3/4-16
MOUNTING NUT

~—1.6.

Mounting Style DXP
Double Acting

Double End or Rear Pivot Mounting

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6", I
7"’ 8"’ 10"’ 12" 437 DIA.
Strokes over 12" must be supported at both ends T

Maximum Stroke 32"

Optional Accessories:
R432007834 Foot Bracket
R432007809 Rod Clevis

R432007818 Pivot Bracket with Pin

5.16 PLUS STROKE ———

— |25

‘4—.75—>

A1 e
—»‘k—.os‘a 749 DIA. PILOT 'OQ#T

‘ M

|l

7/16-20 UNF-2A

.38 WRENCH FLATS /<—>L.88
6

/ e—162—

3/4-1
MOUNTING NUT

1/8 NPTF —
— .78

1/
P
[
3/4-16 MOUNTING NUT

re——— 4.75 PLUS STROKE —————

Mounting Style KDX

Double Acting

Double End Mounting
Double Rod

Stainless Steel Rod Standard

Maximum Stroke 12"

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6" 4gﬁ @
1
7/16-20 UNF-2

Optional Accessory:
R432007834 Foot Bracket

.25 —»

fe——5.59 PLUS 2 TIMES STROKE ————|
~-.88—=—— 3.84 PLUS STROKE

r75—>

ﬁ.r__og 749 DIA. PILOT

09—»{« 25—

N

—>‘ .75
1.62—

.38 WRENCH FLATS

3/4-16 MOUNTING NUT

1/8 NPTF 75 L
1.38

(75—

-

{
\7/16-20 UNF-2A

.88 PLUS STROKE

+—1.34 —

.38 WRENCH FLATS

3/4-16 MOUNTING NUT

Mounting Style KDH
Double Acting

Double End Mounting
Double Hollow Rod

Standard Stroke Lengths: 1", 2", 3",

4II, 5II’ 6II
Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

5.59 PLUS 2 TIMES STROKE ———
f«=— 3.84 PLUS STROKE —>

_.‘ le-09,~749 DIA. PILOT

437 DIA. ) -
7/16-20 UNF-2A
.38 WRENCH FLATS »‘_75
1.62—=

3/4-16 MOUNTING NUT

58

FLATS

09 —'r 25 —=| 175
7 AN
1/8 NPTF 2 L 7/16-20 UNF-2A
. 38 WRENCH _ .250 DIA. HOLE

1.38—

.88 PLUS STROKE

1.34 —

A\

—

N\

~

THRU PISTON ROD

3/4-16 MOUNTING NUT




Series MM Mini Cylinders

1-1/2" Bore Single Acting

Q
AVENTICS

Mounting Style N
Single Acting
Spring Return
Front Nose Mounting

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: 12", 1", 2", 3 4"

Maximum Stroke 6"

Optional Accessory:
R432007834 Foot Bracket

7/16-20 UNF-2A.
.38 WRENCH FLATS

2.69 PLUS

1.69 FOR EACH
1.00 OF STROKE*

~—09 -»\ .25

e _

I
-749 DIA. PILOT

3/4-16 MOUNTING NUT

Mounting Style NR
Single Acting

Spring Return

Front Nose Mounting
Non-Rotating Hex Rod

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

Standard Stroke Lengths: /2", 1", 2", 3", 4"

Maximum Stroke 6"
Optional Accessory:
R432007834 Foot Bracket

2.81 PLUS
~— 1.69 FOR EACH

1.00 OF STROKE*

|«—1.00-»
38
09 25
[=-88: W -j
IEXS
Han
749 DIA. PILOT

3/4-16 MOUNTING NUT

Mounting Style NRP

*To determine lengths for half
inch stroke increments, determine

3.87 PLUS 1.69 FOR
EACH 1.00 OF STROKE*

—_—

Single Acting length for next highest whole number —=|.50|= 1.56 ==
$ : 88w| | lleog 749 DIA. PILOT 1.00
Sprlng Return stroke and subtract a half inch. ng* F “"
Rear Pivot Mounting 1| ‘ o [ e —
Non-Rotating Hex Rod AT o] - = o .} BN
. \
Stan_dard Stroke Le"ngths. 1" 2" 3" 4" 7116-20 UNF-2A. " j—sm-wUNF-zA —/ s
Maximum Stroke 6 7116 HEX— [*1:00 50 pLUG S NPTE -~ = 81 -
Optional Accessories: R432007814 Pivot Bracket = EACH 1.00 OF STROKE* "
R432007809 Rod Clevis
H *To determine lengths for half
N_Iountlng Style P inch stroke increments, determine Eigﬁ fb%%k%%ﬁ%ig—» <156
Single Acting length for next highest whole number .88+ 49 DIA. —=1.50/= o
Spring Return stroke and subtract a half inch. rgg “ﬂ Fog 740 DIA- ‘ .
Rear Pivot Mounting 437jm ' o AT deon
Standard Stroke Lengths: /2", 1", 2", 3", 4" T T I
Maximum Stroke 6" 7/16-20 UNF-2A N 4 T5 0N 62 |~
.38 WRENCH FLATS 1/8 NPTF—/ —»| 81 1=
Optional Accessories: R432007814 Pivot Bracket EACH |00 OF STRORE*
R432007809 Rod Clevis
H *To determine lengths for half 3.44 PLUS 3.00 FOR
Mountlng Style R inch stroke increments, determine EACH 1.00 OF STROKE"
Single Acting length for next highest whole number 1,56~

stroke and subtract one inch.

Spring Extend
Front Nose Mounting
Standard Stroke Lengths: 1", 2", 3" 4"

r1 25—
i

.437 DIA.

.88 PLUS STROKE
rzs -»‘ .09 ~749 DIA. PILOT

[
S
-y

T
b

Al

Maximum Stroke 6"

Optional Accessory:
R432007834 Foot Bracket

7/16-20 UNF-2A

.38 WRENCH FLATS
3/4-16 MOUNTING NUT

1/8 NPTF

o |2

Mounting Style RP
Single Acting

Spring Extend

Rear Pivot Mounting

Standard Stroke Lengths: 1", 2", 3", 4"

Maximum Stroke 6"

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

L

.437 DIA.

7/16-20 UNF-2A:

.38 WRENCH FLATS/

~-—1.25—»

-—

4.50 PLUS 3.00 FOR
EACH 1.00 OF STROKE*

—’] .50p=

*—TSB PLUS STROKE
-09 .749 DIA. PILOT
z ‘¢ e —

]
rany
N

;{} ,\:

(D)
VaY
Q
S
w
ey
=z

1/8 NPTF

—

.81

~—1.56
~+1.00

Optional Accessories: R432007814 Pivot Bracket
R432007809 Rod Clevis

59

3/4-16 UNF-2A

«——————— 413PLUS3.00FOR ——»
EACH 1.00 OF STROKE*




Series MM Mini Cylinders

1-1/2" Bore Double Acting

Q
AVENTICS

Mounting Style D

Double Acting

Front Nose Mounting

Standard Stroke Lengths: /2", 1", 2",
3", 4" 5" 6" 8" 10", 12"

Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

.437 DIA.
1'

7/16-20 UNF-2A:

' Fﬂ 09
‘4175*
.38 WRENCH FLATS/ -

-, 88|

f«——3.94 PLUS STROKE ——{

0 240 pia piLor

z
|y

1/8 NPTF

[—1.50—»

3/4-16
MOUNTING NUT

Mounting Style DP

Double Acting

Rear Pivot Mounting

Standard Stroke Lengths: 1", 2", 3"
4", 5" 6" 8", 10", 12"

Maximum Stroke 12"

Optional Accessories: R432007814 Pivot Bracket
R432007809 Rod Clevis

+—————5.00 PLUS STROKE ————*
L 6o 1.56
|50/ 1.00
75+ | -»{l+:09 749 DIA. PILOT :
pimfliy
J— ARG ARG j_
437 DIA: T() — it -O—1-375 PIN
_{ \\ 1% }
62
1/8 NPTFJ—> 81 |-
l—1.50—»

7/16-20 UNF-ZAJ
.38 WRENCH FLATS /l

3/4-16 UNF-2A

[«——— 4.63 PLUS STROKE ————

Mounting Style DX

Double Acting

Double End Mounting

Standard Stroke Lengths: 1", 2", 3",

4" 5" 6" 8", 10" 12"

Strokes over 12" must be supported at both ends

Maximum Stroke 32"
Optional Accessory:
R432007834 Foot Bracket

-

25—

[ 4.75 PLUS STROKE——*{
fSS“‘_ 3.25 PLUS STROKE

r 4—1.56W

75> T 09,745 BA- .09
St ey S
.4371 DIA. l\{ - o
7/16-20 UNF-2A: / \_ —/
.38 WRENCH FLATS 18 NPTF —_,|
fe—1.50—»

3/4-16 MOUNTING NUT —/

“,31 3/4-16 MOUNTING NUT

Mounting Style DXP

Double Acting

Double End Mounting

Strokes over 12" must be supported at both ends
Maximum Stroke 32"

Optional Accessories: R432007834 Foot Bracket
R432007819 Pivot Bracket with Pin
R432007809 Rod Clevis

7/16-20 UNF-2A /
.38 WRENCH FLATS «——Lss
3416 —

|25

50
*‘ ﬁ.o? 749 DIA. PILOT 0 [

=75

5.00 PLUS STROKE —————

F

}
g I

~—1.5

MOUNTING NUT

-+——— 4.63 PLUS STROKE

1/8 NPTF —4
—= .81

A
| .376 DIA

PIVOTPIN _,
MOLE -
-
3/4-16 MOUNTING NUT

Mounting Style KDX

Double Acting

Double End Mounting — Double Rod
Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"
Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

7/16-20 UNF-2A
.38 WRENCH FLATS

3/4-16 MOUNTING NUT —

<+—5.38 PLUS 2 TIMES STROKE ————*

PLUS STROKE

~«-88—{+—— 3.63
25w |
75— T«.oe 749

437 DIA. i<

t

DIA. PILOT — 09 —~| ‘4_ '25W
g _ .f\.T
D) RN
7
_J 6ol T MBNPTF—/__ .62L
f—1 .50 —»| r—1.25

<—1.56W
? ? /16-20 UNF-2A
.38 WRENCH FLATS

.88 PLUS STROKE

<-.75W

3/4-16 MOUNTING NUT

Mounting Style KDH
Double Acting

Double End Mounting
Double Hollow Rod

fe————————5.38 PLUS 2

-88 3.63 PLUS STROKE —

l«—09,~.749 DIA. PILOT

TIMES STROKE ———

.25 —=

(75—

r.88 PLUS STROKE

Standard Stroke Lengths: 1", 2", 3",

4II1 5II, 6II
Maximum Stroke 12"

Optional Accessory:
R432007834 Foot Bracket

.25 —=|
i

09*’4»

(. ‘L A
437 DIA, LD -1
=il 9
7116-20 UNF-2 NS
.38 WRENCH FLATS _.‘_62 l —VBNPTF 62 L
1.50—»] l—1.25—»

3/4-16 MOUNTING NUT

60

RS
NS
7/16-20 UNF-2A
.38 WRENCH _ .250 DIA. HOLE
FLATS THRU PISTON ROD

3/4-16 MOUNTING NUT




Series MM Mini Cylinders - Block Mounted

1-1/2" Bore Single and Double Acting

* To determine lengths for half

Mounting Style BRN

l«——— 3.31 PLUS 2.00 FOR
EACH 1.00 OF STROKE*

Q
AVENTICS

—

S inch stroke increments, determine 88
ingle Acting length for next highest whole number - V4 NPTE 175
: stroke and subtract a half inch. [ 62 [ ’
Sprlng Return ) &1.25» r 749 DIA. PILOK o r ‘7
Rear Block Mounting o N 1
Stainless Steel Rod Standard 156 437 DIA: 6 - - - 175
Standard Stroke Lengths: 1", 2", 3", 4" [ ) \ 4 |
Maximum Stroke 6" 7/116-20 UNF-2A 3/4-16 UNF-2A o
.38 WRENCH FLATS 1/4-20 UNC-2B
2 HOLES ON A
1.75 DIA. BOLT CIRCLE
MOU nting Sty'e BRR *To determine lengths for half E}‘\éﬁ ?b%so%%‘%ggﬁ?—»
) - inch stroke increments, determine 88 PLUS STROKE
Smgle Actmg length for next highest whole number 25 PLUS STROKE ;_09 49 DI PILOT

stroke and subtract one inch.

Spring Extend

Rear Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

1 H T
58 a7 DIA@

7/16 20 UNF-2A

.38 WRENCH FLATS
3/4-16 UNF-2A

/«1 25 »‘

1/4-20 UNC 2B

2 HOLES Ol

1.75 DIA. BOLT CIRCLE

Mounting Style BFD

Double Acting

Front Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3 4", 5", 6"
Maximum Stroke 12"

1/4-20 UNC-2B
2HOLES ON A
1.75 DIA. BOLT CIRCLE

—.

f—71.88——»

125

r1.12

f—
(&)

1)
T\

Ve

S

K

N\
9]
\

7/16-20 UNF-2A

88 =
f—1.53—»

2 HOLES DRILLED & c BORED
FOR 1/4-20 CAP SCREWS.
.38 WRENCH FLATS 5/16-18 UNC-2B OPPOSITE SIDE

Mounting Style BRD

Double Acting

Rear Block Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3 4", 5", 6"
Maximum Stroke 12"

.38 WRENCH FLATS

l¢———— 4.63 PLUS STROKE ——»

88
25w =
09 _ 749DIA PILOT  —.62|= 1.75—=
|+125- 1/4 NPTF — ‘
| =y N
156 437 DIA. -] -
o8 437 DIAY ; & @
/f I

7/16-20 UNF-2A

3/4-16 UNF-2A —/

-1 .47—>‘

1/4-20 UNC-

2 HOLES ON A
1.75 DIA. BOLT CIRCLE

2B/ o

H *To determine lengths for half
N_Iountln_g Style BFN inch stroke increments, determine
Slngle Actlng length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

1/4 20 UNC-2B
(o]

2 HOLES ON A
1.75 DIA. BOLT CIRCLE
>l125 112
— .61|3A7 125+ ‘ s
1 . | B —

] T7 //r‘\ o L{ S 1-26
75 Q—Jy DiA. ﬁt - ¢ - ’-Sf DIA.
| S ©) % |

68 Len] 1/4 NPTF
L1 75 2 HOLES DRILLED & CBORED

—.

[

f—1.88——=

3.94 PLUS 2.00 FOR
EACH 1.00 OF STROKE*

7/16-20 UNF-2A

FOR 1/4-20 CAP

3/8 WRENCH FLATS 5/16-18 UNC-2B gc

WS.
PPOSITE SIDE

H *To determine lengths for half
N_Iountln_g Style BFR inch stroke increments, determine
Slngle Actlng length for next highest whole number

stroke and subtract one inch.

Spring Extend

Front Block Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

61

3.94 PLUS 3.00 FOR ,
EACH 1.00 OF STROKE*
1/4-20 UNC-2B .38 PLUS STROKE 1.88—
2HOLES ON A 5> |
1.75 DIA. BOLT CIRCLE k125
112 I P
471125~ |
| A —
¥ @ f
Sl LAY b RA Tyl - sl oss
W DIA. | & 7 DIA.
¥ & N f |
)
N—— 14 NPTF Q

7/16-20 UNF-2A

.BSt
1.53 —

.38 WRENCH FLATS

2 HOLES DRILLED & C BORED
FOR 1/4-20 CAP SCREWS.
5/16-18 UNC-2B OPPOSITE SIDE




Series MM Mini Cylinders - Trunnion Mounted

1-1/2" Bore Single and Double Acting

Q
AVENTICS

i *To determine lengths for half
N_Iountlng Style TRN inch stroke increments, determine
Slngle Actlng length for next highest whole number

stroke and subtract a half inch.

Spring Return

Rear Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

3.31 PLUS 2.00 FOR EACH 1.00 OF STROKE

.09
25w |+
1/4 NPTF
—=1.25
r.749 DIA. PILOT
f |
437 DIA HiH e
e
1. 56 DIA. J -
7/16-20 UNF-2A.
.38 WRENCH FLATS 1

3/4-16 UNF-2A

2.81 PLUS 2.00 FOR EACH 1.00 OF STROKE

4.13 PLUS 3.00 FOR EACH 1.00 OF STROKE*

H *To determine lengths for half
Mountlng Style TRR inch stroke increments, determine |88 PLUS STROKE
Single Acting length for next highest whole number 25 PLUS STROKE f+—| ' 1500 DIA.
Spring Extend stroke and subtract one inch. 25> ‘« 749 DIA PILOT *‘ ’f
437 - 25 |a—n-| 1/4 NPTF

Rear Trunnion Mounting o Dﬂ \ M/ % lj
Stainless Steel Rod Standard - ' %@ o S I
Standard Stroke Lengths: 1", 2", 3", 4" I 1 ‘ % ) J
Maximum Stroke 6" Ry \‘S/A-WUNF-ZA H— 1

7116-20 UNE-2. 1.25 38

vS; WRE:Z; F:\TS 3.63 PLU‘S 3.00 FOR EACH 1.00 OF STROKE ! 4#»

. 4.44 PLUS STROKE
Mounting Style TFD
. 38—» 188 o —»| |25
Double Acting s000A (- I burt-y
Front Trunnion Mounting j ‘ - 1.25:1» '
Stainless Steel Rod Standard W T P e i ——
Standard Stroke Lengths: 1", 2", 3", 4", 5", 6" abo s (@) L O H 8 136DiA
Maximum Stroke 12" J 2. *7 h A
| T | toopia J
.38 1.75 131 | 1/4NPTF

7/16-20 UNF-2A .38 WRENCH FLATS

Mounting Style TRD

Double Acting

Rear Trunnion Mounting

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3" 4", 5", 6"
Maximum Stroke 12"

4.63 PLUS STROKE

.88

|09

—
|

‘ ’- 500 DIA.

749 DIA. PILOT
( 1/4 NPTF N

1.47 ‘
<—>
4.13 PLUS STROKE

1. 56 DIA

437 DIA/
7/16-20 UNF-2A

.38 WRENCH FLATS

H *To determine lengths for half
N_Iountlng Style TFN inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract a half inch.

Spring Return

Front Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

3.94 PLUS 2.00 FOR EACH 1.00 OF STROKE

38— 1.88 | o5

500 DIA-»] Lile 125

" - 125 +

‘ TIL y 437DIA. [ 1 1 T
i LY : e o
{ 1 r J v

38 | [|J | "0DA J

! 175 ‘M 1/4 NPTF

7/16-20 UNF-2A. .38 WRENCH FLATS

H *To determine lengths for half
N_Iountln_g Style TFR inch stroke increments, determine
Single Acting length for next highest whole number

stroke and subtract one inch.

Spring Extend

Front Trunnion Mounting
Stainless Steel Rod Standard
Standard Stroke Lengths: 1", 2", 3", 4"
Maximum Stroke 6"

62

3.94 PLUS 3.00 FOR EACH 1.00 OF STROKE*

38 PLUS STROKE 188 o 25
-1 ’4».500 DIA. N ‘;‘2534'
25+
minn { h -
4 t —
250 175 <> 437 DIA- q C}:\ : J—j 88 1:16 DIA.
J L g 10t; DIA J -
38 175 ‘ 1/4 NPTF

151 PLUS STROKE
.38 WRENCH FLATS

7/16-20 UNF-2A




Series MM Mini Cylinders

1-3/4" Bore Single Acting

a]

AVENTICS'

Mounting Style N

3.09 PLUS 2.0 FOR
EACH 1.0 OF STROKE

Single Acting
Spring Return
Front Nose Mounting ‘
Standard Stroke Lengths: /2", 1", 112", 2",
2", 3" 4"
Maximum Stroke 6" f

1/2-20 UNF-2A THREADS

500DIA_-

Optional Accessory: 7/16 WRENCH FLATS

R432007835 Foot Bracket

1/4 NPT PORT

Mounting Style NR

3.15 PLUS 2.0 FOR
EACH 1.0 OF STROKE

Single Acting

1.12

Spring Return

.09

Front Nose Mounting

Non-Rotating Hex Rod ’
Standard Stroke Lengths: /2", 1", 12", 2", 27/2", 3", 4" ¢
Maximum Stroke 6"

1/2-20 UNF-2A THREADS

Optional Accessory:
R432007835 Foot Bracket

1.031
DIA. PILOT

1/2 HEX

1-14 MOUNTING NUT

1/4 NPT PORT

Mounting Style NRP

Single Acting

Spring Return

Rear Pivot or Double End Mounting

4.71 PLUS 2.0 FOR
EACH 1.0 OF STROKE

259 PLUS 2.0 FOR
EACH 1.0 OF STROKE

112

.50

Non-Rotating Hex Rod

Standard Stroke Lengths: /2", 1", 12", 2", 27/2", 3", 4"
Maximum Stroke 6"

Optional Accessories:

R432007835 Foot Bracket

R432007810 Rod Clevis

R432007819 Pivot Bracket with Pin

.500 DIA.

1/2 HEX

1/2-20 UNF-2A THREADS /

.09

1.031
75 } DIA. PILOT

e;i ;

1.12

4.21 PLUS 2.0 FOR
EACH 1.0 OF STROKE

1/4 NPT PORT BOTH ENDS

Mounting Style P

Single Acting

Spring Return

Double End or Rear Pivot Mounting

Standard Stroke Lengths: /2", 1", 11", 2", 21/2", 3", 4" |

Maximum Stroke 6" _
1/2-20 UNF-2A THREADS /

Optional Accessories:
R432007835 Foot Bracket
R432007810 Rod Clevis

4.65 P
EACH 1.

e

US 2.0 FOR
OF STROKE

o

2.59 P
EACH 1.

=

US 2.0 FOR
OF STROKE

.50

(=3

09 .09

{F,i,i L

1.031
DIA. PILOT

R432007819 Pivot Bracket with Pin 7/16 WRENCH FLATS

4.15 PLUS 2.0 FOR
EACH 1.0 OF STROKE

1/4 NPT PORT

Mounting Style R

4.15 PLUS 3.0 FOR
EACH 1.0 OF STROKE

Single Acting

Spring Extend

Front Nose Mounting

Standard Stroke Lengths: /2", 1", 11", 2", 21/2", 3", 4"
Maximum Stroke 6"

o]

1/2-20 UNF-2A THREADS

Optional Accessory:

1.06 PLUS
STROKE

1/4 NPT PORT

R432007835 Foot Bracket

7/16 WRENCH FLATS

63

1.031
DIA. PILOT

1/4 NPT PORT

1-14 MOUNTING NUT




Series MM Mini Cylinders

1-3/4" Bore Double Acting

Mounting Style D

Double Acting
Front Nose Mounting

Standard Stroke Lengths: /2", 1", 11/2", 2"

21/2", 3II, 4II’ 5II, 6II
Maximum Stroke 12"

1

1/2-20 UNF-2A THREADS /

i T

.500 DIA.

4.69 PLUS STROKE

1.06

1/4 NPT PORT

Q
AVENTICS

Ontional A 7/16 WRENCH FLATS 75 1.031 DIA. PILOT
ptiona ccessory:
R432007835 Foot Bracket 1.63 1-14 MOUNTING NUT
Mounting Style DXP 6.25 PLUS STROKE
Double Actlng 4.19 PLUS STROKE
1.06
Double End Mounting 50 1.84
Standard Stroke Lengths: 1", 2", 3", 4", 5", 09 o | 62,
6II’ 8II’ 10", 12" S 88 | ‘
Maximum Stroke 32" & T T fzs)
Strokes over 12" must be supported at both ends -500DIA. - @ —————— — /@A (0 W

Optional Accessories:
R432007835 Foot Bracket
R432007810 Rod Clevis
R432007819 Pivot Bracket with Pin

1/2-20 UNF-2A THREADS/

7/16 WRENCH FLATS

1/4 NPT PORTS

1.031 DIA. PILOT
1-14 MOUNTING NUT

5.75 PLUS STROKE

.376 DIA. FOR PIVOT PIN

1-14 MOUNTING NUT

Mounting Style KDX

Double Acting

Double End Mounting
Double Rod

Stainless Steel Rod Standard

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"

Maximum Stroke 12"

Optional Accessory:
R432007835 Foot Bracket

6.56 PLUS 2 TIMES STROKE

4.44 PLUS STROKE

1.06 PLUS STROKE

.500 DIA.

1/2-20 UNF-2A THREADS/

7/16 WRENCH FLATS

.09

A

__1/4 NPT PORT

1/2-20 UNF-2A THREADS
7/16 WRENCH FLATS

Mounting Style KDH
Double Acting

Double End Mounting
Double Hollow Rod

Standard Stroke Lengths: 1", 2", 3", 4", 5", 6"

Maximum Stroke 12"

Optional Accessory:
R432007835 Foot Bracket

.500 DIA.

1/2-20 UNF-2A THREADS /

7/16 WRENCH FLATS

LA

.88
1.031
88 DIA. PILOT |- 1.63 |
-l 88 |\
\1-14 MOUNTING NUT
1.63
6.56 PLUS 2 TIMES STROKE
1.06 PLUS STROKE
4.44 PLUS STROKE
1.06 _ |88
.09 209 |
Bl —— o
AR al
1/4 NPT PORTS
.88
1.031
DIA. PILOT |« 163 |

.88

1.63

|2

64

l=—>\1-14 MOUNTING NUT

X .328 DIA HOLE
THRU PISTON ROD

1/2-20 UNF-2A THREADS

7/16 WRENCH FLATS

1-14 MOUNTING NUT




Series MM Mini Cylinders

2" Bore Single Acting

AVENTICS

Mounting Style N
Single Acting

Spring Return

Front Nose Mounting
Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

*To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

i

625 DIA.
4
1/2-20 UNF-2A

.50 WRENCH FLATS

119+
.38

.88

L

1.00 STROKE 5.66"
e 2.00 STROKE= 7.66"

3.00 OF STROKE 8.91%

4.00 OF STROKE= 11.84*

1 1/4-12 UNF-2A

Mounting Style P
Single Acting
Spring Return

Double End or Rear Pivot Mounting

Maximum Stroke 4"

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract a half inch.

119+
.38

‘ ’4*.88->

1.00
2.00
i 88 OF STROKE 10.28*

STROKE= 7 03*
STROKE= 9.03*

OF STROKE= 13.22*
= 56

12— |

1/4 NPTF, ~

1625 DIA. o I @x
4 UAY
1/2-20 UNF-2A / \_1.374 DA/ 376 DIA.

.50 WRENCH FLATS PILOT 103 PIVOT PIN
Optional Accessories: ! V?Q(%TLIJ-lNI'E:NZSS{HD'
R432007836 Foot Bracket 1.00 STROKE= 6 59*
R432007810 Rod Clevis le—— 2.00 STROKE= —
R432007820 Pivot Bracket with Pin 200 OF 2%8?5 ?28 76"
R432007846 Mounting Nut

H *To determine lengths for half
N_Iountlng Style R inch stroke increments, determine 1.00 STROKE= 7.36*
Single Acting length for next highest whole number e 2.00 (SDFRSQFIE%K}EO 3162* I
Spring Extend stroke and subtract one inch. %00 OF STROKE- 1820 508
. —

Front Nose Mounting
Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

119 PLUS STROKE —

664—
81
12 1/4 NPTF

LI e

.625 DIA

1/2-20 UNF 2A
.50 WRENCH FLATS

1 .374 DIA.
PILOT

1 1/4-12 UNF-2A THD.

Mounting Style RP
Single Acting

Spring Extend

Rear Pivot Mounting
Maximum Stroke 4"

Optional Accessories:
R432007836 Foot Bracket
R432007810 Rod Clevis
R432007820 Pivot Bracket with Pin
R432007846 Mounting Nut

* To determine lengths for half
inch stroke increments, determine
length for next highest whole number
stroke and subtract one inch.

200 STROKE= 11 75+
3.00 OF STROKE= 13.97*
4.00 OF STROKE= 17.97*

119 PLUS STROKE
’4—.88—>
.625 DIA.
t
1/2-20 UNF-2A

.50 WRENCH FLATS /

65

f-———

81 66— 156
12 ||~
‘4._30 -»‘ -12 ,1/4 NPTF -

\

|
| G
? &
AT

1.374 DIA. J
PILOT

1 1/4-12 UNF-2A THD.
0 STROKE= 8.31*
0 STROKE= 11.31*

1.0
2.0
3.00 OF STROKE= 13.53*
4.00 OF STROKE= 17.53*

J




Series MM Mini Cylinders

2" Bore Double Acting

Mounting Style D

Double Acting
Front Nose Mounting
Maximum Stroke 12"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

1/2-20 UNF-2A
.50 WRENCH FLATS

=—— 4.97 PLUS STROKE

Q
AVENTICS

——Tlv.m

—1 .84—{

1/4 NPTF

1.8374 DIA. PILOT
11/4-12 UNF-2A

Mounting Style DXP

Double Acting

Double End or Rear Pivot Mounting

Strokes over 12" must be supported at both ends
Maximum Stroke 32"

Optional Accessories:
R432007836 Foot Bracket
R432007810 Rod Clevis
R432007820 Pivot Bracket with Pin
R432007846 Mounting Nut

.625 DIA:

1/2-20 UNF-2A

.50 WRENCH FLATS

- -38

=

119

1/4 N

fe——6.34 PLUS STROKE ————|

PTF

Y

1a74DA /|
PILOT
1 1/4-12 UNF-2A THD
(BOTH ENDS)

+—5.91 PLUS STROKE——*

Pt

376 DIA.
103 = BYOT PIN
HOLE

Mounting Style KDX

Double Acting

Double End Mounting
Double Rod

Stainless Steel Rod Standard
Maximum Stroke 12"

Optional Accessories:
R432007836 Foot Bracket
R432007846 Mounting Nut

=

‘<—.88—>

puLii:

fe——6.84 PLUS 2 TIMES STROKE ——|

=119

(BOTH ENDS)
1 .84—4

4.47 PLUS STROKE:
=38
12
—>‘ l«—.12 /~ 1/4 NPTF

1.19 PLUS STROKE

s

HIt—— 1O

1374DIA. /
PILOT

1 1/4-12 UNF-2A THD

1.84 PLUS
STROKE ™

%;;}.W

.625 DIA.
\ 1/2-20 UNF-2A
.50 WRENCH FLATS

Notes:

66




Series MM Mini Cylinders

2-1/2" Bore Double Acting HVENTlCSm
Mounting Style D 4,69 PLUS STROKE .
Double Acting 119
Front Nose Mounting ' 262
Maximum Stroke 12" '38.88 |3 ANFIPORL

1/2-20 UNF-2A THREADS

o

Optional Accessories:
R432007837 Foot Bracket

1/2 WRENCH FLATS
1-3/8-12 UNF-2A THREADS

1.84

R432007847 Mounting Nut

\ .31
1.500 DIA.
PILOT

1/4 NPT PORT

Mounting Style DXP le—————6.06 PLUS STROKE ————
Double Acting 119 >
Double End or I'Tliear Pivot Mounting - <38 156
Strokes over 12" must be supported 132 =]
at both ends . 88— _" <«—13 /~ 1/4 NPTF
Maximum Stroke 32" { -

625 DIA. i i ‘U @

* T 1|per

Optional Accessories: 1/2-20 UNF-2A / - 1.500 DIA. J —-1.03
R432007837 Foot Bracket 1/2 WRENCH FLATS PILOT

R432007810 Rod Clevis
R432007820 Pivot Bracket with Pin
R432007847 Mounting Nut

1.84

-1 3/8-12 UNF-2A THD
- (BOTH ENDS)

[e——5.62 PLUS STROKE——

6.5

Mounting Style KDX

6 PLUS 2 TIMES STROKE

Double Acting

4.19 PLUS STROKE

Double End Mounting 1.19
Double Rod 13
Stainless Steel Rod Standard 38

1.19 PLUS STROKE

2.62

Maximum Stroke 18" .88

.625 DIA. — |

.88

; \
1/2-20 UNF-2A THREADS

1/2 WRENCH FLATS
1-3/8-12 UNF-2A MOUNTING THREADS

Optional Accessories:
R432007837 Foot Bracket
R432007847 Mounting Nut

/
[/
1.500 DIA.
PILOT
1/4 NPT PORTS

1.84 PLUS STROKE

1/2-20 UNF-2A THREADS

1/2 WRENCH FLATS

1-3/8-12 UNF-2A
MOUNTING THREADS

67




Series MM Mini Cylinders

Standard Accessories with Dimensions

Q
AVENTICS

Standard Accessories with Dimensions

Part Bore Dimensional Data
Standard Accessories Number lUsedOn| A | B | C D E F | G [H| J KI|LIM N
Piston Rod Clevis ATHD. __ I8 R432007805 516 |#5-40 | 31 | .44 |56 |.38 |.11 |#5-40 | 12| 13| 31| 50| —— | —
Assembly includes 4{
pin and (2) ZEEA-/ N R432007806 | 7/1s, %16 |#10-32| .38 |.75 |94 |.56 |.12 |#10-32| .19| 19| .38 | 56| - | -
Retai Ri
and (1) Jam Not. CD_, R432007807 | %,7/s | /428 | 50 | 94 [1.19| 68| .16| Y428 | 25| 25| 50| 69| — | —
“IFF o [ET K R432007808 116 |5he-24| 50 | .94 [1.19| 68| .19|%-24 | 25| 25| 50 | 69| — | —
Tt l; R432007809 | 121> |7he-20| .75 |1.31 [1.69 | .94| 25|7/120 | 38| .38 | .75 [1.03| — | —
- R432007810 |(1%/4,2,2'% | 220 | .75 [1.31 |1.69 | .94| .31| 220 | .38| .38| .75 [1.03| — | —
GNUT HDIA. PIN R432007811 3 | 5/8-18|1.00| 2.25|2.75| 1.50 .38| 5/8-18| .50| .50 | 1.00/1.38] -- | -
Pivot Brackets R432007812 /16 76 | 56| 75| 50| 12| .06| .19 | 20|.160| 28| 50| .12| —
R432007813 |%4,7/s, 1116 | 1.19 | .88 |1.12 | 75| 19| 12| 27 | .31|.255| 44| 81| 25| -
R432007814 1 | 1.75 [1.38|1.50 |1.00| 25| .12| .27 | .38(.380 | .62 [1.00| .25 | -
Pivot Brackets R432007815 516 53 | 40| 62| 38| 12| .04| .16 | 12| 12| 26| — | .36] .18
A bl
ncluces. (KT TR g R432007816 | 76, %6 | 76 | 56| 75| 50| 12| 06| .19 | .19|.156 | .34 | .91[1.34| 22
f DIA.
P Rattiner h R432007817 [%s,7fs, 16 | 1.18 | .88 [1.12] 75| 19| 12| 27 | .30[.250| .38 [1.25|2.00( .38
Rings. @ \ Gx ii L R432007818 1, | 118 | 88 (112 | 75| 19| 12| 27 | .30(.250| .50 [1.38]2.14| .38
1 T T
T — R432007819 | 12,13 | 1.75 [1.38 [1.50 [1.00| 25| 25| .27 | .37|.375| .62 [2.00|2.88| .44
‘-L'\J M—‘ N |— L — F; EAD»—4<»D<>\
Vas M4>J ~—c R432007820 | 2,2 | 1.75 [1.38 [1.50 [1.00| 25| 25| .27 | .37|.375| .75 [2.12[3.00| .44
5/16" Bore Only R432007821 3 225 |1.75 | 1.75[1.25| 25| 25 .27 | 50| 50 | .88 |2.62|3.88]| .62
Foot Brackets R432007828 516 100 | 37| 25| 13| 37| 31| 25 | 75| 06| 44| 12| — | —
R432007829 516 100 | 37| 25| 13| 37| 31| 38 | 75| 06| 44| 12| — | —
R432007830 16 138 | 62| 31| 19| 50| 31| .38 | 88| 07| 56| 12| — | —
R432007831 | e, %6 | 1.38 | 62| 31| 19| 50| 38| 44 | 94| 09| 56| 12| — | —
R432007832 A 162 | 75| 44| 19| 62| 41| 50 |[1.09] 10| 69| 19| — | —
R432007833 |4, 7Js, 16 | 1.88 |1.00 | 56 | 27| .75| 56| .63 |1.38| 12| 81| 25| — | —
R432007834 | 174,172 | 250 [1.50 | 75| 27| 94| 75| 75 |1.75| 12|1.00| 38| — | —
R432007835 134 3.00 [1.50 | .87 | .35[1.12] 91| 1.08 [2.16] .19[1.25| 50 — | —
R432007836 2 312 |1.62 [1.00| .34 |1.12[1.00] 1.38 |250| 25|1.50 | 62| — | —
R432007837 2", 375 [1.62 [1.00| .35[1.44[1.25] 151 [3.00| 25[1.75| 75| — | —
R432007838 3 437 [162[1.00] 35[1.75[1.25] 164 [3.14] 25[1.89] 89 — | —
Mounting Nut R432007839 5/16 44| 6|28 — | —| —| — | —|—|—|—|—|—
R432007840 | 5/16,7/16 56 | 2 %2u|— | — | —| — | = | =|=|=|—=1|—=
R432007841 | 7/6,%6 | 69 | 25|The20| — | — | —| — | = | == |—=| =] —
R432007842 3, 75| 3tk — [ =] =] = [=]=]=1]=1=1=
RA432007843 [%a, /s, 1| 94 | 38|18 — | — | —| — [—= | =|=1=]—=1—
R432007844 | 11 | 112 | 2316 — |[— | =] — | = === =1—=
R432007845 ¥ | 1560 | 55 |14 |— | — | — | — | — | = | = |[=| =] =
R432007846 2 188 | B0 112 — | — | — | — | — | —=|— | =] =1—=
R432007847 27 206 | 8k12 — | — | —| — | === [=[=1]=
R432007848 3 225 | 8A[k12 — |— | = | — | === =] =1]—=
Series MM Trunnion Brackets
Select brackets for Series MM Trunnion Mount Cylinders from the table below.
(Note: Trunnion Brackets are ordered as a separate item from the cylinder.)
7{? ¢»7 1 f H RAD.
iE « Y JDIA TN
! T ! I~ 7 1 Assembly No.| Bore Sizes | A B C D E F G H J K L M
[ $%es | ! R R432029064 s 1.75 1.3 1.500 1| .25| .25| .27| .38| .375| .69| 1.12| .37
M
I ¥ r b T j R432007849 | "1 12| 1.75( 1.38 150 1| 25| 25| 27| .38| .500| .69| 1.12| .37
K

68




Series MM Mini Cylinders

Standard Options

Q
AVENTICS

Bumpers - Series MM

Bumpers are available at extra cost. Add the following dimensions to the overall cylinder length by bore size.

Bore Size 9/16" 3/4“ 11/15“ 11/4" 11/2" 13/4" 2" 21/2"
Type
Spring Return .062" | 125" | 125" | .125" | .125" * 125" | N/A
Spring Extend .062" | 125" | .125"|.125" | .125" * 125" | N/A
Double Acting 125" | 25" 25" | 25" 25" * 250" | .250"
K-type 125" | 312" | 25" | .25" 25" * 250" | .250"
*Bumpers are furnished as standard and do not affect overall length.
Stainless Steel Piston Rods Rod Wiper

Corrosion resistant stainless steel is the standard piston rod

material for all bore sizes up to and including 1.50 inch bore at

no additional cost. The only exception to the stainless steel
standard is when a hollow rod, KDH, option is specified.

Stainless steel is also the standard material on block, trunnion,

hex/non-rotating and KDX mounts. Stainless steel is available

on other sizes for an additional charge.

MM Series cylinders can be fitted with a rod wiper that

is specially designed to prevent contaminants from clinging
to the piston rod and damaging the piston rod seal. Avail-
able in 3/4", 1-1/16", and 1-1/2" bores, the piston rod wiper
can be added to the MM and M series.

Adjustable Cushion Option

Cushions can be selected on seven bore sizes, ranging from
.75" bore to 2.5" bore with mounting styles D, front nose
mount, and DXP, rear pivot mount. Adjustable cushions are
optional at either end or both ends of MM Series cylinders.

Cushion Adjusting Needle Valves

The fine-thread cushion needle valves make precise adjust-
ment quick and easy. The needle valve is fully captured to
allow for safe cushion adjustment while cylinder is pressur-
ized. The brass needle valves are corrosion resistant. The
standard position for needle valve adjustments is position 1,
90° from the port. See port location table for M Series
Cylinders.

[

Check Seal Cushion

The “Check Seal” system offers excellent cushioning effi-
ciency and long cushion seal life. This seal is specifically
designed for cushion applications and has a long proven
history in our products. Extensive side by side testing of the
check seal in M Series cylinders significantly outlasted and
outperformed competitors’ o-ring shaped seals.

The Check Seal’s unique geometry exhibits the dynamic
sealing capabilities of a lipseal. As the cushion sleeve enters
the Check Seal at the end of stroke, the Check Seal blocks the
air from exhausting directly through the port and forces

69

the air through the adjustable needle valve orifice. The
exhaust airflow is precisely metered to control the desired
rate of deceleration of the cylinder piston.

During stroke reversal, the check valve action of the Check
Seal induces a fast out-of-cushion response.The Check Seal
floats forward in the retainer groove as the cushion sleeve
exits the Cushion Seal, thereby creating a path for maximum
air flow around the Check Seal to access the piston face.
The quick response of the Check Seal design yields faster
cycle times and increased productivity.




Series MM Mini Cylinders

How to Order / Non-Standard Rods

a]

AVENTICS'

How To Order Series MM Air Cylinders

How to Order Code
Mount Non-std. Non-std.
Series Bore Style QOptions Special Rod Rod Dims Stroke
MM -7 N- B S Y 3- 15
. . . Non-std. Non-std.
Series Bore Mount Style| Options Special . Stroke
y P P Rod** | Rod Dims.
. B = Piston S= Special Y = Stainless :-ézgr;t:; (in tenths of an
916 5 Bumpers* P Steel Rod P End inch)
" . N, NR, NRP, P, "
R, RP, D, DP, f
1-1/16" 10 DXP, DX, KDX, Uzz:cr;z i Specify Examples:
_1/4" KDH, BRN, L dimensions per| W
1-1/4 12 BRR.BFD. |W = Rod Wiper modlcatlpns chart below, 0.5"=05
. d ' are required " "o
MM 1-1/2 15 BRD, BFN, (inc. adj Non-Standard 1"=10
" BFR, TFN e Rods." -
1-3/4 17 ’ ' cushions) 1.5"=15
TRN, TFR,
‘4 20 TRR, TFD, 2"=20
2.1/2" 25 TRD (blank if (blank if (blank if (blank if 25"=25
standard) standard) standard) standard) 26"=260
32"=320
Example:

MM-10D-05 is a magnetic piston 1-1/16" bore, nose mount, double acting, 1/2" stroke.
*Bumpers are standard in 1 3/4" bore cylinders.
**Stainless rod standard on all bore sizes up to and inc. 1.5" bore, and all bore sizes of block, trunnion or KDX mounts.

Non-Standard Rods

For non-standard rod dimensions, or
undersized rod end threads, put a “3” in
model number and describe the rod
using the letters shown in drawing.
Specify CC, LE and A dimensions.

Full Diameter Rod
End Threads

CC_\

D WRENCH
FLATS

™A

AM*

Undersized Rod End Threads

CC\

e— 0

D WRENCH

LE

AT C ™

AM*

<—V*

]

9

*

FLATS

*Requires an S designation in model number.

70

=1

a— 0

\
|/

KM*




Flow Control Valve

Inch Series, right angle

{] Right angle flow control valve

Type

Supply Pressure
Cracking Pressure
Temperatures
Media

Materials:

Body

Swivel Housing
Seals

Spring

Needle

Right Angle - for Push-In Fittings or Threaded Inlet
150 PSIG (10 bar)

Check Valve: 7.5 PSIG (0.5 Bar)
15°to 160°F (-9° to 71°C)

Air or inert gas

Nickel Plated Brass
Anodized Aluminum

Buna-N

Stainless Steel

10-32, 1/8", 1/4" Stainless Steel
3/8", 1/2" Nickel Plated Brass

L= Right Angle - Inch Series

Operating Characteristics

Valves Mount Directly on Cylinder
Nickel Plated Brass For Corrosion
Spring Loaded Check Valve
Thread Sealant on Male Threads

360° Swivel Body
Compact Design

Threaded Style

Part Number Part Number
Size Slot Adjust Knob Adjust

10-32 UNF R432027180 --
1/8" NPTF R432027181 R432027185
1/4" NPTF R432027182 R432027186
3/8" NPTF R432027183 R432027187
1/2" NPTF R432027184 R432027188

Push-in Fitting Style

Part Number Part Number
Size Slot Adjust Knob Adjust

10-32 UNF x 5/32" tube R432027189 --
1/8" NPTF x 1/4" tube R432027190 R432027193
1/4" NPTF x 1/4" tube R432027191 R432027194
3/8" NPTF x 3/8" tube R432027192 R432027195

]
AVENTICS

*Push-in fitting not available in 1/2" NPTF size.

Tubing tolerances for push-in fittings are:

+/-0.2mm (0.008") except for 1/4" OD tubing, +0.15/-0.35mm (+0.0059"/0.0137")
Push-in fittings suitable for use with nylon, polyethylene, and soft copper tubing;
not for use with polyurethane or PVC tubing.

Flow Characteristics

Thread Size 10-32 1/8" 1/4" 3/8" 12"
Free Flow SCFM [Cv] 3.4 [.06] 12.8[.34] 19.1[.67] 28.9[1.87] 53.2[2.84]
Throttle Closed L/Min 98 364 542 819 1508
Orifice Diameter INCH 0.06 0.118 0.177 0.276 0.394
Orifice Diameter mm 15 15 4.5 7.0 10.0
Weight lbs 0.022 0.055 0.121 0.209 0.407
Weight kgs 0.01 0.025 0.055 0.095 0.185

71



Flow Control Valve

Inch Series, right angle

Al
L D |
H
B
I
FLOW — -t-- \ H ]
1 J
LA
5 c —— F B S s ]
— D — I
t rB
FREE
FLOW
l D2 [
l N 4--—-‘
METERED __, H:_ E_ «})
\ \J /| C
A FREE
FLOW
[ Dimensions (in./mm)

A B © D E F G H TUBE O.D. J D2
10-32UNF 0.16/4.5 0.57/14.5 0.79/20 0.33/8.5 8 0.35/9 0.12/3 ——- ——-- 1.22/31
10-32UNF*  0.22/55 -—--- 0.79/20 0.37/9.5 8 0.43/11 0.12/3 5/32" 0.97/24.5 1.22/31
1/8" NPTF 0.30/7.5 0.97/24.5 141/35.8 0.81/20.5 13 0.59/15 0.41/10.5 1/4" 1.20/30.5 1.91/48.5
1/4" NPTF 0.37/9.5 1.28/32.5 1.62/41 0.97/24.8 17 0.75/19 0.50/12.7 1/4" 1.36/34.5 2.27/57.5
3/8" NPTF 0.43/11 1.46/37 2.21/56 1.10/28 22 0.87/22 0.55/14 3/8" 1.76/44.6  3.05/77.5
1/2" NPTF 0.55/14 1.81/46  ——- 1.42/36 27 1.10/28 0.71/18 N/A N/A 3.66/93

*Slotted Adjust shown with Push-In Fittings.
Push-in fitting not available in 1/2" NPTF size.

72



NOTICE TO PRODUCT USERS

1. WARNING: FLUID MEDIA

AVENTICS pneumatic devices are designed and tested for use with
filtered, clean, dry, chemical free air at pressures and temperatures
within the specified limits of the device. For use with media other than
air or for human life support systems, AVENTICS must be consulted.
Hydraulic cylinders are designed for operation with filtered, clean,
petroleum based hydraulic fluid; operation using fire-resistant or other
special types of fluids may require special packing and seals. Consult the
factory.

2. WARNING: MATERIAL COMPATIBILITY

Damage to product seals or other parts caused by the use of non-
compatible lubricants, oil additives or synthetic lubricants in the air
system compressor or line lubrication devices voids the AVENTICS
warranty and can result in product failure or other malfunction. See
lubrication recommendations below.

AIR LINE LUBRICANTS! In service higher than 18 cycles per minute or
with continuous flow of air through the device, an air line lubricator

is recommended.* (Do not use line lubrication with vacuum products.)
However, the lubricator must be maintained since the oil will wash

out the grease, and lack of lubrication will greatly shorten the life
expectancy. The oils used in the lubricator must be compatible with

the elastomers in the device. The elastomers are normally BUNA-N,
NEOPRENE, VITON, SILICONE and HYTREL. AVENTICS recommends the
use of only petroleum based oils without synthetic additives, and with an
aniline point between 180° F and 210° F.

COMPRESSOR LUBRICANTS! All compressors (with the exception

of special “oil free" units) pass oil mist or vapor from the internal
crankcase lubricating system through to the compressed air. Since
even small amounts of non-compatible lubricants can cause severe
seal deterioration (which could result in component and system failure)
special care should be taken in selecting compatible compressor
lubricants.

3. WARNING: INSTALLATION AND MOUNTING

The user of these devices must conform to all applicable electrical,
mechanical, piping and other codes in the installation, operation or repair
of these devices.

INSTALLATION ! Do not attempt to install, operate or repair these devices
without proper training in the technique of working on pneumatic or
hydraulic systems and devices, unless under trained supervision.

Compressed air and hydraulic systems contain high levels of stored
energy. Do not attempt to connect, disconnect or repair these products
when a system is under pressure. Always exhaust or drain the pressure
from a system before performing any service work. Failure to do so can
result in serious personal injury.

MOUNTING! Devices should be mounted and positioned in such a manner
that they cannot be accidentally operated.

4. WARNING: APPLICATION AND USE OF PRODUCTS

The possibility does exist for any device or accessory to fail to operate
properly through misuse, wear or malfunction. The user must consider
these possibilities and should provide appropriate safe guards in the
application or system design to prevent personal injury or property
damage in the event of a malfunction.

5. WARNING: CONVERSION, MAINTENANCE AND REPAIR

When a device is disassembled for conversion to a different
configuration, maintenance or repair, the device must be tested for
leakage and proper operation after being reassembled and prior to
installation.

MAINTENANCE AND REPAIR! Maintenance periods should be scheduled
in accordance with frequency of use and working conditions. All
AVENTICS products should provide a minimum of 1,000,000 cycles of
maintenance free service when used and lubricated as recommended.
However, these products should be visually inspected for defects and
given an "in system” operating performance and leakage test once a
year. Where devices require a major repair as a result of the one million
cycles, one year, or routine inspection, the device must be disassembled,
cleaned, inspected, parts replaced as required, rebuilt and tested

for leakage and proper operation prior to installation. See individual
catalogs for specific cycle life estimates.

6. PRODUCT CHANGES

Product changes including specifications, features, designs and
availability are subject to change at any time without notice. For critical
dimensions or specifications, contact factory.

*Many AVENTICS pneumatic valves and cylinders can operate with or
without air line lubrication; see individual sales catalogs for details.

-Refer to the appropriate service manual for parts and service
information, most are available for download from www.aventics.com/us

LIMITATIONS OF WARRANTIES & REMEDIES
AVENTICS warrants its products sold by it to be free from defects in material and workmanship to the following:
For twelve months after shipment AVENTICS will repair or replace (F.0.B. our works), at its option, any equipment which under normal
conditions of use and service proves to be defective in material or workmanship at no charge to the purchaser. No charge will be
made for labor with respect to defects covered by this Warranty, provided that the work is done by AVENTICS or any of its authorized
service facilities. However, this Warranty does not cover expenses incurred in the removal and reinstallation of any product, nor any

downtime incurred, whether or not proved defective.

All repairs and replacement parts provided under this Warranty policy will assume the identity, for warranty purposes, of the part
replaced, and the warranty on such replacement parts will expire when the warranty on the original part would have expired. Claims
must be submitted within thirty days of the failure or be subject to rejection.

IThis Warranty is not transferable beyond the first using purchaser. Specifically, excluded from this Warranty are failures caused by

misuse, neglect, abuse, improper operation or filtration, extreme temperatures, or unauthorized service or parts. This Warranty also
excludes the use of lubricants, fluids or air line additives that are not compatible with seals or diaphragms used in the products. This
Warranty sets out the purchaser's exclusive remedies with respect to products covered by it, whether for negligence or otherwise.
Neither, AVENTICS nor any of its affiliates will be liable for consequential or incidental damages or other losses or expenses incurred
by reason of the use or sale of such products. Our liability (except as to title) arising out of the sale, use or operation of any product
or parts, whether on warranty, contract or negligence (including claims for consequential or incidental damage) shall not in any event
exceed the cost of replacing the defective products and, upon expiration of the warranted period as herein provided, all such liability
is terminated. THIS WARRANTY IS IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, WHETHER FOR MERCHANTABILITY OR
FITNESS FOR A PARTICULAR PURPOSE OR OTHERWISE. No attempt to alter, amend or extend this Warranty shall be effective unless
authorized in writing by an officer of AVENTICS Corporation.

AVENTICS reserves the right to discontinue manufacture of any product, or change product materials, design or specifications without
notice.




AVENTICS Corporation
1953 Mercer Road
Lexington, KY 40514
Tel 859.254.8031

Fax 800.489.1488
www.aventics.com/us
info.us@aventics.com

[=]

A
AVENTICS

[=] 3¢,z [m]

r

AVENTICS Incorporated
5515 North Service Rd
Suite #100

Burlington, Ontario L7L 6A6
Tel 905.332.0399

Fax 905.332.8596
www.aventics.com/ca
info.ca@aventics.com

Further contacts:
www.aventics.com/en/contact

The data specified only serve to
describe the product. No statements
concerning a certain condition or
suitability for a certain application
can be derived from our information.
The information given does not re-
lease the user from the obligation of
own judgment and verification. It
must be remembered that our
products are subject to a natural
process of wear and aging.

SC-200.55/2014-08 Subject to change. Printed in USA. © AVENTICS Corporation
This document, as well as the data, specifications and other information set forth in it, are the exclusive Reerth
property of AVENTICS. It may not be reproduced or given to third parties without its consent. Pneumatics






